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PROBLEM SOL

NG

& IBPS PO/MT/SO EXAMS

~ | @mm BANKS

(1-8) : Study the follow-
l""’d‘;:n carefully and answer

uﬁ(msgwcn below :

" |o|“¢.

etk R left for Jalpur on Monday.
fgwmdayofthcwukmepm'son

. ,d.;aw"’“’"”’“"“’ next day of

oho lefl for Chandigarh and on the
P s day of W. S left for Kolkata on

_ F"'";:” @ did not leave for either
%mmngﬂm and W left for

s Dfonwhichdayofmc week did Q
. leave?
(3 Wednesday (4) Data inad-

equate
(5) None of these
4 Who icft for Bangalore ?
;I mT (2P
@V
{4) Data tnadequate
(5) None of these
| 3. On which day of the week did T
; leave? '
. (iTuesday  (2)}Thursday
i (3Sunday  (4) Wednesday
{5) None of these
4. Which of the following combina-
tions of person-place 1s NOT cor-
rect ?
. {})R—Jaipur {2) P—Chandigarh
(3)T—Hyderabad
(4) V—Bangalore
(5 All are correct
8 Who left on Tuesday ?
e 2w
30 v
(5} None of these
Directions (6-10) : Study the fol-
::"ghmﬂaﬂm carefully and answer
Questions given below :

PO Exam. 09.02.2003)
o0 R\t_;"r,VarldWaret!even

pelhl, Chennal, Hyderabad, Ban-
Kolkata. Chandigarh and
one on a different day of

A B.C,D,E, Fand G are seven
persons who travel to office everyday
by a particular train which stope at five
stations—I, IL, {II, IV and V respectively
afier it leaves base station. Three among
them get In the train at the base sta-
tion. D gets down at the next station at
which F gets down. B does not get down
either with A or E. G alone geta In at
station Iil and gets down with C after
one station. A travels between only two
stations and gets down at station V.
None of them gets in at station IL. C
gets in with F but does not get in with
either B or D. E gets in with two others
and gets down alone after D. B and D
work in the same office and they get
down together at station 11I. None of
them gets down at statfon I.

8. At which station does E get down?
(nn (2 m

3wV {4) Data Inad-
equate
{5) None of these

7. At which station do C and F get in?
(N1
2
(3) 111
(4} Data inadequate
(5) None of these

8. At which of the following stations
doBand Dgetin?

1)1 (2) Base station
(3)m {4) Data inad-
equate

(5) None of these

9. After how many stations does E
get down ?

Bank PO Exam. 09.02.2003)

(1) One (2) Two

(3) Three (4) Four

(5) Five

10. E gets down after how many sta-

tions at which F gets down ?

{1) Next station

(2} Two (3) Three
(4) Four (5) None of these

. the fol-
Directions (11-1%) : Study ihe
en bel
& ow :
the questions giv 10.10.2008)

B, M. T. R, K. H and D arc travel-

different profescion of Engineer. Doc-
tor, Architect, Pi t, Lawyer.
Journalist and They occut

two lower berths, threc middle
% and two upper berths. B, the
Enginecr is not on the upper
The Architect is the onlyol.hcrIzvel'atll‘llwﬂ'l.l
whooccuplesthcsametypcof ot
as that of B. M and H are not on
middle berth and their professions ar;
Pathologist and Lawyer respectively.
is a Pharmacist. D is nefther a Jour-
nalist nor an Architect. K gccuples
same typeofberthasmato(theDoc-
tor.

11. What 1s D’s profession ?

(1) Dector (2) Engineer
(3) Lawyer (4) Pharmacist
(5) Data inadequate
12. Which of the following group oc-
cupies middle berth ?
(1) DKR (2) DH
(3) HKT (4} DK
(5) None of these :

13. Which of the following combina-
tion of person-berth-proft -sion is
correct ? ]

(1) R-Lower-Journalist
(2) R-Lower-Architect
(3) D-Upper-Doctor
(9) K-Upper-Lawyer
{5) All correct
14. Which of the following pairs oc-
cupy the lower berth ?
{1)BD (2) BK
(3) BT
(4) Data inadequate
(5) None of these
18. Who is the Architect ?
{1)D (2JH
B}R
(4) Data inadequate
(5) None of these
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Directions (16-20) : Study the fol-
lowing information carefully to answer
the questions given below ;

{Union Bank of India PO

Exam. 27.11.2008}

Seven friends PF, R, T, @, N and

D are studying different specializations
IT, Civil, HR, Marketing, Finance, Jour-
nalism and Pharmacy not necessarily
in the same order. Each one of them
have liking for a different colour red,

blue, green, yellow, pink, orange and
grey not necessarily in the same or-
der, Three of them are girls.

P likes yellow colour but does not
study IT or HR. The one who studies
Civll, likes grey colour and is agirl. @,
who 1s sister of N, studies Marketing
and likes pink colour. D's spectalistion
{s in pharmacy and likes red colour.
N, the wife of R studies HR and likes

green, F likes grey and R likes orange,
the one who likes blue studies Finance,

16. Who is studying Civil Engineer-
ing?
1)p
2T
3 F
(4) Cannot be determnined
(5) None of these
17. Which of the following is the
group of girls ?
(BF.D.N 2F.Q. N
BIQ.N, P
(4) Cannot be determined
(5) None of these
18. Which subject 15 studied by R ?
(1) Civil (2) Finance
3)J
(4) Cannot be determined
(5) None of these
16. Whois studying Journalism ?
(np 2)Q
3R
(4} Cannot be determined
{5) None of these
20, Which of the followmg combina-
of person - colour and sub-
Ject 1s correct 2

(1) Blue-T-Marieting
{2) Pink-N-HR
(3 Orange-R-Civij
(4) Blue-T-FYnance
{5) None of these
Directions (21-28): 1y €ach of the

fo Ltes
bers g dUestions, two

of num-

estions below t.helmwﬁc pera-

bu;:sq:l'e to be . ﬁ-ou:ﬂdi to
tions of numbers progreas

right. (Union Bank of India PO
Exam. 37.11.2008)

: (1) If an odd number is fol-
mdnu{;migﬂler odd number which
is a perfect square then they are to be

added.

{#}) If an even number is followed
by an odd number or an odd number
is followed by an even number, they

are to be multiplied.
(i) If an even number is followed

by another even number, the first num-
ber is to be divided by the second num-

ber.
{iv} If an even number which is a

multiple of 5 is followed by an odd
number which is also a multiple of 5,
then second member is o be subtract-
ed from the Arst number, ,
21.248 8 25 .
3 x 28
If x is the resultant of the first
row, what is the resultant of the
second row ?
(1) 12 26
(3) 18 4) 16
(5) None of these
22.24 3 18 2
17 81 14 8
What is the product of the re-
sultants of the two mws ?
(1) 108 2 102
(3) 98 ) 128
(5} None of these
23.50 15 8
n 125 2
Ifnis the resultant of the first
row, what is the resultant of the
second row ?
(1) 130 (2) 88
3170 . 4470
(5} None of thege
24.9 121 )10

m 12 g

Hmis the resultant of the first

8econd row 2 tant of the

28. 18 7 G
140 85 49

' What 1s the sum of g,
ants of the two rowg o
(1) 104 2) 55
{3) 121 4 125
(5) None of thesge

28. In a class, two-thirq of the
dents play football, hayy o
remaining play both foothay the
cricket and the remmnga"‘“
only Hl;:

students play Cricket,
many students play bogy foothy
and cricket ?
(1) 30 (2) 10
(3) 40 {4} 20
(5) Cannot be determineq
(Corporation
Directions (27-31) : Styqy the
following information carefully ang an.
swer the questions given belgy
: (Corporation Bank py
Exam, 09.07.3003]
P.Q.R. S, T. V, Wand z 4
eight friends studying in three differ.
ent enginecring colleges - A, B ang ¢
in three disciplines - Mechamca]_
Electrical and Wwith not Jesg
than two and not more than three in
any college. Not more than three of
them study in any of the three dise.
Plines. W studies Electrica) In college
B with only T who studies Mechanj.
cal. P and Z do not study in college ¢

studies. Q does not study Electronics.
27. Which of the following combina-
tions of college-student-

sPedaJimtonisommct?

colleges
two students sty

discipline ? W in Electrical
(D Aonly

(2) Bonly

(3) C only

(4) Cannot be determined

(5) None of these




- does Q) stu
he » "‘"j’,fmﬁm i
N (v Mechanlcal
“;’ glectrical of M::ha:ﬂcal
| wpatal :dme mq“a
Lr“le " ] ::’m of the colleges at least
o b . 90 me,mdcmstudIGSinMechmﬂ-
tbw;f'atf © caldisclpline?
oSty 1A
By, @B
Py g conly
' wBothAandB
) AlA B and C
a5 studies in which college ?
y, @ WA (2)B
.Nj QANB
;% . {4) Data inadequate
,du‘t ' (5) None of these -
. (32-96) : Study the
X information carefully to an-
% gwer these questions : :
’00., (Bank Of Maharashtra PO
n Exam. 28.08.2008)
:Ter‘ Seven candidates— Harish,
9C ook Niesh, Shalaja, Nikita, Laxman
-4l gand Sujata are- to be interviewed for
S _jection as Trainee Officers by differ-
@y pancls 1to VI for different compa-
4  LesABCD E, F and G not neces-
- ggrily in the same order.
¢ Nilesh Is interviewed by panel IV
I or Company A. Samir is Interviewed
- by panel Il but not for company C or
{  p, Harish is interviewed for company
- B but not by panel I or II. Nikita is
interviewed by panel VI for company
P. Panel VII conducts the interview for
; company F. Shatlafa is interviewed by
. panel [ but not for company C. Panel .
" I1does not interview Laxman.

(A 2 G If q is the resultant of the first
BF {4 D row. what is the resultant of the
(5) None of these second row?
33, Panel Il conducts interview for (1) 1331 (2) 132
which company ? (35 4 11
nyc @ F (5) None of these
@G (4 B 38.36 27 7
(5) None of these m 15 124
34. Who among the following is in- If m is the resultant of the first
terviewed for company G ? row, what is the resultant of the
() Nikita  (2) Samir second row?
@) Shalaja  (4) Laxman s s
5
) None of these {5) None of these
- RRRE-603.

82, Shailaja is interviewed for which
company ?

38. Who among the following s in-
terviewed for company F?
{1} Shailaja
{2) Sujata
(3) Laaman
(4) Cannot be determined
(5} None of these
388. Which candidate is interviewed

by panel V ?
(1) Harish (2} Laxman
(3) Sujata  (4) Shailaja

(5) None of these

Directions {(37-41) : In cach of
the following questions, two rows of
numbers are given. The resultant num-
ber {n each row is to be worked out
separately based on the following rules
and the question below the rows of
numbers are to be answered. The op-
eration of numbers progresses from the
left to right.

(Andhra Bank PO Exam. 14.09.2008)

Rules :

) If an odd number is followed
by another composite odd
number, they are to be multi-
plied.

(I) If an even number is followed
by an odd number, they are to
be addled.

(11D If an even number Is followed
by a number which is the per-
fect square, the even number
is to be subtracted from the
perfect square.

(v} If an odd pumber is followed
by a prime odd number, the
first number is to be divided
by the second number.

{V) If an odd number is followed
by an even number, the sec-
ond one is to be subtracted

from the first one.
87.14 11 9
104 q 11

29, 22

27 7

7 o 14

What will be the answer if the
resultant of the second row is di-
vided by the resultant of the first

row?

(17 2) 14

(3 63 @ 48

(5) None of these

40.56 81 5

p 21 88

If p is the resultant of the first
row, what is the resultant of the

second row?

(0 17 2) 19

(3 23 (4 37

(5) None of these
41. 54 27 34

22 49 3

Wwhat will be the answer if the
resultant of second row i{s sub-
tracted from the resultant of first
row ?

(1} 74 (2) 38
(3) 52 (4) 186
(5) None of these '
Directions (42-46} : Study the
following information carefully to an-
swer these questions.

{(Bank Of Baroda Specialist Officer
Exam. 05.10.2008)

A, B.C. D, E, Fand G are mem-
bers of a sports club and have liking
for different games viz. Carrom, Table
Tennis, Badminton, Bridge, Hockey,
Football and Lawn Tennis but not nec-
in the same order. Each one
of them has liking for different mus}-
cal instrument viz. Sitar, Guitar, Har-
monium, Flute, Tabla, Banjo and San-
toor not necessarily in the same order.
B likes Carrom and Banjo. E likes
to play Bridge but not Harmonium or
Tabla. The one who plays Hockey plays
Sitar. F plays Guitar but not Table Ten-
nis or Lawn Tennis. A plays Badmin-
ton and Flute. The one who plays Lawn
Tennis does not play Tabla. C plays
Harmonium and G plays Hockey.
42. Who plays Santoor ?

(1D 2) A

@ E (4 DorE

{5) None of these

43. D plays which game ?

(1) Table Tennis

{2) Lawn Tennis

{3) Football

(4) Cannot be determined

{5) None of these




Delhi B8, WhlchlubjeetdohP
the foll combina- | 80. Who works in ? (1} Uk,
 lonact gumepens combine. | (M H @ M (2) Biology '

strument is definitely correct ? L 4 K 3 cC
{1) Badminton - B - Flute {5) None of thesc » (4) Data
(2} Table Tennis - E - Santoor 81. What is M's mother tongue (8) None of thega
(3) Lawn Tennis - D - Tabla (1) Bangla Directions (97-ay),
{4} Table Tennis - C - Tubla (2) Marath foﬂow:;ggguﬂom M

(9) Telgu swer Y
{5) None of these (4) Cannot be det ined [Illﬂllﬂmmh :l?w‘

48, Whoplml"oolbaﬂ? 5} None of theae P, Qo R, S.Ta.ndMal:?

e @D {nmmm(uz-uhsmdrﬂle dents of & achool, one eqgy, o, WX,

o @ F andan- ( Class I-VI. Each of ther p.. vy
following information carefully hﬂaa&m

(5) None of these ewer the questions given below : rite colour from red, black, blye,

46. Who plays Table Tennis ? (United Bank Of India PO | low, pink and green, no; ¥y,
mce 2 F Exam. 21.00.2000) | in the same order,
RS v s | Gl backand
(4) Cannot be determined students of a college. Each of them has ‘l;‘c,g,swd%';,;,otwm‘”‘%

(5) None of these a favourtte subject from Physics, Chem- in class I Mmf&up%
Direction (47-81) : Study the fol- | !stry. English. Biology, History, Geog- | fes ) fue ang g
raphy and Philosophy, not necessarily not!tudyinde-Themew]nm

lowing information and answer the i the order. Each of them also | yellow studies in class vy, S likey
Questions given below it, Football, | and studiesin class1. R Pizg
has a favourite sport from doeanot.t“d,

{Cavars Bank po Exan. 15.03.2000) Cricket, Hockey, Volleyball, Badmin- | in class VI,

Seven members H, 1, J, K, L, M ton, Table Tennia and Basketball not | 87, In which class does R atugy 5
and N are working in different cittes necessarily in the same order. v (2) m
Ahmedabad, Bangalore, Chennal, Rlikes Philosophy and his favou- (31v
Hyderabad, Kolkcata, Deiht and Mumbai rite sport is Hockey. The one who likes (4) Data inad
not in the same order. Each Football ltkes English. T's favourite (8) None of thege
gne has a different mother tongue sport 18 not Badminton or Table Ten- | g Which colour does R like 7
Thm!l.lhnnada.‘l‘dmfﬂndt”"‘“’* nls, V does not like either History or {1} Black 9
Punjabi and Bangla not necesearily in Biology. The one whose favourite sport (2) Yeliow
the same order. is Basketball does not like Phystcs, W (3) Green (4) Blue
J works in Bangalore and his likes Chemistry and his favourite sport (%) None of these
mother tongue Is not Tamil or Marathy, I8 Volleyball, S likes Geography, 's | 89+ Which colour does Plike ?
K's mother tongue s Punjabi and he favourite sport fs Badminton, V does (1) Green {2) Yellow
works in Ahmedabad. L and M do not not like English and his favourite sport {3) Red
work {n andnone of them has | g not Baaketball P's favourite sport {s (4) Data tnadequate
Marath! mother tongue. I works in ricket, The one whose favourite sport (5) None of thege
Hyderabad and his mother tongye 1 is ton does not ltke Biology. 80. Which of the following combis
Telgu. The one who works tn Delhi has 82. Who ltkes History ? tions {s correct ? '
Bangll mo!hcr tongue. N works in “’ P (2) (1) P- I i YE“ ow
Mumbal and his mother tongue s R y
Hind!. L does not work tn Kolkats, e @v (2) @ - Il - Green
47. What la J's mother tongye ? {5) Data tnadequate 3)S - 1- Black
(MTelgy (2} Hingy - 83. Whose favourite sport 15 Basket- (4) T~ V- Yellgw
(5) None of these (18 @ w O1. In which class does M study ?
4. Who works in Chenpgy 7 Qg ) v 2 m

() H @L (4) Data tnadequae @ n v

(3 M @ LorM (5) None of these {5) None of these

(5) None of these 84. Whlchaubjectdoea‘ruke? th fmnell ﬂom(ﬁz-se)zlneach;’

49, Which of the £ () B (2) Physics ¢ tollowing questions, two rows

ollowing combination 8 C fumbers are given, The resultant

18 correct 7 ) Chemistry number in each be worked
m> . (4) Data each row is to

arathi-l- Hyderabed inadequate out separately based on the following

(2) Tamgi-p. Kolkata (5) None of thege rules and the questions below the rom

(3 M . 83. What is Q's favourite of numbers are to be angwered. The

oport ?
(4} Punfabipeiiun (1) Cricket (3) Table Tennye | SPerations of numbers progress from
(8) None of thesq o) Rootball  {4) By * | o to right.
L 18) Nono of thege e, Dusk Rural Markolt
Offloer Brmam, 09.01.00)

-----



» '%\ _— —| PROBLEM SOLVING |
? . 68.27 12 5
| F":;:noddnumberlsfollowed 28 64 k
! @ another composite odd If the resultant of the first row is

! ::y 2ber, they are to be mut-

-4
£

If an ;wen number {s fol-

y 4 o by an odd number,
Ow.‘""::' :g;edm %o be added.
Oy |f an even number is fol-
W:%! i jowed by a number which is
’-'dje:t“‘ ' a perfect square, the even
”‘"o!ﬁ : aumber Is to be subtracted
'-le' yq‘ ‘ from the pcrfect aquare,

i (v If an odd number is followed

by a prime odd number, the
first number is to be divided
by the second number.

 If an odd number is followed
by an even number, the sec-
ond one is to be subtracted

from the first one.

Now work out the resultant num-

f IJt,_,,fgmachrmlrlnmc:hquee;tlommd

* gnswer the question below the rows

of numbers.

2. 46 196 15
117 13 3
What is the sum of the result-
ant of the two rows ?
(1178 2 172

(3) 168 (4) 188
{5) None of these
8.5 15 40
m 26 3
If the resultant of the first row
is ‘m’, what will be the resultant

{ of the second row ?

t e @6

" (3 27 43

{5) None of these
- 8410 15 5
14 11 p
If°p’ is the resultant of the first
row, what will be the resultant
of the second row ?
(6 2 81
39 4} 24
(5) None of these
@7 15 24
12 27 3
What will be the difference be-
tween the resultants of the first
Tow and the second row ?
) 94 @) 68
% 40 (4) 83
(8) None of these '

4

v £2FF

'K’, what wiil be the resultant of
the second row ?
(1) 42 {2) 33
(3) 108 (4} 92
{5) None of these
Directions (67-71) : Study the
following information carefully and an-
swer the questions given below :
(Bank Of India Banking Officer
Exam. 24.01.2010)
A B CDEFGandH are
eight persons working in three differ-
ent departments viz. Operations, Sales
adn Finance of an organisation with at
least two and not more three in any
department, They are in three differ-
ent scales viz. I, Il and Il with at least
two in any one scale,
Both the emplayees in Operations
departments are in Scale II. D works
In Sales department and belongs to
Scale I. A works in Finance depart-
ments and does not belong to Scale 1.
Two employees in Sales department
belong to one scale. F works with only
H in one of the departments. C works
with E in one of the departments. B
does not work with either C or A in the
same department. G does not belong
to Scale [l]. E does not belong to Scale 1.

67. Which of the following combina-
tions is corréct ?

(1) Operation - F - 1

{2) Operation - H - Il

{3) Sales-B-11

{4) Finance - E - Il

(5) All are correct

68. Which of the following groups of

employees work in sales depart-
ment ?

(1) DBE (2) DBC

(3) DBG

{4) Data inadequate
{5) None of these

68. H belongs to which scale ?

mi

- (3) 11
{4) Data inadequate
(5) None of these

{2 11

70. G belongs to which scale ?

1yu {2) m
31 Wiorll
{8) None of these

L

——{ BI'RE-606 ]

71. C belongs to which scale ?
a1 @2n
(@ m @iorll
{5) None of these

Directions (72-76) ¢ Study the
following information carefully and an-
swer the questions given below :
{Corporation Bank PO
Exam. 00.05.2010)
B.C.D, E, F, G and H are
eight :tudcnts of a schoel. They study
in Standard VI, VII, and VIl with not
more than three in any Standard.- Each
of them has a favourite subject from
Physics, Geography, English, Marathi,
Mathematics, Chemistry, Blology and
Economics but not necessarily in the
same order.

D likes Chemistry and studies in
Standard VIII with only H. B does not
study in Standard VII. E and A study
in the same Standard but not with B,
C and F study in the same Standard
Those who study in Standard VI do

'not like Mathematics or Biology. F likes

Physics. The one who studies in Stan-
dard VIN likes English. C does not
ke Geography. A's favourite subject
is Marathi and G does not like Biology.

" 72. Which subject does H like ?
' (1) English (2} Marathi
" {3) Science
" {4} Datainadequate
(5) None of these )
73. What iz G's favourite subject ?
(1) Blology (2) Physics
(3) Marathi
{4) Datainadequate
{5) None of these
74. What 13 C's favourite subject ?
(1) Economics (2) Biology
{3) English (4) Geography
 (5) Datainadequate
78. Which of the following combina-
' tions of student-Standard. Sub-
Ject is correct ?
(1) C-VII - Economics
(2) D - VI - Chemistry
(3) G ~ VNI - Physics
{4) B - VIII - Mathematics
(5) None is correct
76. Which of the following group of
students study in VI Standard?
(1) EAF (2) EGC
(3) EAG -
{4) Datainadequate

(5) None of these




4 PROBLEMSOLVING }
Directions (83-66) : Study the

Directions (77-81) : Study the .

fdlowmghfa'unumtoumuwgv- followh%lnfmtlmtomwu'uwyv
' uestions : .

on questions enq (Contral of ro

(Countral Dank OFf indis PO

Exu. 28.07.2010)

{a) Six plays are to be organized from
Monday to Sunday -One play
ench day with one day when there

is no play. ‘No play' day Is not

Monday or Sunday. -

®} The plays are held in sets of 3
plays each in auch a way that 3
playn are held without any break
t.e. 3 plays are held in such a
way, that there 1s no ‘No play’ day
between them but immediately
before this set or immediately

after this eet it {a ‘No play’ day.

([ Play Z is held on 26th and play X
was held on 31st of the same

month,

) Play B was not held tmmediately
after play A (but was held after

A, not necessarily immediately)

and play M was held immediate-

ly before Q.

(&) All the stx plays were held in the

same month.

77. Which play was organtzed on
Monday ?

hz
AQ
(4) Cannot be determtned
(3) None of these
78. Which day was play Z organized?
(1) Tueaday
(2} Monday
(3) Wednesday
{4) Cannot be determined
{5) Nonse of these
7. Which date was a ‘No play’ day ?
(1) 26th (2) 28th
(3) 29th
(4) Cannot be determined
{3) None of these
80. Which of the following is true ?
(1) Play B Is held immediately
before play M
(2) Play Z (s held after play B
ISJT!xcrcmagapaﬂchp!aya
&ndl.hcn4physwcreomamzed

(4} First was
thezsuzphy organized on

(&Hayﬂmhddonﬁiday
81. Which day was play Q organtzed?

() Piday  (2) Wedneaday
{3) Sat.

(4) Cannot be determined

2)M

Exam. 38.07.2010)

@ In a famtly of 6 persons, there
are (wo couples,

() The Lawyer Is the head of the

family and has only two sons -—
Mukesh and Rakesh — both
Teachers.

(19 Mre. Reena and her mother-in-
law both are Lawyers.

(v} Mukeah's life ts a Doctor and they
have a son, Ajay.

83, Which of the following is definite-
ly a couple ?
{1) Lawyer- Teacher.

{2) Doctor- Lawyer
(3} Teacher - Teacher
{4) Cannot be determined
(5} Nonme of these

&3 What Is the profession of
Rakesh’s wife ?

{1} Teacher
(3} Lawyer
{(4) Cannot be determined
(5) None of these
84. How many male members are
there in the family ?
(1) Two (2) Three
(3} Four
{4) Cannot be determined
{5) None of these
83. What is/was Ajay’s Grandfather's
occupation ?
(1) Teacher
(2} Lawyer
(3} Doctor
(4) Cannot be determined
(5) None of these
88. What 1s the profession of Ajay ?
(1) Teacher
(2) lawyer
{3) Doctor
{4) Cannot be determined
(5) None of these

(2) Doctor

swer the given questions,

Seven

nlamnamgly, Medicines,

(3) None of these

signing,

and Al |y,
it e o e

Directions (87-83) : Study the
following information carefully and an.

(8yndicats Bank o
Exam. 20.08.2010)
flends A, B, C, D, E, F
and G studied in colleges X, Y and Z
and are currently in different proles-
Fashion de-

by
C s an architegy
collegeY.Ehmuhm:n::.nf“ﬂlqh

G amongst the seven frieng
lnoouqaxdongumhg_l,h“\g:

neer and did not study i oo g
is an actor and dldno;af:;&n

same college as F. A dig n the
college Z. Thoee who ﬂu';z:?“

lege X are neither Fashioy, 4
nor teachers. None of those 3%'«
college Y 18 a teacher, Wiy,

87. Who amongst the follows,
studied in college Z 7 han,

(1) B.A 2cp
3B.D.F 4AD
% DF

88. Which of the foﬂowmgm
mpmuthestudenudﬂ

lege Y ?
MCEG @aAch
(ABC @DB¢
(5} None of these
89. What is the profession of p
(1) Engineering
{2) Businesa (3} Medicines
(4) Acting  (5) None of these
90. Who amon, tthefolhw.s
the professglson of !t*led!t:h'leah's'ml
(D E 2 G
@8 A 4) D
(5) None of these
91. What s the profession of A ?
" {1) Teaching
(2) Medicines
(3) Business
(4) Fashion
(5} None of these
92. Which of the following combins-
tions of person, college and pro-
fession 1s definitely correct ?
(1) E - X - Fashion Designing
{2} F - X - Engineering
(3) A - Y -~ Businessman
4 D-2- Teaching
(5) None of these
83. Who amongst the following 63
teacher ?
A 2D
3 E 4G

Engineering Buainess, Acting,

{5) None of these
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ngy, N -
ol iFthé following games 15

t
1'::?3[%!% pirection® (94-08} : FouT
; Y ﬁmd’%phnmdlﬁe::dmm ence ? sch
'gf‘" P s, The one who ook masd (1) Lamy e Srwretiing
5 Q& ::mmnemokeuljghtyearsmmp]m {(2) Pointer po :i;Wresumg
',;Eee;m ﬁ 11, Rhea took more time mm (5] None ztrbt; ;:crmlncd 109. Which of the following games 13
hlli: ﬁ"‘dmmdmmpmw her PhDin five | 9. Which watch is : scheduled to be held on Sunday?
??-ldyh . year®: Smita dic‘i;m t:ak; longer time ence ? Harsh's prefer- (1) Football (2) Wrestling
ne Deepa tc:uuoﬂ: er PhD. (1) S g Basketball (4) Cyc! .
Ef:::@ : Officer Exam. ﬂ.lo.ao.:’;; (2) Fastrack 104. On
g4 Howmaly years did Amrita take {3} Timex 15 s:ﬂhricul;g;‘;‘:;gl;w;{lg days
'Gh.% tlo, c;mplete her PhD ? 4 Canf'IOt be determined (1) Saturday  (2) Friday
{ s 100. (] Noné of these {3) Wednesday (4) Monday
(l;l ; Who's preference is Swift ? : (8) Cannot be determined
g Either6or7 g: mﬂarah 108. gn which of the following days
(5 Cannot be determined (3) Veena . (I)WMﬂghtllm:g scheduled ?
How marny did Smita take @ ¢ @ wedmday (2} Tuesday
f ooy, to complete her PhD ? (5 annot be determined nesday (4) Friday
a8 @ 3 101 ) None of these _ (5)Sunday
@ 4 @ 7 - Which watch is Veena's prefer 106. Shooting is related to Basketball
[ Cannot e determined () Samay | e e way ee Wresting e
Lo
96. Who amongst the following
? the maximum number of took :g: Fastrack ) g: Sprinting  (2) Football
to complete PhD ? years Titan P Shooting  (4) Weightiifting
(1) Amita (2} Rhea (4) Cannot be determined Boxing
@ Smita (4 Deepa (5) None of these  p Dircotions (107-111) ¢ In cact
9e {5} Cannot be determined Directions (102-108) : St 2 umg:;lm"g questions, two rows of
o phectons(97-10 lnone 102106 Sty the | 2T o o o worked out
? -101).; Study the | Swer the and an- in each row is to be worked
llowing information to answer given questions, separa out
mquestions: the giv- ﬂlnltedm tely based on the following rules
pusk Of India PO Exam " pam. 24112010 and the question below the "ows of
O roomet, cach 91.10.3010) Ina sports event, ot o numbers arc to be answered. he Op:
s cxclostve and 5. cack person has are scheduid tctield on sove e | toright. umbers progress from left
, {pas/likes) for a pen, a mx:memnce mngmMmdaYaﬁdmdMgmsuﬁ (United
{IﬁfRﬂpmfermmsa}e and a | 9ay. Two games are scheduled t Of India PO
Al e i | oSy iy | b
.4 L erenc- .
sare WagonR, Swit, Santro, Mica [ n one game on each of (he remain- () If an 0dd num _—_—
(fty. Watch preferences , an ¢ five days. The games to be held in by ber is followed
| Tan, Fastrack, Samay o Cltizers ;";;e seven days are : Basketball, foot (a :oioﬁﬁmw te odd mumber
. . xin 0 e numbe y
1 does ms umar prefl :1:15 Mica and Parker but | Shooting. Wfi gzmg- swimming, | " are to be multiplied. 1), they
' o Fastrack. The one Wha':ches “Titan | Yling butnot necessarlly inthe 'saanmd gyan even number is followed
| Hes Fastrack. Mrudulawh;; l:;Swiﬂ order. nota;p‘;‘_;.je:tumber. which is
| :dcmuy, Cello and Citizen. Amit has | on mil:ggau;ag;smschd” eduledtobeheld | -« . o b¢ added square. they are
: ar + and b * ) A
% prefers Wagl;f,? aﬁmflgc. Vee- | scheduled tobeheld on thecg;:;ng day. “ Ilfya:f"“ number is followed
preference for a watch i . Harsh's | Wrestling is scheduled tobe h € cay. fi which is the per-
9. Whi snot Titan. | days bef eld three ect square, the even number
ence ? uman's prefer- | are scheduled between wres mlfports . oerfect subtracted from the
. to be h eduled an odd number is ft
| @ Fastrack ¢ held on Wednesd ollowed
(4) day boxing is sched ediately after the first number is to be dh;ide;
& Cannot be determined. scheduled immediat:llyeda;ﬁFOOtban Is by the second number.
i None of thes e . e wrestling is scheduled er the day v} If an odd number is followed
| et not sched - Swimming is by an even number, the sec-
| ~— - uled on Monda » the sec
| y. ond one is to be subtracted
from the first one,
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(After the operation on the first
Mmmmmlmgbm[x

conakicred as the number for apply-
Iyt operation between the second num-

Por axumple
Comaider the following question :
39 o4 7
49 3 ™
i & ta the resultant of the firnt
row, what ks the resultant of the
svcond row?
{1) 383

322

™3

Mmmm‘m
between the first two numbers,
Le. 38 and 64. the resultant ob-
M'ndhkiﬂp.c:o.%hut;beom-
sidered orming the opera-
Uon between 26 and 7 {the num-
ber given in the question). The
answer thus altained here would
be 33. Now 33 18 (0 be cansid-

£2) 44
(43

110. 18 o4 7

49 M z
If 2 ts the resultant of the frst
row. what Is the resultant of the

second Tow. ?
(1) 825 (2} 40
(3 3.67 (4} 70
(5} 85

111. 27 12 3

p 2 5
If p 18 the resultant of the first
row, what is the resultant of the
second row 7
{1) 50
{3) 40
s)8
Directioas (113-116) : Study the
following information to armwer the given
guestions :
("RD Masagemeat Traines
Exam. 38.11.2010)

Stxplays -A.B.C,D.Eand F
are o be staged on abx days of the week
ptarting from Monday and ending on
Saturday. Play C is staged on a Tues-
day. Plays A, F and B are staged one
after the other In the same order. Play
D i» not staged on a Monday or a

@9
(45

M®
lt):&%’

following information
given questiona ; to Uy, o
o Y

Ry,

chctl ft‘ll‘.‘nd,a -T. U v
and Zare studenta of apey - ¥oX
Ing In different standargy ‘"o}
VIIL. Not less than two g - Vi N
than three students study i, Ty y,
dard. Each of them like, 10%‘\
ferent sport In hia Spare fh‘hq
Carom, Badminton, Cheag, S‘:: "
Cards, Table Tennis ang g, b
but not necesaarily in, th, :‘::ﬂh.‘

X does not study i, oy
and likes Table Tennis, 1;:"%:\,_
Itkes Chess studies in seany ¢ ™
U studles in standard yy) Va
V likes Carom and studies i, u:‘lhl
standard as W and T. No one o, -
in standard VI likes B, %
Cards. W doea not like Baakey t
U does not like Cards, q
117. Which sport does ij like 9

(1) Table Tennis (2)

;tdu‘n' m:‘og:auom a‘:e.bu-a . {3) Basketball (4) Cargry
fon between the numbers given | 112. How many plays are staged after (5) Cannot be de
in the accond row. The answer play A Is staged ? 118. Whom“’“ophysﬂ'ibbk?
obtained here aftor all (1) One 2) Two (nw Qu
(‘:Tmldbe thu:mldlxml!un (3} Three (4) Four T 4z
207, 12 21 Gw answer, {5) Cannot be determined {(5) None of these
. 5 §13. Four of the following five form a 119. Which of the f;
" v 88 gwpbaaudmuwdayst!mmcy ’ the studen Ollowing
¥ s the srsultant of the first are staged. Which one of them udents studying tn standyy
row, what is the resultant of the does not belong to that group 7 vin 2
accond row ? (1) BC 2) FD mxy @zt
(1) 125 (2} 25 3 ca @) AF Xz “Wu.y
!lg: 47 {4) 27 (5 BD {5} None of these
pes 114. Which play ks staged immediately | 120. Which of combina
2 the following
103 6 ?2 1S :;l;f;felheday play E i3 staged ? tiona of al:d(:-nt - standand -
x 1! 2) A sport is correct ?
If x 18 the resultant of the firsg & F D ll)W-Wc:l-Scrabbk
row, what 1s the resultant of (he lﬁl‘lhcrelanosuchplayslaged {2) U - VI - Badmi
sccond row ? lm“ﬂﬂynmstagedonab!on- e ton
(1) 33 (2) 45 day. which of the following plays ()T~ V1 - Cards
311 (415 would definitely be staged (4) Z - VIl - Chess
taged on a
(53 ?;rday {all the other conditions {S) None {s correct
™18 37 5 above remain the same) ? { 121, Which sport does Y like ?
2 m g ::g B (2 A (1) Scrabbl (2) Cards
If m o the resultant of the E @WEorB Badmjne Chess
row, what le the resuliant ofﬂl!‘: (3) Cannat be determined o o
sccond row? 118. Which play 14 staged on Thurs. {5) Cannot be determined
m 19 2) 55 day ? Directions (122-126): Sy
{3t 78 97 3] :1 @2 E following tnformation carefully and®
(5) 9 3D @) F swer the given questions.
(8) Cannot be determineq (Bank Of Y
y Eas. 19.13%
—{ BPRE-603 | e
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on Wednesday. Ar In-
dia mgﬂush Alrways does not fly on
way® or Friday. Two afrlines fly be-
wween the days British Airways and

£
iFS,

;ﬂ’

Emirates does not ily on
sunday. Quantas flies a day before

Lulthansa.
122. On which of the following days
does Jet Alrways fly ?
(1) Friday (2) Sunday
(3) Tuesday (4) Thursday
(5) None of these
123, How many flights fly between
Lufthansa and Delta ?
(1) None (2} One
{3) Two (4) Three
{5) Five
124. Which of the following flights flies

on Friday ?
(2} Quantas

(1} Air India
(3) Emirates {4) Lufthansa

(5) Jet Airways

128, If Delta postpones its flight to
Sunday owing to some technical
reasons and all the flights sched-
uled for Thursday to Sunday are
now made to take off a day ahead

of the schedule, which of the fol-
Jowing flights would now fly on

_”t,,
LEEE

tog

=

(1) Lufthansa
{2} Jet Airways
(3) British Airways
@ Airindia () Quantas
128. If Emirates Is related to British
Alrways and Delta is related to
: Quantas in a certain way based
upon the given flight schedule,
then Jet Airways will be related
to which of the following based
upon the same relationship ?
(1) Lufthansa  (2) Quantas
(3) Delta (4) AirIndia
{5) None of these
. Directions (127-131) : Study the
Owing information to answer the giv-
tn questions :

(Otlental Bank Of Commerce PO

|
|
f

Seven animated movies- Up,
Finding Nemo, Ice Age, Aladdin, Shark
Tale, Beauty and the Beast, The In-
credibles, were screened during a chil-
dren's workshop not necessarily in the
same order. The workshop started on
Monday and ended on Sunday. Only
one movie was acreented on each day.

‘Beauty and the Beast’ was

screened on Wednesday. ‘The Inered-
ihles' was screened on the fourth day

after ‘Up’ was screened. ‘Ice Age’ was
screened before Thursday but not on
not screened on Saturday but ‘Shark
Tale' was screened before Saturday.

127. Four of the following five are sim-
flar on the basis of their position
in the above arrangement and
hence form a group. Which of the'
following does not belong to the
group ?

(1} Up — Beauty and the Beast

(2) The Incredibles — Aladdin

{3) Shark Tale — Finding Nemo

{4) Beauty and the Beast —The

. Incerdibles

{5} Finding Nemo — Aladdin
128. On which day was ‘Ice .Age’

screened ?
() Friday (2} Tuesday
(3)Thursday (4) Sunday
(5) None of these
129, Which movie was screened on
Saturday ?
(1) Finding Nemo
(2) Uup
(3) The Incredibles
(4) Aladdin
(5) None of these
130. How many movies were screened
before ‘Shark Tale’ ?
me 24
32 43
(5} None of these
131. Which of the following combina-
tions is false with respect to the
given information ?
(1) ‘Up’ was not screened on Fri-
day
(2) ‘Shark Tale’ was screened Im-
mediately after ‘Beauty and
the Beast'
(3) ‘The Incredibles’
screened on Sunday
(4) ‘Finding Nemo’' was not
screened on Friday

(5) All are false

was

following information to answer the giv-
en questions :

Divections (133-138) : Study the

(ndian Bank PO Exsm. 03.01.2011
(Ist sitting)

Six lectures are ascheduled in a

o

week starting from Monday and end-
ing on Sunday of the same week. Com-
puter Selence is not on Tuesday or
Saturday. Psychology is immediately
after
tics is not on Friday and there is one
day gap between Statistica and Re-
search Methods. One day prior to the

tional Behavipur, Statis-

aschedule of Economics there is no lec-

ture (as that day is the ‘off day and

Monday is not the ‘of day.)

132. Which of the following is the last
lecture scheduled ?

(1) Statistic

{2) Research Methods

(3) Psychology
. (4) Cannot be determined

(5) None of these

133. If Wednesday is the ‘off * day, the
code would be 2 -4, if Thursday
was the 'off* day, the code would
be 3 - 3. Taking into account the
‘off day which of the following

code is correct ?
nz-4 2)3-3
Na-2
(4} Cannot be determined
{5) None of these
134. Which lecture is scheduled on
Friday ?
(1) Economics
{2) Psychology
(3) Computer Science
(4) Cannot be determined
(5) None of these
138. How many lectures were sched-
uled between Economics and
Psychology ?
{1) One
{3} Three
(4) Cannot be determined
" (5) None of these
138, Which day is Computer Science
scheduled ?
{1) Monday
(2) Wednesday
(3) Thursday
(4) Cannot be determined
(5) None of these

(2) Two

Exam. 26.12.2010 (Ist sitting)
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137, Which day is the ‘off " day ?
(1} Tuesday  (2) Wednesday

(9) Priday which

{4) Cannot be determined 140. ‘Tas conference on Banking
5) None of these 2

: held {2) Mumbai

138, If someone wants to attend only
two lectures out of Psychology.
Research Methods and Comput-

er Science but wants the two 141. How many conferences were heid

days to be successive (one after

the other) then which lecture-

combination may be selected ?

{1} Research Methods, Comput-
¢r Science

: ter Sci- |
) yenology. Compute 142. On which of the following days

ence
{3} Psychology, Research Meth-
ods

{4) Any two of the three I8 possi-
ble

{5) With the condition of succes- 143. Which of the following conferenc-

sive day it is not possible
Directions (139143} : Study the
following information carefully and an-
swer the given questions.
{Unjon Bank Of India PO
Exam. 09.01.2001)

Seven conferences on Marketing, f d an-
ollowing information carefully and an:
rinance, HR, Real Estate, Hospitality, swer the questions given below :

Management, and Banking were sched-
uled to be held in Mumbal, Pune, Del-
hi, Hyderabad, Indore, Bhopal and

Chennai, on one day in a week start-
Ing from Monday and ending on Sun- gaig,,r ;atsnf:ﬁna ?;;.itRic_h&vS elﬁ‘:gtfo
three different countries i.e. South Af-
Conference on Hospitality was rica, Australia and France. Each of
held in Hyderabad on Friday. Only one them travelled on different days of the
conference was held between confer- week (no two persons travelled on the
ence on Hospltality and Finance. Con- | gome day), starting on Monday and
ference on Management was held 1m- ending on Sunday. Minimum two peo-
medlately after HR but immediately p[e travelled toeach COImt.l'y and South
before Banking. Conference on Man. Africa is the only country to which three

agement was not held in indore. The people travelled,

day.

conference held on Monday was held

in Delhi. Only one conference was held | Monda tralia
y. Paul travelled to Aus b
&c:zgf:}econfen;]mi‘;s onBankingand | peither on Tuesday nor on Saturda;f
rence held in Mumbai, The Mohit travelled on Sunday but not to
France. The
bal. Conference in Pune was held im- tralia wwegn;nﬁgzsﬁ;e;ﬁg tﬁ? cl::;

conference on HR was not held in Mum-

mediately before conference in indore, who

Conference on Rea) Estate was not held Sa
turday. G
i:::g?galjé Conference in Chennai day. Ricl'ra mﬁﬂﬁ\{gléﬁ&nﬁecinss;
oA eld after conference in Mum- ;t::n Thursday. Nita did not fravel :lo
ce,

139. If Deihj I related to Pu
ne and | 144.
Il’?;anklng Is related ¢ Real Estate
; 511 certain way, then to which
of the following would Indore he
related to, following the same pa-

() Bhopal 21 7
(3) Mumbal (@)

. e of these
{5) Non of the following citles

1) Chennal
:3; Delhi {4} Bhopal

(5) Indore
between conlerences on Market-
ing and Real Estate ?

1) None . (2) One
) ™wo (4} Three

{5) Four

was the conference on HR held ?

() Monday  (2) Tuesday
(3) Wednesday (4} Thursday

(5) Friday

es was held on Monday ?

{1) Banking

{2) Management

(3) HR (4) Marketing
{5) Cannot be determined
Directions (144-148) : Study the

{Union Bank Of Indja PO
Exam. 09.01.2001)

Seven representatives of a com-

Samir travelled to South Africa on

travelled to France travelled on

Ifeveryone's tr is post

one day, who tl:rlll %?t?g\rrl:l?igg
on Wednesday?

(1) Paul (2) Richa
(3) Nita (4) Gifiy
(5) None of these

| 145. Who amh
sentat.ives&::f e 5o, ~

elleq on ™,
{(3) Richa ta ", g
4) Cannot be
(5} None of mm
146. Which one of
binations is (s ""“qu.lg

gven wm&,‘ﬁ,i‘%% 183
(1) Paul-'lhursda},__

(2) Shweta --\J5,re(h.,'e(;‘:js"""lll)151_'@a

(3) Mohit - MOnda}'-.. a"""‘]"’]-a.Iq

{4) Richa - Friday .. 5 "

(5) Noneis trye =~ "Stal,
147. To which coun

day did Nita trah‘g]a;ld on “hig,
(1) Wednesday,

(4) Tuesday, A
(5) None of these

(1} Samir ()]

(3) Mohit “)

(5) None of thege Shiel
Directlon;(MQ-lSa)gstudm

following information carely
swer the given questigng :ullyam%

(Corporatiog

One of the seven sub :
Maths, Zoology, Botany, ém“‘*
Physics, English and Statisticg mi‘;’;
on one day in a week starting [ron
Monday and ending on Sunday, Chen,
istry is taught on Thursday, Englishis
taught the day immediately next (, the
day when Zoology is taught. Englishi
neither taught on Tuesday nor Sayy.
day. Only one lecture ig held betwe
Chemistry and Botany. Two lecturs
are scheduled between Mathsand 7
ology. Statistics is neither taught »
Monday nor Sunday.
149. On which of the following duys
is Physics taught ?
(1) Monday (2) Tuesday
(3) Wednesday (4} Thursday
(9} Friday
* 180. How many subjects are laughl
between Botany and Zoology?
(1) None (2} One
3 Two (4) Three
(5) Four

is taught on Saturday ? s
(1) Botany ~ (2)Statis
(3} Zoology ~ (4) Maths
{5} Physics

e

f ,
—{BPRE-610 )

(2) Friday, Aua&“‘ Ay goll

148. Who was the last gp, WOlryg, DS

151, Which of the following subjec®
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Chemical M is kept in white

!

on
N, ll"qﬁ'" 1ch of the following days A group of scven friends: A, B,
N 83 7 austics taught ? C, D. E, F and G work as Economist, bottle. Chemical L.is not kept in green
T, o (2} Wednesday | Agricuiture Officer, IT Officer, Termb bottle and is kept to the immecdiate left
o v ey (4) Friday nal tor. Clerk, Forex Officer and | of the violet bottle. Chemscal O is kept
{ (<) Th ot be determined Research Analyst, for BanksL, M\ N, | In the blue bottle and is kept exactly
r?-&vl"g (5 cam:! cs 1 related to Zool P, Q. Rand S but not necessarily In | between the bottles contalning chemi-
h‘g;?‘h. 159 i Statis 1s reiated to Bo 0gY | {he same order. C works for Bank N | cals L and M. The red bottle is at the
- thy and Physics way. then to tl:fW and is neither a Analyst nor | extreme left end. The bottles contain-
. th A ina certain gw;'.luld Che:'“ ch | , Clerk. E s an [T Officer and works | ing chemical @ 1s not kept at either of
W ey of ﬂi‘::fed““ (“omfollowing the Sy | o Bank R. A works as Forex Officer | the ends. The green bottle is kept at
3‘4112?%. pered o8 same | " loes not work for Bank 1 or Q. | the extreme right end. Chemical P is
'slral,-;’(h : pattcﬂ‘ms (2) Statistl The one who Is an Agriculture Officer | not kept near the white bottle.
o (1) M @ cs works for Bank M. The one who works | 162, Four of the following five are alike
on,, % ) English for Bank L works as a Terminal Oper- in a certain way based on thelr i
hi, (5) Cannot be determined ator. F works for Bank Q. G works for positions in the above arrange-
iy (154-186) : Study the | Bank Pas a Research Analyst. D I8 ment and so forma group. Which
ca [ollowing information to answer the | notan Agriculture Officer. is the one that does not belong
© gwen questions: 187. Who amongst the following works to the group 7
: fcmm";::m PO as an Agriculture Officer? (1) LM (2) LP |
g T O o) e @B (3)gO @ LQ |
t ﬁew seven, In suchawa; that @F 4D (5)NO |
l"“‘fe » Tr?:oun 3 floor s numbered one, the (5) None of these 163. Which bottle contains chemical
L2 ;lof:r above it, number two and so on 158, What is the profession of C? L?
quch that the topmost floor Is num- (1) Terminal Operator (1) Pink (2) Blue
| pered seven. One out of seven people (2) Agriculture Officer (3) Red
i(::y"* iz AI:I B, CA ﬁw) cl:‘ or; z}nd .-?h 1lt1vea 03 (3) Economist {4) Cannot be determined
an.  each flook ou s {4} Cannot be determined (5) None of these
" w?;gzsﬂ;ﬁ m&*xg&m Fs (5) None of these 164. Which of the following combina-
201];? dﬂf;eventh floor. 189, For which bank does B work? tions of chemical and bottle 1s
vig, ¢ does not live on an odd num- ()M 2s ?
Stry,  pered floor. B does not live on a floor ) L {4) Either Mor S ()P-Red  (2) N - Green
uﬂh] unmediately above or below C's floor. {5) Nonie of these (3) P - Green (4] Q- Pink
'om - pdoes not live on the topmost floor. G 160. What is the profession of the per- {5) None of these
em- does not live on any floor below E's son who works for Bank § ? 165. Which bottle contains chemical
his  fioor: (1} Clerk Q?
:’_’f 184. Who lives on the topmost floor ? .{2) Agriculture Officer {1} Pink (2) Green
s ) s (3) Terminal Operator (3) Violet
. @ac {4) Forex Officer (4} Cannot be determined
5 | E (4) G (5) None of these (5) None of these
N ' (5) Cannot be determined 161. Which of the following combina- | 166 If all the six chemicals are ar-
n | 155 Wholives immediately above D's tions of person, profession and ranged alphabetically from left to
floor ? bank Is correct? right, positions of how many will
S () A @) B (1) A - Forex Officer - M remain unchanged ?
’ @c 4 F (2) D-Clerk- L (1) None (2) One
(5)G (3) F-Agriculture Officer-Q (3) Two {4) Three
| 136, Four of the following five are alike {4) B-Agriculture Officer-S (8) Four
’ in a certain way and so form a (5) None of these 167. Which bottle contains chemical
1 ﬁt;)p.lwmch is the one that does Directions (162-168) : Study the N?
[ ot belong to that group ? following information to answer the | ° (1) Green (2) Red
| MF 2 D given questions: (3) Pink _
] fg} B @ G (UCO Bank PO Exam, 30.01.2011) {4) Cannot be determined
L‘lmc Six chemicals L, M, N, O, P and (8) None of these
| low, ctions (1537-161) : Read the Q are kept in bottles of different colours 168. Which chemical i3 kept in the
l SWers thg passage carefully and an- viz, green, red, blue, white, pink and bottle at the extreme right end ?
f e questions given below it. violet. not necessarily In the same or- IVR Y (2} N
!‘ (Punjab & Sind Bank PO ;:h}r. There bottles are arranged from BL
] Exam. 23.01. eft to right, n no
i 2.01.2011 | left to right, agal t necessarily in (4) Cannot be determined
] (5) None of these
f
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—{ PROBLEM SOLVING |

Directions (168-175) : Study the
following information to answer the
given questions

(UCO Bank PO Exam. 30.01.3011)

Sixplays A, B, C, D, Eand F are
to be staged starting from Monday and
ending on Sunday with one of the days
being an off day, not necessarily in the
same order, Each of the plays has dif-
ferent time duration: % hour, 1 hour,
1% hours, 2 hours, 2 ¥ hours and 3

hours, again not necessarily in the
same order,

Sunday 1s not an off day and a
Play of % hour duration is staged on
that day. Flay A 1s staged immediately
before Play E. There are two plays
staged between Flay F which {s for 3
hours and Play C which is for 1%
hours. The off day is after the staging
of Play E and there are two days be-
tween the off day and Play A. Play D
which is for 2 hours Is not staged on
Monday. The play staged immediately
before the off day is of 3 hours. Play A
is for leas than 2\ hours.
186. What is the time duration of Play

B?
(1) 2% hours (2) 2 hours
{3) 1 hour {4} %% hour

{5] None of theae

170. Which day is the off day?
() Tuesday  (2) Monday
(3} Friday {4) Saturday
(5) Cannot be determined

171. Which of the following combina-
tions of Play - Day - Time Dura-
tion is correct ?

(1) E - Wednesday - 2 hours
(2} A - Tuesday - 1 hour
(3} C - Thursday - 1% hours
(4 F- Tuesday - 3 hours
{5) None is correct
172. On which day is Play D staged?
(1) Wednesday (2) Saturday
(3 Tuesday  (4) Friday
{5) Cannot be determined

173. How many plays are staged be-
fore the off day? e

(1) Two {2) One
{3) Five (4) Three
(5) None of these
Directions (174-178) ; ee
: in
all the other Informatton the saml:: l%
D is staged on Monday, then '

(Bank Of Barods PO

174. A play of what time duration

would be staged on Thursday?
(1) 2 hours (2) 2% hours
(3) 1 hour {4) 3hours

(5) Cannot be determined
175, Which day would be the off day?
(1) Tuesday  (2) Monday
(3) Friday {4) Saturday
(5] Cannot be determined
Directions (176~182) : Study the
following information carefully and an-

swer the given questiona.
(Bank Of Baroda PO

Exam. 13.03.2011}

Seven lectures are scheduled to

be held in a week. There is only one
lecture on each of the seven days of

the week, starting from Monday and
ending on Sunday.

Chemistry is taught either on
Wednesday or on Saturday. Three lec-
tures are scheduled to be held between
Chemistry and English. Two lectures
are scheduled to be held between En-
glish and Computers. Lecture on Phys-
ics is scheduled on the day which is
immediately next to the day when lec-
ture on Bfology {s scheduled, Lecture
on Psychology is acheduled to be held
after Mathematics (not necessarily im-
mediately after Mathematics). Lecture
on Psychology 1s not scheduled for Sat-
urday or Sunday.

176. Which of the following lectures
is scheduled for Thursday?

(1) Mathematics

(2) English (3) Physlcs

(4) Biology  (5) Computers
177. Which of the following combina-
tions of day- lecture is correct?

(1) Saturday — Physics

(2) Monday — Biology
{3) Tuesday — English
{4} Thursday -— English
(5) Sunday — Computers
178. How many lectures are scheduled
between Chemistry and Physics?
(1) None (2) One
{3) Two (4) Three
(5) Five
179, If Chemistry is related
and Psychology 1s relatetg tBolgloog

Puters in a certain way b
ased
upon the given lecture schedule,

then Blology will be relat,
which of the following basedf::;g

the same relationship?
(1) English  (2) Mathematics

Ezam. 13.03.2011)

(3 Phyelcs  (4) Chems
(8) None of these Y

———

180. On which of the fo})
he lecture o :
scheduled? | VCholgy
(1) Friday
{3) Tuesday (4) Thursgy,
(5) None of these
181, Which of the following |
is/are scheduled to ge e;:{:;ﬁ:]
tween the lectures on Chemlshy'
and Physics?
{1} No lecture is scheduleq be.
tween these two lectureg
(2} Only Computers
(3) Computers and Psycholow
(4) Computers and Biology
(5) English and Mathematieg
182, Howmany lectures are scheduleg
to be held between English gy
Mathematics?
(1) None
(3) Two
{5) Five
Directions (183-187) : Study the
following information carefully and an.
swer the questions given below :
(IBP8 Bank PO/MT Cwe
Exam. 18.09.201})
PO R S T, V., Wand Z are
travelling to three destinations Delh,
Chennal and Hyderabad in three di.
ferent vehicles - Honda City, Swift
D'Zire and Ford Ikon. There are three
females among them one in each car.
There are at least two persons in each
car,

{2) One
{4) Three

R is not travelling with Q and W,
T, a male, is travelling with only Zand
they are not travelling to Chennal. Pis
travelling in Honda City to Hyderabad.
S 1s sister of P and travels by Ford
Ikon. V and R travel together, W does
not travel to Chennat,

183. Members in which car are trav-

elling to Chennat ?

(1} Honda City

(2) Swift D’ Zire

{3) Ford Ikon

(4) Either Swift D' Zire or Ford

Ikon

(5) None of these

184. In which car are four members

travelling ?

(1) None (2} Honda City
(3) Swift D'zire (4) Ford Ikon
(5) Honda City or Ford Ikon
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likes sculptng is from the State of Od-

isha. The person who likes dancing is
from the State of Gujarat. F doea not
belong to Gujarat, Odisha, Punjab or
Rajasthan. F does not like singing, read-

ing or painting. B does not belong to
Kerala, Odisha, Punjab or Rajasthan.

B does not like painting, travelling read-
ing or singing. C does not like sculpt-
ing and he is not from Rajasthan or Pun-
Jab. Neither D nor G belongs to Pun-
jab. A does not ilke reading, The per-
son from Kerala likes singing,
1068. Who among the following Ukes
singing ?
maA 2c
@ E 4G
{5) Cannot be determined
187. Which one of the following com-
binations is true according to the
given information ?
(1) A-Travelling - Maharashtra
(2) C - Dancing - Gujarat
(3} E - Reading ~ Karnataka
{4) D - Pottery Making — Rajast-
han .
{5) All are true
168. Who among the following belongs
to the State of Karnataka ?

(1B @D
(3 F 4 E
(5) Cannot be determined
199. Which of the following combina-
tions is true about G ?

(1) Sculpting - Odisha
(2) Pottery making
- Karnataka
(3) Dancing - Gujarat
(4) Singing - Kerala
(9) Travelling - Karnataka
200. The person who belongs to Pun-

jab, likes :

(1) Travelling  (2) Sculpting
(3) Painting .

(4) Pottery making

{5) Reading

Directions (201-206) : Study
the following information carefully and
answer the given questions :

(Corporation Bank 8O (Marketing)
Exam, 22.02.2014)

Eight people - A, B, C, D, E, F,
G and H- are sitting around a circular
table facing towards the centre, but
not necessarily in the same order. All
of them are at equidistant, Each one

following combina- | 191.
Psych qah 25 u“:::h ofthcn” the p gl which of the following cars is
Olog | ? 1) x Y
ongg, V[ ()oS2 @y wsz @z
y pSZ (4) Either XorY
"y ::;] cannot be ic‘?“’m““ed (5) Data inadequate
S logy () Non¢ 192, Passengers in which car are trav-
o 1s travelling with W2 elling to Ch
Dhl:e'l‘;l;‘:.’ 160 [‘:;h onty @ (2) Only P my andigarh ?
[  @pothPand® @ x
Uleg (4 Cannot be determined (3) Either X or Y
t“«rea b, (5} None of these (4) Data inadequate
in wi 0 e Lo/ .
fl 187 Members uoxl:lsc;l:eﬂh f uml‘;n (5) None of these
E’o&, !‘ Hon: dac City? 0 m‘g‘;‘}m(lﬁ&mﬁl : Study the
llowin, ormation carefi -
N | pms OV eeegenede
dian Overseas Bank PO Online
:;;d"‘nd (4) Data inadequate Exam, 01.09.2013)
ang (5) None of these There are six people - P, Q, R,
tlons (188-192) : Study | S, T and U ~ each having different
P information carefully and | weight. Pis heavier than U but light:
the stions given below : th ut lighter
awer the que : an Q. T{s heavier than Rb
én (BP8 t Officer CWE thanP.thghterthanS.R;tnugthttl‘g
dy th, Exam. 11.08.23013} | lightest. The second lightest person
day, ABCDEFG and H are | weighe 52 kilogram while the third
- i ¢ friends tl.ravcjillng in tl:’regdlﬂ;er}; heaviest is of 64 kilogram.
- cars, viz. X, ¥ an wit
!3:" ! ;:n ltcast two in one car to three differ- 198. makfﬁggrgaﬂ;cli:uowm%gmybe
; ar!: ’ ent places, viz. Delhi, Chandigarh and P [2;“3511
e
*lhy J There is at least one female mem- @ T 4R
dif. | Leachca:. D is trav. ling with G & U
Wt | i . ¢ oorY.Alstraveting | 184. How many persons are heavier
T¢ | withonly H i ca. .. DL nO! SO thanR?
g j . C is not travelling with efther D (1} None (2) One
| Grigbiene | o @
. H, s -
v, I ing in the same only boys’ college. (5} More than three
d | 188 Which of the following reore- 198. Which of the following may rep-
s J sents the group of femaies resent the welght of @ ?
L among them? (1) 62 kg {2) 68 kg
1|  mRCA (@FGA (3 60kg (4 58kg
’ (3D,C A (5) 56 kg
{4) Data inadequate Directions (196-200) : Study the
’; (5) None of these followiux;lg inforrt?::lﬂm;i carell')ullly and an-
189, Which of the foll combina- | S%er the questions ven below
ummcom?"“mg (IBPS Bank PO/MT CWE-III,
’ (1) Delhf - X - C 26.10.2018)
(2) Chandi S Seven people - A, B,C, D.E F
| @aga- arh - X-F and G - are having different hobbies,
f. (4) Delh{ - Y: e viz., Travelling, Reading; Dancing,
! 5N Painting, Sculpting, Singing and Pottery
T one of these making, but not necessarily in the same
g tzl'la which car are four of them | order. Each of thembelong to different
velling ? State, viz., Punjab, Odisha, Kerala,
N Xorz @Y Rajasthan, Maharashtra, Gujarat and
B Xory (g2 Karnataka, but not necessarily in the
(% None of thege same order. A belongs to Maharashtra.
D likes pottery making, The person who
‘-._;, P

rl___..-.l_l-..-‘l I_HM
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of them teaches different subfects
viz., English, Hindj, Mathematics, Bi-
ology, Psychology, Physics, Chernis-
try and Accounts, but not necessarily
in the same order,

The person who teaches Ac-
counts, sits third to the right of G. C
Is an immediate neighbour of G. The
person who teaches Mathematics sits
second to the Jeft of C. B sits third to
the right of H. H teaches neither Ag-
counts nor Mathematics, Only two per-
Sons sit between C and tha person who
teaches Physics. A and F are Immedi-
ate neighbours of each other., Neither

Anor Fteaches Accounts, The person
who teaches English sits second to the
right of A. Two persons sit between D
and the person who teaches Hindi. D
does not teach Accounts, The person
who teaches Psychology is an immedi-
ate neighbour of the person who teach-
€s Accounts. The person who teaches
" Physics sits second to the left of A.
One of the immediate neighbours of G
teaches Chemistry.
201. Who among the following teach-
€s Chemistry?
A (2} H
(3 D “a
{8) None of these
202. What is the position of B with
respect to the person who teach-
es Psychology?
(1) Second to the left
(2} Third to the right
(3) Third to the left
{4) Second to the right
{5) None of these
203. Who among the following sits
exactly between the person who
teaches Biology and the person
who teaches Physics?
(1) The person who teaches
Mathematics
2) E
(3) The person who teaches Ac-
counts
(4) Cannot be determined
{5) There is no such person

204. Which of the fo

does E teach?

(1) Chemistry (2) Hindi

{3) Accounts - (4) English

(5] None of thege

205. Which of the following state-

ments is true with regard to the

given sitting arrangement?

(1) The person who teaches Hin-
diisanimmediatenelghbour
of both H and p,

’ {2) Oneofthe timmediate neigh-
bours of F teaches Biology
{3) E is sitting exactly between
B and the person who teach-
es Mathematics
(4} The person who teaches
Chemistry is second to the

right of E

(5) All are true
206. Four of the following five are

alike in a certain way based on

the given sitting arrangement

and hence form a group, Which

is the one that does not belong

to the group?

(1) CF

{3) BD

(5 BA

Directions (207-211) : Study
the following information carefully and
answer the questions given below :

(SIDBI Officer Exam, 03.00.2014)

Abuilding has seven floors num-
bered one to seven in such a way that
the ground floor is numbered one, the
floor above it number two, and so on
such that the topmost floor is num-
bered seven, Among the seven per-
sonsL, M, N, O, P, Q and R, each

@ GA
4} EH

one lives on different floor, O lives on
fifth numbered floor. Three persons
live between the floors of Nand Q. N
lives above the floor of O, p lives on
the floor immediately above the floor
of R. Only one person lives between
the floors of L and P.

207. Who among the following lives

immediately above M's floor ?
(I} L @ Q

3 O @ N

(5 R

208. Who among the following lives
exactly between the floors of 8]

andgQ?

(1) R @ L
3 N 4) M
{5 p

lloing subjects | 209. Who among the followmg_ lives

on the topmost flogr 2

() N @2} M
3 L 4 g
B3 R

210. Who among the following lives
on t}}e fourth numbered floor? -

1) M g
@ L 4 R
6) P

211. Four of the following fy,
alike in a certain way apg hene,
form a group. Which one of the
following does not belong tq thy
Eroup ?
() N @ o
@ Q9 @ R
S P
Directions (212-216) ; Sllmy
the following information carefully gng
answer the questions given below .
{IBPS Bank po,),,
CWE-1v, la.lo.zou,
There are seven friends — J,
L, M, N, O and P. Each one of them
has different profession viz., Accouyy.
tant, Actor, Athlete, Choreographe,..
Doctor, Engineer and Lawyer, by fol
necessarily in the same order. They
were bom in the years 1983, 1984,
1986, 1987, 1990, 1992 and 1994,
but not necessarily in the same or.
der. The Lawyer was born in 1985
while the Athlete was born in 1984.
is a doctor and he was not born in the
year 1983. P was born in the year
1992. P is neither Choreographer nor
Actor. N was not born in theyear 1994,
N is not an Athlete. L was born in the
year 1990, Lis neither Accountant noy

iy

not a Choreographer.

212. In which year O was born ?
(1) 1983 (2) 1984

{3) 1990 @) 1987

(5] None of these

year 1962
year 1983
Yyear 1987

the year 1990
{5) All are true

Choreographer ?

(1) J 2} K

@ M (4 N

(5) Cannot be determined

Choreographer. Doctor was not born
in the year 1994. J is an Engineer, |
was not born in the year 1994, 0§

g6

213. Which of the following ,
statements is NOT true on the
basis of information given above?

(1) Accountant was born in the
(2) Engineer was born in the
{3) Doctor war was born in the

(4} Choreographer was born in

214. Who among the following is a

f BPRE-Glén__ ——
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ol L- horeographer — 1990
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belqwa‘nﬂ ’15- cldes( 7 t‘
Lllt O/ o ol her
00 | ) ChoreodraP
S~ | Dt
scoren | er
rap ,féc “ions (217-221) : Study the
e | oo oty andan
I T ! o quesUOIlS given below :
. 198? sw::; paroda Junior Management
o, ple-S, T, U, V. W, X,
€ or. on separate floors of an
1 dz.-lilfe P
V28 | 18 uding. Ground floor is num
84,k | 87 et floor is numbered 2 and
2 the bc;fu;ltﬂ the topmost floor is num-
 Year | 905
T hor w:rdmes on floor numbered 1. Only
1994 ' W0 Pcople live between Y and T.
" the § lives immediately above X. S
tngr | * jives on an even numbered floor.
born Only one person lives between X
ety | ' 4 W. X lives above W.
Ot s Zlivesonan odd-numbered floor
above S.
o V does not live on the topmost
floor.

717, Which of the following is true
with respect to the given infor-
mation ?

n
hf I} Only one person lives be-
) tween T and X.
e (2) Only two people live between
Tand U.
R (3) W lives immediately above Y.
{4) Zlives on floor numbered 7.
, { (5] Ulives on an odd-numbered
' floor. ‘
i 818, Who amongst the following lives
| betweenUand S ?
| w2y
T
I &N 4 W
oone
| 19, Who
' among the following live on
! foor number 5 2
{[:33 @ X

\.__

Ib the following

of

{ PROBLEM SOLVING |

220. Who lives on the floor immedi-
ately below T ?
(s
(2) Other than those given as
options
@Y
4 2 {5} W
221. How many people live between
the floors on which Z and T live?
(1) More than three
{2) Three
(3 Noone
5} Two
Directions (222 - 224) : Study
the following information carefully and
answer the given questions :
(United Bank Of India PO
Exzam. 14.11.2010)
In a seven storey building, hav-
ing floors numbered one to seven, P,
0. R, S, T and V each live on a differ-
ent floor. (The ground floor is numbered
floor no.1, the floor above it floor no. 2
and so on.) One of the floors in the
building is vacant. P lives on the fifth
floor. No floor below fifth floor is va-
cant; also no odd numbered floor is
vacant. Only 8 lives between T and V.
T does not live on an odd numbered
floor. T does not live on & floor imme-
diately above or immediately below R's ’
floor. Q does not live on the bottom-
most floor.

222. Who lives on the topmost floor ?

{4) One

me 21s
3R Qv
{5) No one as it is vacant.
223. On which of the following floors
does R live ?
(1) Seventh  (2) Sixth
(3) Third (4) Second
(5) First
224, Which of the following floors is
vacant ?
(1) Seventh  (2) Sixth
{3) Third (4) Second
(5) Fourth
Directions (225-226) : Read the
following information carefully and an-
swer the questions which follow :
(IBPS Bank PO/MT CWE

Exam. 18.09.2011)
A, B, C, D, E and F live on dif-

A lives on an even numbered

floor. There are two floors between the
floors on which D and F live.
on a floor above D's floor. D does not
live on floor number 2. B does no

on an odd numbered floor. € does not
live on any of the floors below s floor.
E does not live on a floor ymmediately
above or immediately be
on which B lives.

228, Who amongst the follawing, live

F lves

t live

low the foor

on the floors exactly between D

and F?
() E.B 2C.B
ME,C 4 A E
(5) B, A
226. On which of the following floors
does Blive 7
(1) 6th (2) 4th
(3)2nd {4) 5th
{38) Cannct be determined

Directions (227-232) : Study the
following information carefully and
answer the questions given bhelow :

(IBPFS RRBs Officer Scale-1 & 11

-  CWE 12.09.2018)

Eight persons — K, L, M, N, O, P
Q and R— live on eight different floors
of a building but not necessarily in the
same order. The lower most floor of
the building in numbered one, the one
above that is numbered two and so on
till the topmost floor is numbered eight.
Each of them also likes a different su-
perhero namely, Batman, Superman.
Captain America, Thor, Hulk, Wolver-
ine, Nova and Ironman, but not neces-
sarily in the same order.

ferent floors in the same bullding hav-
ing six floors numbered one to six (the
und floor is numbered 1, the floor
above it , number 2 and soon and the

topmost floor is numbered 6).

© The one who likes Thor lives on

an even numbered floor. Only
three persons live between the one
who likes Thor and M.

O Only two persons live between M

and N. N does not live on the
lowermost floor. Only three
persons live between N and the
one who likes Hulk.

© O lives immediately above K. O
lives on an even numbered floor.
K does not like Hulk. K lives
neither on floor numbered three
nor five.

© Only two persons live between K
and the one who likes Nova.

O Only one person lives between the
one who likes Nova and lIronman.
The one who like Ironman lives
below the one who likes Nova.

1
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© Llives immediately above Q. Only
one person lives between Q0 and
the one who likes Captain

America.

© The one who likes Wolverine lives
fmmediately above the one who

likes Batman.

© P does not like Thor, K does not

like Superman.

227. Which of the following pairs rep-
resent those who lives immedi-

{ PROBLEM SOLVING |

Directions (233-2385) : Study the
following information carefully and an-
swer the questions given below :

{IBPS Bank PO/MT CWE-V
{Preliminary) 03.10.2018)

Each of the slxbuﬂdlngs P, QI R,

S, T and U houses different number
of offices. S has more offices than only
T and R. @ has more number of offic-
es than P but less than U. R does not
house the least number of offices. The

ately above and immediately be- | building which houses the least num-
low N? ber of offices has 5 offices. The build-
& o v as | of e s 33 llces. S nae 11 Tes
ces. ess
@ fpﬁ’gmmm those 38 | number of offices than Q.
3 LM @K Q 233. Which of the following buildings
5 RQ hasthesecond_leastnumbcrof
228. Four of the following five are alike offices ?
in a certaln way as per the given n g U
arrangement and so form a group. @ R @ P
Which of the following does not 6 T
belong to that group? 234. The number of offices in P is an

(1) K-Floor numbered Five
{2) Q -Floor numbered Six
- {31 L - Floor numbered Two
(4) N - Floor numbered Seven
(5) R - Floor numbered Eight
229. Which of the following superhe-
roes does R like?

(1) Other than those given as
options
(2) Superman
3] Nova
{4) Thor
{5) Batman
230. Which of the following superhe-
roes does P like?
{1) Ironman
(2) Wolverine
{3) Batman
(4) Captain America
(5) Other than those given as
options .
1. N lives on which of the following
floor numbers?
(1) Five (2) Three
(3) Seven {4) One
(5) Other than those given as
232,
As per the given arrangment, P
isrelated to Nov and N o refated
to Wolverine in a certain way. To
which of the following is M
related to in the same way?

(1) Superman (2) Batman
(3) Captain America

even number which is divisible
by 2 as well as 3. How many
offices does P have ?
1 20 (2) 24
(3 16 4} 18
5 12
235. Which of the following is the num-
ber of offices in the building R ?
(1) 25 @ 12
3 13 1) 14
B 11
Directions (236-238) : Study the
following information carefully and an-
swer the questions given below :
{IBPS Bank PO/MT CWE-V
(Preliminary) 04.10.2015)
Each of the six buildings —E, F,
G, H, I and J — has different number
of floors. Only three buildings have
more number of floors than J. G has
more number of floors than I but less
than E. I has more number of floors
than J. F does not have the least num-
ber of floors. The building having least
number of floors has 5 floors. The
building having third highest number
of floors has 26 floors. F has 14 floors
less than the number of floors in 1.
238, If the number of floors tn build-
ing G is less than 38 and is an
odd number which is divisible by

3but not 7, how many floors does
G have ?

(4} Thor (5) Hulk

{1) 15 (2) 35
39 4) 27
(6} 29

F

237. Which of the following building,

-. Ja“eg‘rp

A

has the sccond highesi numbe,
of floors ? '
@F

1

3y J @ H )
G G \
238. How many floors does building

possibly have ?
25

(1 22
3 11 4 35
5) 12
Directions (239-241) : Study the
following information carefully and ap.
swer the questions given below :
(IBPS Bank PO/MT CWE-y
{Preliminary.) 04.10.2018)
Each of the six buses-R, S, T, U,
V and W- has different number of oc-
cupants. T has more nurhber of occu-
pants than Rand Sbutlessthan Vv, y
has less number of occupants than only
W. 5 does not have the lowest number
of occupants. The bus having second
lowest number of occupants has 29
occupants and the bus having second
highest number of occupants has 64
occupants. T has 21 less number of
occupantis than U.
239. Which of the following buses has
third lowest number of occu-

pants?
s
B R
B) v
240. If the number of occupants of
bus R is more than 7 and is an
odd number which is divisible
by 3 but not 5, how many occu-

pants are there in bus R?
me 2) 21
3 15 ) 27
5 19
241. How many occupants does bus
V possibly have?

(1) 43 (2) 72
(3} 52 4) 36
(5) 68
Directions (242-246) : Study the
following information carefully and an-

swer the questions given below :
(!BPS Bank PO/MT CWE-V

{Preliminary.) 04.10.20185)

Seven persons namely, M, N, O,
P, Q. Rand S have an anniversary but
not necessarily in the same order, in
seven different months (of the same
year} namely February, March, April,

2T
@u

e % ERRERRESLEAYS

Y

—_— i =

T

-



S by, ober and Novem- | 246, How many persons have an anni-
St q::d‘n& - sep:embermo;::,o likes a differ- versary between the months in
My Jach of U nee, Jasmine, Lily. which Q and M have an anniver-
:’n‘, {Io\"’;’gaﬂ‘odll Sunﬂol‘:'l':h‘:‘:a?t:' . sary?
g;;‘ﬂt not necessartly (1) None (2) One
, . in the month {3) Three (4) Two
""d:qm ’ “«;w;no ma}m. Only one (5} More than three
picn WS between R Directions (247-246) : Study the
iﬂwﬁmnkcsm-mmsm following information carefully and an-
; h::aﬂ an mmol?lko;c of th; swer the questions given below : v
dy ,?.mlh’ m tmmediately before wmo.aom
:‘:‘d% msﬂ"one who likes Lily has an anni- Ist Bitting)
P om‘nwnmmmnmﬁswﬂ@m Stx sales persons - U, V, W. X,
,_ca?.. ;oﬂ"d“g o, Only mwho Y, and Z - sell insurance policies. Each
1 ll? paon ke likes | of them sold different number of poli-
» . w -
ol | and the :ul-: i mmmd“d obe“l-". :lne;.;baold more policies than both Y
person raary ut less than X
Oty [ o smmcmewhoﬂkesMaﬂ- Zsold W
vy, | e immediately sold more policies than only W.
n I Phasmwho tikes old. Only X did not sell the highest number of
Mb | sfier the one ve an Marig be- polictes. The third highest number of
cong ha anniversary policies sold 1s equal to 33, The least

cly before the one who likes
_OmnotnkeSunﬂower.

243 Which of the following represents
uwmmthmwhlchShasanan—

niversary?
(1) Cannot be determined
{2) October
{3 March
(4) Apell

_ (5) September
3. Which of the following does O

{2) Jasmine
(4) Daffodil

(1) Rose
(3) Marigold
{5} Orchid
244, Asper the given arrangement, Lily
{  isrelated to April and Marigold is
related (o September following a
certain pattern, with which of the
following is Orchid related to fol-
lowing the same pattern?
() February  (2) June
(3) October  (4) March

llowing represents
_;l the persons who have an anni-

versary In April and November
fespectively?
(UN, 0
81g.0
BN, s

2 Q.M
N M

(’ ::m’ pand @ M has an anniversary
{
f

number of policies sold Is equal to 11.
Y sold 13 more policies than that of W.

247. Who among the following did sell

exactly 33 policles ?
mx Y
@z @u

(5} Cannot be determined

248. Which of the following may rep-
resent the number of policies
sold by Z ?

(1) 26
3 9
(5) 28
249. Who among the (ollowing did sell
less policies than only V ?

(v @Y

3 X 42

{5) Cannot be determined

Directions (250-252) : Study the
following information carefully and an-
swer the questions given below :
(IBPS Bank PO/MT CWE-V
[Prell:_nlmuy} 10.10.2018)
Each of the six persons P, Q, R,
S. T and U has lived in India for a dif-
ferent number of days. S has stayed
for more number of days than R but
less than T. P has stayed for more
number of days than only U. Thas not
stayed for the most number of days.
The one stayed for the second least
number of days stayed for 14 days in
Indfa. The one who stayed for second
highest number of days stayed for 47

days, S stayed for 15 days less thanT.

2 19
(4 36

\.__

280, For how many days did R possi-
bly stay In India ?-

(1) 56 @ 41
3 33 @ 25
G 11

251, Who amongst the following stayed
for the second highest number

of days ?

1y u 2T
3 Q9 4 R
% P

282, If the number of days for which
Q stayed in India is less than 60
and Is an even number which is
divisible by 3 but not by 4, for
how many days did Q stay in In-
dia?
(1) 54
(3 56
(5) 30

Directions (253-289) : Study the
following Information carefully and an-
swer the questions given below :

(IBPS RREs Officer Scale-I & 11
CWE 13.09.2015)

Eight persons S, T.U, V. W, X, Y

and Z live on eight different floors of a

buflding but not necessarily in the same

order. The lowermost floor of the build-
ing i3 numbered one, the one above
that is numbered two and so one till
the topmost flooor is numbered eight.

Each of them also works at a different

banks namely, IDBI, SBl, HDFC, BOI,

PNB, TJSB, Axis Bank and SVC, but

not necessarily in the same order.

¢ Zltves onan even numbered floor.

Only three persons live between

Z and the one who orks at BOI.

W lives immediately below the one

who works at BOI.

Only three persons live between

W and the one who works at Axis

Bank.

V lives immediately above T. V

lives on an odd numbered floor.

T does not work at BOI.

Only two persons live between T
and the one who works at SBI.
The one who works at SBI does
not live on the lowermost floor.
The one who works at SVC lives
immediately above the one who
works at PNB. The one who works
at SVC live on an even numbered
floor but not on floor numbered
two.

2} 42
(4) 48

{ BPRE-617
|



2538. Study the following information

—| PROBLEM SOLVING |-

e Only one person lives between the
one who works at SVC and the

one who works at IDBI.

X ltves tmmediately above 5. X

lives on an even numbered floor.

X does not work at TJSB.

U does not work at PNB and does

not live on floor numbered four.,

253. Four of the following five are allke

in a certaln way based on the giv-

en arrangement and hence they

form a group. Which one of the

following does not betong to that
group?

(1) S — Floor numbered two

_ {2) T— Floor numbered cight

(3) W-— Floor numbered six

{4) Z — Floor numbered one

(5) U — Floor numbered seven

284, V works at which of the follow-

ing banks ?
{l) AdsBank (2) SVC
(3) IDBI {4) sBI
(5) Other than those given as
options
255, Which of the following palr rep-
resent those who live immediate-
ly above and immediately below
z?
{sT TV
{3} Other than those given as
options
48 v B XY
238. W works at which of the follow-
ing banks ?
(1) Other than those given as
options
(2} PNB (3) Axis Bank
{4) BOI {5) SBI

57. U lives on which of the following

floor numbers ?

{1) One {2} Seven

(3) Other than those given as

options

(4) Five (5) Two
238. As perthe given arrangement, U
Isrelated to PNBand S is related
to HDFC in a certain way. To
which of the following is V rejat-

ed toin the Same way ?

(1) sve (2) sBI

(3) IDB}

(4) TusB {5) Axds Bank

carefully and answer the ques-

For the past three years the Gov-
ernment of State X has been organiz-

ing awareness programs for the Hoard-
ings and banners have been put across

the State promoting women upliftment
and gender equallty.

Which of the following cannot be
conseguence of the steps taken by the
government of State X ?

(1} The rate of female focticide in
the state has came down from
280 cases per year to 30 cases
per year

(2) Dowry and domestic violence
cases in the State dropped by
85% in the last couple of years.

{3} Cases reported by women of the
State regarding chain snatching
on the roads have come down
by 40% in the last two years.

(4) Twoyears ago minimum 15% fee
exemption was made mandato-
ry for girl child tn all public and
privaie schools of the State.

{5) In all the public organizations of
the State, a minlmum of 10%
female employees has been
made compulsory since the past
two and a half years.

(TBPS RRBs Officer Scale-I1 & I1
CWE 13.09.2018)
Directions {260-261) : Study the
following information carefully and an-
swer the questions given below :
L. M, N, O and P are five different
poles, each of different length. O is
not the third shortest pole. N is bigger
than only P. L is shorter than only one
pole. The size of the shortest poleis 7
tl'tsaxfltd that of the second tallest pole is

260. Which of the following poles is
the third tallest?

() M
(2} Cannot be determined
(3 N
4P
9L

281. According to the given arrange-

ment, which of the following com-
binations of pole and length is
correct?

(DN-14p 2)P-51t
o-121t (9L- 131t
(3) Other than thoge glven as

tion which follows :

options

—

262. If in the number 38564027 fire,
all the even digits are arrange:] 5
in ascending order and the, all |
the odd digits are arrangeg in
ascending order which digy wil]
be fourth from the right engs

{1} 3

34
{4) Other than those given op-
tions
(5 6
263. If*4’ is subtracted from each oqy
digit and ‘1’ is added to each evep,
digit in the number 947 @583
which of the following digits wiy
apear twice in the new numbe;
thus formed?
(1) Only 2 (2) Both 1 and 7
(3) Both 3 and 5(4) None
(5} Only 1
(IBPS Specialist Officer
{Marketing) CWE 01.02.2016)
Directions (264~278) : Study the
following information carefully and an-
swer the questions given below :
(IBPS Specialist Officer
{(Marketing) CWE 01.02.2016)
Eight persons - K, L, M, N, O, P,
Q and R - live on eight different floors
of a building but not necessarily in the
same order. The lowermost floor of the
building is numbered one, the one
above that Is numbered two and so on
till the topmeost floor Is numbered eight.

P lives on an even numbered floor
but not on the topmeost floor. Only three

persons live between L and P. O lives

immediately below L. N lives immedi-

ately below P. K lives immediately

J/
#

¥

@ 5 ‘}
!

e e eam —m

above Q. There are as many persons
between Q and Ras are there between

R and 0O,

264. IfLand P Interchanges their po- {
sitions and so do K and M, then i
who will live between M and L.

as per the new arrangement?
e o
BN 4 R

(5) Other than those given as

options -

268. Who amongst the following lives
on the floor numbered six?
(M 2R
3 Q 4P
(5L
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ch one of the follow-

| |
/.;; following floor (4) If 6000 less cars were sokl
» which e Mitve?
Y (2) St

Oy
v, | g5 WHO

B Addition of International sales

(2} PN

g]’ (4) LO

[ NK

amongst

petween K and N?
2P Q

4@RL

MR
ML

LA
@8 0

2
ﬁn di
WT»
da ed ?
aumber thus form

(1) None

0 Both 3 and 5

:
!
[ﬂ

) Only 2

(IBPS Specialist Officer (IT)

CWE 14.02.2016)
770, Study the given information care-
fullyand answer the question giv-
en below !
carmakers Kellbahn's domestic
sales have surged as they have
reported sales of 12,000 cars this
December. This number {s more
than double the number of cars
sold by them in the third quarter
{October-December) put togeth-
er last year.

Which of the following can be

ooncluded from the given state-

ment ? )

(1) If 6000 more cars were sold
in the third quarter of last
year, the two numbers would
have become equal.

& Kellbahn definitely sold less

than 6000 cars fn December
last year,

figures would have made per-
{:rnnance of last quarter bet-

ﬁggg,notbelongtoﬂ*esmup?

the following live

oo R

/1 is subtracted from each
git in the number
which of the following
(s will appear twice in the new

in December this year, the
number of cars sold would
have been same as that in
Decernber last year.

(5) Kellbahn definitely sold less
than 12,000 cara in Novem-
her this year.

(IBPS Specialist Officer (IT)

CWE 14.02.2018)

Directions {271-276) : Study the

following information carefully and an-
swer the questions given below :

(IBPS Specialist Officer (IT)
CWE 14.02.2016)

Seven friends namely, P, Q. R, S,
T. U and V visit seven different cities
namely, Berlin, Kabul, Jakarta,
Madrid, Chicago, Miami and Sydney.,
but not necessarlly in the same order,
starting from Monday to Sunday (of the
same weck.}

Q visits a city on Wednesday. Only
one person visits between Q and the
one who visits Madrid. T visits imme-
diately after the one who visits Madrid,
Only four persons visit between T and
the one who visits Sydney. Only one
person visits between the one who vis-
its Sydney and R. The one who visits
Berlin visits immediately before R. The
one who visits Chicago visits on one of
the days before the one who visits Ber-
lin but not on Wednesday. More than
three persons visit between the one
who visits Chicago and P. Only two
persons visit between S-and the one
who visits Miami. Only two persons
visit between the one who visits Miami
and the one who visits Jakarta. V does

not visit Berlin. :
271. On which of the following days

does S visit a city ?
(1) Sunday {2) Thursday
{3) Tuesday  (4) Saturday
(5) Friday

272. As per the given arrangement R
is related to the one who visits
Jakarta in a certain way and Tis
related to the one who visits Mi-
ami in the same way. To which
of the following is V related to in
the same way ?

(1) The one who visits Kabul
(2) The one who visits Sydney.
{3) The one who visits Madrid
(4) The one who visits Berlin.
(5) The one who visits Chicage

273. Which of the following cities does

P visit ?
(1} Berlin (2) Jakarta
{3) Sydney (4) Madrid
(6) Miamt
274. Which of the following statements
Is true about U ?
(1) All the given statements are
true.

(2) U visits Berlin.

(3) U visits a city on Saturday-.

{4) Only three persons visit be-
tween U and Q.

{8) U visits a city jmmediately
before T.

278, Fourof the following five are alike
in a certain way and thus forma

r the given arrange-
grmgrl:t? \:211]:::1 of thf?c,»llwnng does
not belong to that group ?

(1) T -Thursday

(2) P-Sunday

{3) Q - Wednesday

(4) R - Friday

(5) V - Monday

276. Who amongst the following visits

Kabul ?

(M P (2 R
3 s 4 u
5 Q

Directions (277-281) : Study the
following information carefully and an-
swer the questions given below :
(IBPS Specialist Officer (T}
CWE 14.02.2016)
Eight persons —P, Q, R, S, W, X
Y and Z — live on eight different floors
of a building but not necessarily in the
same order. The lowermost floor of the
building is numbered one, the one
above that is numbered two and so on
till the topmost floor is numbered eight.
P lives on an odd numbered floor
below the floor numbered six. Y lives
immediately above P. Only three per-
sons live between Y and W. There are
as many persons between W and Ras
are there between Rand Y. Z lives on
an odd numbered floor below Y but
not on the floor numbered three. Only
one person lives between Q and X. Q
lives above X.

277. Who amongst the following lives
on the floor numbered three ?

(s 2w
- BX 4@P
) Q

N —

AR 4 =
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282, On which of the following days

As the given arrangement,
ke fomp:;me fofliamgﬁw are altke does S vislt a city ?
in a certain way, and so form a (1) Sunday (2) Thursday
group. Which one of the follow- (3) Tuesday {4) Saturday
ing does not belong to the group ? (5) Friday
(1) W - Five 2) Y-One 263, As per the given arrangement R
(3) S-Three (4 @ - Four is related to the one who visits
{5) X - Eight Jakarta In a certain way and T |s
the foll lives related to the one who visits l\gll;
278. Who amongst ;o dowmgx? anumthesamewaY-Towmm
ar;:a;t.l};y b;tween [2;!:1) iy Q of the followlng? is V related to
n the same way
(3) Both Zand R(4) No one (1) The one who visits Kabul
(6) Both Pand Y {2) The one who visits Sydney.
280, HQ andetCI'chﬂ.nge their pIQC‘ [3] The one who visits Madrid
ot aﬂfesgcd' oW and S.dtl‘:::n wh: (4} The one who visits Berlin.
ﬂn arran en?e:lt.l ? Aepe (5) The one who visits Chicago
(1} P @ X 284, Which of the following cities does
visit ?
@ R @s 0 Bor 2] dakarta
(5 m than those given as (3) Sydney (4) Madrid
. ' {8) Miami
281. On whlchdof tl;zeli‘:ilgwlng floor 288, Which of the following s s
numbers does is true about U ?
{[:;)) Two (‘f}’ St (1} All the given statements are
Five Seven true.
(5) Three 2) U visits Berlin.
Directions (282-287) Studglrmf (3} U visits a city on Saturday.
awer the questons ghven belows | () Only the persan vii b
' tween U and Q.
O P e 10 0ng0ue) (5) U visits a city immediately
c before T.
Seven friends namely, P, Q. R, S,
T. U and V vistt seven different citles | 336 Fourcfthe fmﬁgﬁ o;‘:‘nk;
namely, Berlin, Kabul, Jakaria, group as per the given arrange-
Madrid, Chicago, Miami and Sydney, ment. Which of the following does
but not necessarily in the same order, not belong to that group ?
ssatilrgng&-oz;l Monday to Sunday {of the (1) T - Thursday
Q vislts a city on Wednesday. Only ((:L;; g:ﬁ;‘;‘ﬁ; i
one person visits between Q and the 4 R - Frid y
one who visits Madrid. T visits imme- (4) R - Friday
diately after the one who visits Madrid. {5) V - Monday
Only four persons visit between T and | 287. Who amongst the following visits
the one who visits Sydney. Only one Kabul ?
person visits between the one who vis- (1P 2R
Its Sydney and R. The one who visits 3 s QU
Berlin visits immediately before R. The 5) @
one who visits Chicago visits on one of Dircctions (288-201) : Read the
the days before the one who visits Ber- following hlfomlattlon ﬁ) Ly and an-
:Ln but not on ":’;‘:‘:t“;sedhiy . Motl: than | swer the questions which foliow :
ree persons een the one
P, Q, R, S, Tand V live on differ-
persons visit between S and the one tfl
who visits Miami. Only two persons ent floors in the same building having
visit between the one who visits Miamy six floors numbered one to six (the
and the one who visits Jakarta, V does | S0 floor is numbered 1, the floor
not visit Berlin 0€S | above it, number 2 and so on and the
) topmost floor is numbered 6).

- BPRE-620 |-

—

o (s
Q lves on an even n ric ’
floor. Only two people llvebet‘::::“ﬂ # t“‘ o
flloors on which @ and v live, u:he e
on a floor immediately aboy, theq ey ls] C
on which Rlives. S does noy live c“_luor & ;
odd numbered floor, P does not ‘
a floor which is immediately abcweon ’;. 0 ®
immediately below the floor o, whlﬁr on®
Tum.Pdoeanotuveonmehw::l for"
maost floor 1.e. floor no, 1, - {011:
288, Who amongst the follovdng go
on the floors exactly bmnl:;’; A
floors on which Q ananve? o
(1) RS @ rRr o
3 ST apr W
{5) Cannotbe determineq 5&- o
280. Who amongst the followmg lives 3
on floor number 5 ? (
e 2 g ] (
31 T {4 v i (

(8) Cannot be determineq
280, On which of the following fiper,
doea T live ?
(1} 3rd (2} 5th
(3) 1st (4) 4th
(8) Cannot be determined
201. How many people lve on the

floors above the floor on which p

lives?

(1) None (2) One

(3) Two (4) Three

(5} Cannot be determined

Directions (293-296) : Study
the following information carefully and
answer the questions given below :

{BOB Manipal School of
Officer Online Exam, 14.08.2014)

Abullding has seven floors, num-
bered one to seven in such away that
the ground floor is numbered one, the
floor above it numbered two and so
on such that the topmost floor Is num-
bered seven. One of the seven per-
sons, viz, P, Q, R, S, T, U and V, live i
on each floor.

P lives on fourth floor. Two per-
sons live between the floors of P and
R. Two persons live between the floors
of @ and S. g lives on the floor imme-
diately below the V's floor. @ does not
live below the fllor of U and S. Q lives
on the floor of P, T lives on the floor
immediately above the floor of R.

292. Who among the following lives

on fifth floor ?

(1T 25
@ v 4Q
) U




] PROBLEM SOLVING F

it : ctween of . The person who Is trav-
ol “":nb:u“’be s/;:';}me b mﬁ‘g}mﬁau lclvcs below Q. S does
d V gy Wee, iy v o v and R 7 not live immediately above or below
oy Bboye® Sl #% e 109 < gy Tw the floor of P. V s not travelling to
9¢3 not u“’eq"ﬁ m pané {4) Three Chennal. The person who is travel-
;la ho: u:n::’ 9 x alike | 1108 to Delhi does not live on the
"diag Howing five are .
I'-' fl ebro e% gurd the :"&' pased on the giv- ground noo;nn RRBs Officer Scale-]
e gn the' ;,,e;r P acersin T ond hence ;l:hez CWE, 05.00.2014)
. en & group- Which one othat 287. Who among the following lives
' fOl!o% form A L s es not belong to on the topmost floor ?
J:nh’ Sl i (mu 209
Pyl e 0 (2 R (8) v T
R v @ v ©6)S
+ T
298. Four of the following five are
;nuhed S’hosamong the font;lmg H;c[? alike in a certain way and hence
'°“’1ng b % ctly betweenl the floors o they form a group based on the
e :;; v? glven arrangement. Which one
’ 3 P )T of the following does not belong
{‘3) s 4 Q to that group?
tneq & Nene following Uves () R @s
among the fo. Qv 4u
"!ngﬂoor. ’“;}:edtateb' above the floor of ® T
p? ) U 299. Who among the following trav-
me @ els to Deihi ?
ed @T “s T 21U
v 38
why e nf”ﬂm (397-301): Study the [‘5)’ 5 @R
chp information carefully and an-
following estions given below : 800. How many persons live between
grer he qu has seven floors num. the person who is travelling to
:netomn.tnauchawaythat Mumbai and § ?
d feor 18 numbered one, the (1) Three (2) Four
Study tﬁu:m it, number two and s0 on (3) One (4) Two
Yand  _.p that the topmost floor {8 num- (5) Five
: bered seven. One out of seven per- | 301, Who among the following does
kog  ynoviz, P.Q.R S, T. Uand V lives live on the floor immediately
D14) w each floor, but not necessarily in above the floor of T ?
1m- the same order. Each one of them is
todifferent places, viz., Ban- (s @e
hat - meling iy @ U @p
he glore, Chennai, Delhi, Jaipur, Kolk-
so i Mumbal and Patna, but not nec- ) v
n- essarily in the same order, Directions (302 - 303) : Study
. Three persons live on the floors | the following information carefully and
¢ thove the floor of P, There is only one | answer the questions given below ;
person between P and the- person (IBPS RRBs Officer Scale-! & I
vavelling to Bangalore. U lives imme.- CWE 12.09.2018)
#"’3’ below the person who is trav- Each of the six persons, P QR
g o Mubat, The person who fs | S, T and U has trrer to different
""'"Stlf;otfwgb"?’l lives on an even number of countries. R has travelled
00 travellin r( M es below the Per- { to more number of countries than only
s are Hving gct umbal. Two per- | §and T. @ has travelled to more num.
%0 are try g Detween the persong ber of countries than U but less than
velling to Bangalore and P
htng - T 18 not the person who has tray.
~pectively. T lives immegiate
Yabove R, I8 N0t travelling 1, " | elied toleast number of countries, The
de ne.. PETSONS live betwegﬁ 5 Pas one who has travelled to second high-
Person travelung to Kolkata a,n‘: est number of countries hag travelled
ﬁ”m;lnlvho Is travell 2 to Del.h i je to8 countries. The one who has trav-
4 ﬁnmedlately above or belousr elled to the least number of countries
| has travelled to only two countries,

3502. Who arnongst the following has

possibly travelled to 11 countries?
me @ R

)T 4o

5y 5

If it is given that R has travelled
809 to four countries less than the
number of countries travelled by

Q. then to how many countries
has U possibly travelled?

(1) 4 @9
33 46

5y 10

SBI PO EXAMS

. friends, A, B, C,D, Eand F
! ;I;f'led an Institute in the year
" 1993 but on different days. Only
E has joined before C and after
D. C joined immediately before A
and immediately after B. F is not
the first or the last person to join.
Who is the first person joining
the Institute? .
(1D
B)A
(4) Data inadequate

{5} None of these
(S8BI Associate Banks PO
Exzam. 16.07.2000)

2. If the digits on the dial of a clock
are replaced by alternate English
alphabet beginning with D such
as Dreplaces 1, Freplaces 2 and
80 on, then where will be the
hour hand at 19.45 O’ clock?

(1) Between O and Q
(2) Between N and P
(3) Between P and R
{4) Between M and O
(5) None of these
(SBI Banks PO Exam, 20.08.2000)
Directions (3-7): Study the {ol-
lowing information and answer
the questions given below ;
(SBI Management Executive
Exam, 23.02.2014)
In each of the following questions
two rows of numbers are given. The
resultant number in each row istobe
worked out separately based on the
following rules and the question be-
low the rows of numbers are to be
answered. The operations of numbers
progress from left to right.
Rules : (i) If an odd number is
followed by a two digit even number
then they are to be added.

(2)B




4 PROBLEM SOLVING |

(it} If an odd numbear s followed
by a two digit odd number then the
aecond number I9 to be subtracted
from the first number.

(iti} If an even number 1s followed
by a number which is a perfect
square of a number then the second
number s to be divided by the first
number,

(iv}) If an even number 1s followed
by a two digit even number then the
first number is to be multiplied by the
second number,

(SBI PO Exam, 09.01.2008)
315 11 20 400
8 12 10
If the resultant of the second
set of numbers is divided by the re-
sultant of the first set of numbers
what will be the outcome ?
(1) 196 (2) 200
(3) 19 (4} 92
(51 None of these
4.40 30 3600
15 249 17

are females. All of them like different
colours viz, Red, Green, Yellow, Blue,
Black, White, Grey and Purple but not
necessarily in the same order. One fe-
male does not like Grey or White co-
lour. D is travelling with G in the Car
Z. G likes Black colcur. The persons
who like Red and Purple colours, are
travelling in the same Car. E does not
like Purple colour and he is not trav-
elling with H In the same car. A does
not like purple nor Red colour. H is
travelling in the Car Y. B, C and H are

Directions (8-13) : Study the
following information carefully and an-
swer the given questions : "

Executive

oot u“mm.‘mfn;sm.aou)

Eight persons — A, B, C, D, E,

F, G anlflhﬁp-eare travelling in three
different Cars namely X, Y and Z, but
not necessarily in the same order.
There are at least two persons in each
Car and each Car has persons of both
the sexes. Out of eight persons three

What is the sum of the two
resultant numbers of the set of num-
bers given above ?

{1} 22 (2} 25
(3} 28 (4) 42
{5) None of these
5.8 16 18 14
13 11 12 144
What is the difference between
the resultant of the first set of
numbers and the second set of

fernales in the group. B likes Blue co-
lour and travels with the person who
likes Black colour. Red and Green co-
lours are liked by female members.
The person who {s travelling with H,
likes Grey colour. One of the persons
travelling in Car Z likes Yellow colour.,

8. In which of the following Cars

only two persons are travelling?
(1) CarX 2) Cary
(3 Carz

(4) Cannot be determined

numbers ?
(1) 222 (2) 210 & Nonc of these i
(3 118 (1) 106 9. The female member who is tray-
elling in the Car X likes which
(5) None of these colour ?
6. 11'}3 II ; ;12 (1) Green {2) Blue
3) Yellow
If the resultant of the first set of :5)) None of th () Red
numbers is multiplied by the re- ese
sultant of the second set of num- | 19© Who among the following likes
bers, what will be the outcome ? Yellow colour ?
(1} 48 (2) 96 (1) D @ E
(3 69 {4) 75 3 A @F
{5) None of these (5) None of these
719 15 12 11, Who among the following is/are
15 12 23 16 travelling with female member
If the resultant of the second set c?
of numbers fs subtracted from (WEandG (@) pAandp
the resultant of the first set of 3 Eand F 4 DandE
numbers what wil] be the out- ) Fand g

come ?

(144 (2) 92
(3) 29 (4)43
(5} None of thege

12. Which of the following combing.
tions of Person-Car-Colour i3 not
correct ?

(1) C~X-Red

{
—(_BPRE-622 |-

(mr-x..pu,m\

(3) G- Z - Black
4bD-z- Yellow
(5) E-Y - Grey
Directions (13—-15] 1§
following information capg, - dy
swer the questions gy, el My,
{SBI Associgee, pgw i

N Ellm. 30,
Each of the six People :]1?:.:}

X, Y and Z stayed for a dif, L'
ber of days in India, X staye d"[;n%
number of days than onlyy y T leay
for more number of days t‘haﬂt‘m]
two people. U did not Stay les: &“ly

a,

Y. W did not stay for the min
number of days. The one who Mgy,

for the second lowest Dumbey :ftal'ed

stayed for eight days. U st dayy
days in India. Yedfory,

13. The one who stayed for
imum number of days gg:;al‘,:;

15 more days than w,
the following is possih) :}v,:kh o

ber of days for which it .
inIndia? Hayed

1 s
(8 23
o 17

14. Which of the following 18 trye
with respect to Z ag per the gi.
en information ?

{1) The possible numberofdays
for which z stayed In India
is 14 days,

(2} Z stayed for the minimym
number of days,

(3) None of the 8iven options s
true

(4) Only two People stayed for
more number of days thanz.

(5) Z definitely stayed for more
number of days than Y.

18. Which of the following may be
the possible number of days for
which Y stayed in India ?

{1 11 2} 8
(3) 19 4 5
5 22

Directions

2} 32
4 20

(16-21) : Study the

following information carefully and
answer the questions given below:

(SBI Management Ezccutive
Exam. 19.09.2014
A building has eight floors.

Numbered one to eight In such 2
manner that the ground floor it
numbered one, the floor above It
numbered two and so on such that th?

R




| 17, whoamongthe following lives on’

A jght. one .
- ﬂoorlsnu;ﬂ‘t_:_ere.d eg;a s T the floors of W and the profes
W™ 5ght P52 each floor, but sor of Geography?
af:?s,,d w;mmcsﬂme er. (1) None (2) Two
, rofessor of different 3) One (4)Four
i A saP h 3
oy, S gnglsh GBS |, TR
W, subjccl:‘:s. Hindi. M‘:ltl-listory 8. | 21, Fourofthefoll owing five are alike
y 5,,:151 s, goclology 21 " in a certain way and hence form
12 ' in the same OFTer a group. Which on¢ of the
ST persoﬂsu"cb"m Rand following does not belong to that
tn. V. e P add numbered floor. group?
br ;lt‘h ) R lived rU lives on the gl’Ol.ll'ld
sla;% Nelne R ﬂf‘;{ essor of Sociology lives {1) Professor of Economics
1 g4 ﬂoar.’lh pelow R. Three persons (2) Professor of Sociology
' u,"'? .mmed‘*‘“'" the professor of Sociolo- (3) Professor of Hindi
[’hua,: pve he prof rof History. P lives {4) Professor of History
anrd 7y elow U and immediately (5) Professor of English

of Mathematics.
3 the of Mathematics.
gis noz o fourth pumbered floor. V is
vINeS C sor of Hind! - The professor
the prof csliveson the topmost floor.
o Wﬂgz‘m live between V and the
w0 P rEnglish. Ris not the pro-
prolesSel glish. S lives immediately

@so:me professor of Statistics.
- Neither S nor Q is the professor
of Economics: W is not the professor
of Mathematics-
16, Who among the following lives
exactly between the floors of T
and the professor of Geography?
P

a 2) Professor of Sociology

(3) Professor of Hindi

! (@ W
(5) None of these

laye, | #
“Wey tely
dayy ";‘:;diﬁe professor

the topmost floor?
R @R
QU 4T
@V

18, Who among the following lives
immediately above the floor of the
professor of Statistics?

(1) Professor of Geography
(2) Professor of Hindl
(3} Professor of Mathematics

(4) Professor of Sociology
(5) Professor of History

19. Who among the following lives on
third numbered floor?

(1} Professor of Mathematics
(9) Professor of Geography

|

3) Professor of English
1) Professor of Statistics

20. How many persons live between

Directions (22-26) : Study the

following information carefully and
answer the questions given below :

(SBI Associates PO Online

Exam. 29.11.2014)

Eight people P, @. R, S, T, U, V

and W live on separate floors of an 8-

floor building. Ground floor is num-

bered-1, first floor is numbered- 2 and
so on until the topmost floor is num-

bered 8.

e P lives on floor numbered five.
Only two people live between P
and Q. Q lives above P.

o V lives immediately above S. T
lives immediately above R.

o Only one person lives between
T and W.

e T lives above W. U lives on an
odd numbered floor.

22, How many people live between

the floors on which S and Rlive ?

(1) More than four

(2) Four (3) Two

(4} One (5) Three

‘23, Who lives on the floor immedi-

ately above P ?

m s 2w

{3 R 49U

(5) Other than those given as op-

tions

24. Which of the following staternents

is true with respect to the given

information ?

(1) Only one person lives be-

tween W and U

{2) U lives on floor No.1

(3) V lives on the top most floor

(4) Only two people live between

Tand S

p, @ is not the
shortest pole is 2

tallest pole is
27. “g.;lch of the following may be the

28. The tallest pole

() Profesgor of History

N —

(5) P lives immediately above W

28. Who among the followinglives on

floor No. 2 %?

(T 2S5
3 Vv 4R
By W

28. Whoamongmefollawhlgmbe'

_ tween RandU?
) P (2) No-One
T 4w
W{m W (27-20) : Study the fol
: Stu -
information and answer

the questions given below :

(SBI Associates PO Online
Ezam, 20.11.2014)

Each of the six polesP. Q. R. s, T

d U has a different height. P is tall-
:?man only three poles. Sis taller than

than U. U is shorter than
tallest. The second
feet tall. The third
5 feet tall.

possible height of pole U'?
(1) 7 Feet (2) 2 Feet
(3) 5 Feet {4) 3 Feet
(5) 1 Feet

is 11 feet taller
than S. Which of the following
may be the possible heightof @ ?
(1) 4 Feet (2) 9 Feet
{3) 13 Feet (4) 16 Feet
(5) 17 Feet

29, Which of the following is true
with respect to the given infor-
mation ?
{1) Only two poles are shorter

than Q.

2) O's height is definitely less

than 2 Feet

(3) None of the given options is
true

{4) Sis the second tallest pole

(8) Tis the shortest pole
Directions (30-32) : Study the

following information carefully and
answer the questions given below :

(SBI Assoclates PO Online
Exam. 30.11.2014)

Each of the six people U, V, W,

X, Y and Z stayed for a different num-
ber of days in India. X stayed for less
number of days than only V. Y stayed
for more number of days than only

two people. U did not stay less than

Y. W did not stay for the minimum

number of days. The one who stayed
for the second lowest number of days
stayed for eight days. U stayed for 17

days in India.

r
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OLVING
—] PROBLEM 5

94. Which of the following is truc,

0 The e sapdfr e 1 |34 e apet ot i e
imuam n d )
15 more days than W. Which of matlon rson lives be-
following is posaibly the num- (1) Only onc pe
e days for which it stayed Eand G
ber of days for tween
inIndia? ) {2) Alives onaeven numbered
(3 23 “ 20 {9} Alives immediately below c

{5) 17

Which of the following is true

(4) F lives on Floor number 5

31
with respect to Z as per the giv- 5 Anveannmediamly:bmﬂ
en information ? 88, How many people live ctmcm'?l
for which Z stayed in India (1) One @ Mmethanthl‘ee
is 14 days. 3 Two .
(2} Z stayed for the minimum @ () Noone
" of days. i 868. Who amongst the following lives
(3} None of the given options is een B and G ?
true @ ¢
(4) Only two people stayed for m ;oone @ H
more number of days than Z. (3: o
(5]

(5) Z definitely stayed for more

number of days than Y. 897. Who amongst the following lives
82. Which of the following may be on Floor number 5 ?
the possible number of days for m G @ A
which Y stayed (21;1 Isndla ? @ F @ D
m ll ; o 5 H
@ Directions (38-42) : Study the fol-
6 22 ' lowing information carefully and answer
Directions (33-37) : Study the | the questions given below :
following information carefully and (8BI PO Phase-] (Preliminary)

answer the questions given below :
{SBI Associates PO Online
' Exam. 30.11.2014)
Eight people-A, BC,D,E, F. G
andH-Hveonsepamteﬂoorsofan_B
~ floor building. Ground flcor {s num-
bered 1, first floor is numbered 2 and
50 on until the top most floor is num-
bered 8. C tives on Floor No. 3. Only
'mepersmllvesbetwemCandF.Only
,one person lives between C and G. E
ltveslmmedlatelyaboveB.Hllmlm-
mediatelyaboveF‘.Hlivea'onanyof
ﬂleﬂoasbelowD.Onlymwpcxml!m
between D and A. D lives above A

33. Who lives on the floor immedi-

(1) Other than thoge glven as
options

@ H

@G

@ A
B ¢

Online Exam. 20.06.2015)
Seven persons - M, N, O, P, QR
and S - live on separate floors of a
seven-storeyed building, but not nec-
essarily in the same order, The ground
floor of the bullding is numbered 1,
ﬂleﬂoorabdveitzandsoonuntﬂthe
topmost floor is numbered 7. Each
person likes differnt cartoon charac-
ters, viz, Chipmnuk, Flinstone, Jetson,
Popeye, Scooby Doo, Simpson and
Tweety, but not necessarily in the

same order.
The Person who likes Popeye lives
on floor numbered 4. Only two per-
and the one who

sons live between p

above nor
immediately below the floor of M. Only

two persons live between M and the

2d NvEr. o EhEmn .

son lives between N
an even numbereq andal:'u:““'ea X
like Popeye. Only thre, , - Yoeg
between the persong Whup;;:% Iy
nuk and Jetson res; chlm
son who likes Chipmyy,), lj;»:he Der.
floor above the N's floor, The o 2ty
who likes Chipmanuk doe, mptrao.,
the topmost floor., O doeg not ukehve on
mnuk dr Jetson. The pergey, - Chin
Scooby Doo lives on the floq, 1"11\1":3

ately above the floor of the Per -
likes Simpson, Why

88. How many persong
ﬁ:eﬂoorsonwhlchslj::dbet“m

P
() Three @) e ™7
(3) Four (4) Five
(5} No One

Which of the f°“°Wlngstatg
is/are true according o the
en information? g

(1) Q lives on floor Nmbereg
and hedoesnotljkepopm

does not live on flgor num.
bered 4.

{3) O likes Flinstone and he lives
on the topmost floor

@) Only two persons live be-
tween the floors of Q and
R

(5) All the statements are true

- Who among the following lives on
the floor immediately above the
floor of M ?

MN

s

(5) No One

Who among the following lives

exactly between the floors on

which S and N live ?

P @R

@M 49

(5) No one

Who among the followimg does e

cartoon character Jetson?

(R @ P

BN 49

B s
Directiong (483 - 47) : Study !¢
following information carefully and &
swer the questions given below:

SBI PO Phase-1
( Online Exam. 21083019

My p
pvl

5

2R
4o

41.

13
ﬁn i

“l-
‘c‘,ts

ﬂdﬂ:
oy @ vgi

E
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1y ey

k?ad"t‘e % ’p%::; put ";Ot B most floor of the

ke gna ' |4 ﬁ"ardtf- :,T:lt:nbc one, the one

. .,.hhipmk‘ o™ og 15 O mbered twO and so on

'j"“-o:: put mnmoorlsﬂ b d‘;_ev_
also likes diller-

he podny | e e of theim 2 . B .

Chy

Whe, o U | o0& not neces
: h'n"’l;l;? "o '?u live between
rb&n X ofdcr b three rS0Ns

Whe only on one of the floors
. B lives .
vﬂ"",’éudoam‘“"e"“ the lower.
A
1 Pllv,_.? P fiodr: n lives between B

o y
Mentg e O sons live between M

be.
and

e
O]

!
!

X ricket, Hockey and
n "“cnas-wdo'c arily in the same

only a:::ho like Chess. The one
aﬂdwwpololwes on one of the even
floors above the one who

only t;vow]]p; Jikes Chess. The one

:nhg“’mf;”smker tives immediately
Me::vc, immediately above L. A

e not ke Chess.
d The one who likes Ludo lives on

odd numbered floors below
one Omwnog like Ludo. D lives on one

e C. Only one 4]
:;,eb;mal:ho: one w?g likes%err::{l)t-l
«and the one who likes Hockey.
p does not Itke Cricket. M does
ol like Badminton.
43. Which of the following games
does B like ?
(1) Snooker (2} Ludo
(3) Polo (4) Badminton
{5} Chess
. Whoamongst the following lives
* onthe floor numbered 4 ?
(1) The one who likes Hockey
(2} The one who likes Chess
3 a
@L
(% B
48, Which of the following statements
is true with respect to the given
amangement ?
() Only two persons live be-
tween K and M,
(2} The one who likes Hockey
lives immediately above K.
(3) Clikes Chess

(4} ﬁes 0n an even numbered

) tP:‘.t:l:e of the given options is

it
46. Ifali the personsaremadetos
in alphabetical order from top to

bottom, the positions of how

many people will remaln un-

changed ?

{1) None (2) Three
(3} Two (4) One
(5) Four

47. Which of the following combina-
tions is true with respect to the

given arrangement ?

(1) Polo-C (2) Ludo-B
(3) Cricket-K (4} Snooker-A
(5) Chess-L

Directions (48 — 52} : Study the
following information carefully and an-
swer the questions given below :

(SBI PO Phase-I (Preliminary)
Ouline Exam. 27.06.2015)

Seven persons J, K, L, M, N, O

and P live on seven different floors of

a building but not necessarily in the

same order. The lower most floor of

the building is numbered 1, the one
above that is numbered 2 and so on

till the topmost floor is numbered 7.

Each one of them also likes a different

subject namely-English, History, Com-

merce, Biology, Accounts, Geography
and Computer (but not necessarily in
the same order.)

# J lives on an odd numbered floor
but not on the floor numbered 3.
The one who likes Accounts lives
immediately above J. Only two
persons live between M and the
one who likes Accounts.

@ The one who likes History lives on
one of the odd numbered floors
above M. Only three persons live

" between L and the one who likes
History. The one who likes Com-

merce lives iminediately above L.

® The one who likes English lives
immediately above the one who
likes Computer. P lives on an odd

numbered floor.

@ Only one person lives between K
and N. K lives on one of the floors
above N. Neither L nor J likes Bi-

ology. N does not like Commerce.
48. Which of the following subjects
does J like 7

(1) Geography (2) Computer
(3) Commerce (4) History
(5) English

49. Which of the following combina-
tions is true with respect to the

glven arrangement ?
(1) Geography - L
{2) History - O
(3) Computer - P
(@) Accounts - M
jol -K
(5) Blo o&Y de to sit

, If all the persons are ma
50 ::1 alphabetical order from top to

ositions of how
I;?;;;mﬁe:::ng will remain un-
changed ?
(1) Four 2} Two
{3} None {4) One
vnﬂch(S) of th following statements
ok is true writI:3 respect to the given
arrangement ?
(1) The one who likes Computer
lives immediately belowdJ.
(2) O likes History. .
(3) None of the given options is
true.
{4) Only four persons live be-

tween M and P.
) Plives immediately below N.

52. Who amongst the following lives
on the floor numbered 27?

(1) K
{2) The one who likes English
(3) The one who likes Computer
4 M
(5 O
Directions (83-59) : Study the
following information carefully and an-
swer the questions given below :
(SBI Specialist Officer
(Law Officer : MMGS Scale-HI)
Oxnline Exam, 18.04.2014)
P.Q.R S5, T U, Vand W live on
different floors in the same building
having eight floors numbered one to
eight (the ground floor is numbered
1, the floor above it, number 2 and so
on and the topmost floor is num-
bered 8).

There are only two floors be-
tween the floors on which P and R
live. R lives on an odd numbered floor.
There are four floors between the
floors on which P and W live. T lives
on a floor immediately above the floor
on which U lives. There are only two
floors between the floors on which V
and S live. V lives on a floor above the
floor of S. Q does not live on a floor
immediately above or immediately be-

D

low the floor on which R lives.

{ BPRE-625,}-
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83. On which ol the following lloors

does @ live ?

{1} Fikth {2) Third
{3 Sccond {4) Fourth
(3) Sixth

84. Who amongst the following five
on the floors exactly between 8
and R?
MVv.Wand Qr2) V. Uand W
BUVand QU T . Uand Q
BiuUandw
83. Who amongst the following live
on Lthe odd numbered floors ex-
cluding R ?
M U.Wand 52 Q. Vvand U
NU.TandS 4 T. Wand S
{5} None of theae
88. Who amongst the following lives
on the topmont floor ?

mT 2 e
v ) Q
0] W
87. On which of the following Nloora
doca R live 7
(1} Fith (2) First
{3) Seventh  {4) Third

(51 Either third or filth
88. lHow many persons live between
the loom of Tand Q 7

(1) Frve {2} Three
{3} Two

(4) Etther three or four
(5) Four

86. Who amongst the following live
on the floor iImmedtately above
the floor of W 7
mu 2} R
v @
{5) None of these
Directions (60-62) : Study the
following information carefully and an-
swer the questions given below :
{58! Prodationary Officer
Ouline Exam, 21.00.2014)
There are five statues - L, M, N,
O and P - cach of them having differ-
ent height. Statue L s smaller than
only statue M. Statue O Is smaller than
slatue N. Statue O is longer than stat-
ue P. The height of the tallest statue
13 20 fect. The height of the second
smallest statue 13 ] § feet,

0. :,'-?’lml will be the height of slatue

(1) 13 feet {2) 15 feet
(3} 9 feet (4) 12 feet
(5} 14 feet

and W live on separate floors of an 8-
floor building. Ground floor is num-
bclc'led-l. first floor 1s numbered- 2
and so0 on until the topmost floor is
numbered 8. P

81. What will be the height of the
third tallest statue?

{1) 13 feel {2) 10 leet
(3) 19 fect (4) 9 feet
5 11 fect

63, If the cxpressions S=T> 02 R
and P £ O < Z arc true, then

which of the following is ot

truc?
mT>0 2) R<S
) Z>R 4 P>T
5 P<c2Z

Directions (63-685) : Study the
following anwt!on carefully and an-
swer the questions given below :

(SBI Probationary Officer
Online Exam, 26.00.2014)
In a bullding having five floors
above the ground floor, E does not live
on the topmost floor. A lives on the
ground floor. There are four floors be-
tween B and A. The floor Immcdiately
below B's loor I8 vacant. C lives be-
tween D and E, D does not live on the
floor Immediately above A's floor.
83, Who Nves Immediately above A's
floor ?
(nc
{3t E
{4) EitherDor E
(5) Cannot be determined
64. Wheo llves on the topmost floor ?
(ME {2 C
3 D 4B
{5) Cannot be determined
68. Which of the following floors s

vacant ?

(1) Fourth {2} Second

{3) Third {4) Fifth

(5} Cannot be determined

Directions (66-70) : Study the
follewing information caref ully and
answer the questions given below :
(SBI Associates PO Online

Exam, 29.11.2014)

Eight people P, Q, R, S, T, U. vV

2B

¢ P lives on floor numbered five.
Only two people live between P
and Q. Q lives above P,
¢ Vlives immediately above S, T
lives immediately above R.
® Only one person lives between
Tand W,
® T llves above W. J lives on an
odd numbered floor.

——

-~

68. How many people live bey

the floors on which § 5, a R‘l"f‘en
(1) More than four By
2) Four @ Two
(4) One {5} Thiree
. Who lives on the

7 ately above P 7 floor lrmh“‘iil-
(1 s 2w
3 R @uo
{5) Other than those

options

68. Which of the foMowing 3
ments 18 true with respeqy le.
given information ? the

(1) Only one person livey be
tween Wand Uy ’

(2) U lives on Noor N,y
(3) Vlilves onthe top moy

(4) Only two people live betw
Tand 8

(5) Plives immediately above

69. Who among the fol!owing llvey
on floor No. 2 ?

T
@ v
5 w

70. Who among the following live,
between R and U ?

g]vtn ay

s
{4 R

a p (2) No-One
@ T @ w
5 v

Directions (71-783) : Study the
following information carefully and an.
swer the questions given below :

(SBI Associates PO Ouline
Exam, 30.11.2014)

Eight people -A, BC, D.E.F.¢
and H - live on separate floors of an8
~ floor building. Ground floor ts num-
bered 1, first floor ts numbered 2 and
30 on until the top most floor is num-
bered 8. C lives on Floor Ne. 3. Only
one person lives between C and F. Only

one person lives between C andG.E
lives immediately above B. H lives im-
mediately above F. H ltves on any o
the floors below D. Only one person
lives between D and A. D lives aboveA
71. Who lives on the floor immed?
ately below D ?

(1) Other than those given &
options

2} H

4 G

3 A
(6} €

|

‘nn‘nﬂ:‘ P



........

be(\ mu s true

(2) More than three

d gy ich th infor- (3) Two
i #-‘:fmﬂ‘"-'ppeaw i (4) Three  (5) Noone
' mato? one pereon itves be- | 74. Who amongst the following lives
0 0 Eand G ‘ between B and G 7
T es on a even pumbered () Noone (2 C
ey @A @ E @ H
1 ﬂcl’;fes smumediately below C (5) D
A ;uves on Floor number 5 7B. Who amongst the following lives
E;;Awlmmedlateb';bo"eﬂ on Floor number 5 ?
“n ' people live between M G @ A
a many
3 f‘J.:;fwovvﬂmscm,,,,hy;:hD::lm:lCllveh? @ F @ D
G th,
) RBI GRADE-B/NABARD
b GRADE-A OFFICER EXAMS
s possible t0 make a three | {C) No one remembers the innova-
Yooy pirt qumber, which 18 & perfect tors after some time because
ten ﬁ;m ofa md@‘““g’%“g“’g they did not turn their idea Into
the second. third, and gl success, On the other hand the
\ e number 3650692, the two imitators did what they had to
W o { number is your answer. Ifit tat th
es d'gjot possible to make such a Just at the right time.
ko "bﬂ. your answer Is (5), i.e.. | (D} While Sanfy invented portable
nuﬂ; of 'these : MP3 players, it was Apple which
1«].';)1126 (2) 24 enabled MP3 players to play vid-
{ 97 (4)24 and 26 both eos and games at a fairly rea-
. o None of these sonable price, thus capturing the
N o (RBI Grade-B Officer market,
Exam. 2008} | (E) ‘Imovation'isalotless risky busi-
tions (2'-52l ;i\;neeat: éhe fotl; ness venture. An imitator is al-
tion an statemen ready equipped with the analy-
g equipp y
| en below it carefully and answer sis of how market received the
| hequestions which follow. inmovation. :

(RBI Grade-B Officer's

Exam. 18.12.2011)

steve Jobs himself said it: “It's
aarttotake an existing idea anden- |
ynce it beautifully.” Apple did it and
s did some of the most successful
tands worldwide. To be successful,
1is not essential to innovate every
tine. Old stuff in new packaging helps
wwell and is often referred to as

! tmovalion’ which is 2 combination of
inovation and imitation.

W Asaninnovation is a standalone
preduct in the market, it reaps
inall the profit till the ‘imovators’
Imitate it, ‘Imovation’, however, -
Is not profitable as there are

2. Blind tmitation of a product can
never be successful and sustain-
able,

Which of the statements num-
bered (A), (B). (C), (D) and (E)
mentioned above proves the
above statement most appropri-
ately ?

() D 2 B

B C 4) E

(5) BothAandC

8. Which of the statements num-

bered (4), (B), (C), (D) and (E}
mentioned above represents an

many imitated products in the 'dmot;"’ °.§ mitatingan exist-
| market at the same time, all re- ing product
. ducing each other’s profits. B
Br%nd X duplcated Brand Y's (2) BothBand D
2:: :lef Phones with exactly the (9 E
eatures and same prlce (4) BothC and B ¢
"ange but fafled to make an im- 0
in the market, {(8) BothAand D ‘
S — :
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4. Which of the statements num-]
bered (A). (B), (C), (D) and e
mentioned above would contra-

dict the fact that -
ucts is a succesaful m

strategy ?
wa 2 C
(3) D (@) E
{5) BothBand E

8. ‘Companies must
ues to thetr products that

ta-
not only distinguish thelr tmitc-
umbuta.lsoaddtomstomefsat

isfaction.’ :
Which of the statements nu-
bered (a), (B), (C). (D} and (E)
mentioned above proves the
abave statement most approprt-
ately ?
(A
@) BothAand B
(3 BothAandE
{4) BothAandC
(5) BothBand D
Directions (6-11) : Study the fol-
Jowing information carefully and answer
the questions given below :
(RBI Officer Grade ‘B’ Phase-1
Exam. 21.11.2016)
Seven people namely M, N, O, P,
Q. R and S like seven different genres
of music namely Classical, Hip-hop,
Pop, Jazz, Opera, Rock and Electron-
ics but not necessarily in the same
order. Each person also works in the
same office but at a different position
on the basis of seniority namely Train-
ee (TE), Assistant Manager (AM}, Man-
ager (MG), Senior Manager (SM), Chief
Manager (CM), Executive Director (ED)
and Director (DR) but not necessarily
in the same order. (Please Note: The
positions have been given in increas-
ing order of seniority with TE being
the junior most position whilst DR be-
ing the senior most position.}
Only one person s senlor than O.
The one who i8 senior than O likes Hip-
Hop. Only two people are junior than
R. M is junior than R and likes Elec-
tronica. M is not the junior most. Q is
Junior than the CM but senior than the
one who likes Jazz. The one who likes
is not the senfor most. S likes Classi-
cal, The one who likes Pop is senior
than @ but not the ED, P does not like

Pop.

arket

%
ki
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8. As per the given arrangement, R
is related to Opera and @ is re-
lated to classical in g certain way.
To which of the following is P re-
lated to in the same way?

{2) Pep 2} Jaz=
(3 Rock {4) Electronica
(5) Hip-hop
7. Whoamongst the following works
as a MG?
' (YR 2 @
. s @r
(5} Other than those glven as
1 options
8. Which of the following patrs rep-
1 resents the people who have less
experience than P and more ex-
perience than Q7
(I} M S
] @ N, P
{8 N, 0
9. Who amongst the following worka
as aTE?
np
MR
%o
10, Which combination represents
the position at which N works and
the music genres that he likes?
(1) CM-Rock (2) CM-Pop
{3} SM-Classical (4) MG-Opera
(5) MGJaz
11. Which of the following .auste
genres does R lke?
(1) Electronica
(2) Pop (3! Rock
{4} Hip-Hop {5) Jaz
Directions (12 - 186) : Study the
following information carefully and an-
swer the questions given beilow :
(RBI Officer Grade 'B’ Phase-}
Ezam. 21.11.20165)
Eight people A, B, C, D, E, F, G
and H, live on eight different floors of
buflding (but not necessarily in the
same order.}
The lowermost

@ RO
@ MO

@ N
4 s

floor of the build-
Ing is numbered one, the one above
that Is numbered two, and so on tifl
the topmost floor js numbered efght.
Each one of them plays a different
amenanmly-SanAndreas. )
Contra, Castlevania, Resident Evil,
g::kglat Do;-agon Quest and Metal
ut not n
oo ecessarily in the same
G iveson an even numbered
above the floor Numbered two, gg
three people live between the G and
€ one who plays Roadrash. E Jjyeg

l

immediately below the one who plays

drash.
Roaomy two people live between E

and the one who plays Tekken3. C]aysuvea
immediately above the one who p

Tekken3, The one who plays San
Andreas lives on an even n

r below C.
floo Only two people llve between the

one who plays San Andreas and the

The one
one who plays Dragon Quest.

who plays Metal Gear lives immediate-
ly below B. B neither lives on the top-

most floor nor plays Roadrash.
F lives on odd numbered floor but

not the lowermost floor. Only two pel;)-
ple live between F and the one who

playa Resident Evil.
Only one person lives between D

and the one who plays Contra. H lives
immediately below the one who plays

Castlevania,
12. Which of the following games

does D play?
(1) San Andreas
{2) Roadrash
(4) Metal Gear
{5) Castlevania
18. How many people live between
G and the one who plays

Tekken3?
{1) One
{3) Two
{5} Five

14. Which of the following statements
Is TRUE with respect to the giv-
en information?

(1) G plays Resident Evit

{2} Clives immediately below the
one who plays Contra

{3) All the give statements are
true

{4} Blives Immediately above E,

(5) Only four People live between
F and the one who play road-
rash,

18. Who amongst the following live
exactly between A and the one
;vho Plays Dragon Quest?
1} D, the one wheo 1 -

dent B Plays Resi
@ DB
3 EH

@) E.TheonehmvplaysTekkena
(5) 23’}[111& one who plays Roagd-

(3) Tekken3d

{2) None
(4) Four

——

18. Four of the following five
in a certain way ang g (. ke

group. Which one of i, {.:ma
Ing does not belong to the ourn
(1} A-Contra "
(2) H-Castlevania
(3) F-Tekken 3
{4} B-Dragon Quest
(5) C-Roadrash
Directions (17-21) . Study 4,
following information and
swer the questions given belgy, ,
(RBI Officer Grade ‘g .
Exam, 21‘11'30151
Seven flights are bound ¢ fly 1
different cities viz. Dubay, sdeey
London, Paris, Zurich Madrig ang
Rome from Monday to Sunday o the
same week. Each flight departy o ,
different time viz. 4 pm, 5 pm, g
7 pm, 8 pm, 9 pm and lOpmmthe
night on their respective days, None
of the information given i necessanyy
in the same order.
The flight to Dubaj departs on
Wednesday but neither at 5 o at g
pm.
There {s only one day between the
flight to Dubai and the flight which
departs at 10 pm.

There are only three days between
the flights which departs at 5 Pmand
the flight to Rome.

The flight which departs at 5 pm
departs before the Rome bound flight.

The flight which departs on Mon-
day neither departs at 5 P nor does
if fly to Sydney.

The flight which departs on Sat-
urday leaves at a time before the flight
which departs on Tuesday (i.e. if the
Tuesday flight departs at 7 pm then
the flight on Saturday departs at 6, 5
or 4 pm.)

The flight to London departs on
the day immediately before the day on
which the 8 pm flight departs.

The flights to Paris departs at 7
pm,

There is a difference of 2 hours
between the Zurich bound flight and
the London bound flight (Le. if a Lon-
don bound flight departs at 4 pm then
the Zurich bound flight departs at el-
ther 2 pm or 6 pm on its respective

T ————ee .

day).

(R
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N 1
. a% /
o f, el!u‘Q aght departs on the day Dirvections (29-27) 3 Study the The Jower most floor of the bullding
© ro"" A ' ‘m,::-’:i!l“"y after the day on | following information carefullytoan- | is numbered one, the one above that 18
® Gy, 17 €Sy, parts bound fight de- | pwer the questions given below numbered two and so on until the top-
/Y T o .
; I“"’? gt at? {Rnl Officer om-o:“n;;.:‘:} rmmtJ m is n;mbered elght .
Jl ™ Abulldlnghuaevc;'lﬂo.on.num- one pcruo?nmnv:rb:twem J and?..ng
wﬁnuht*’“"‘d“"“"’“ bered one to seven, in such a way that uvesonmeﬂoormuned!atebfbelowl.
Thusday: he Parls bound the ground floor is numbered one, the | Only one person lives between O and P.
 None &2 the @ 'eunday floor above it, number two and so on | O lives above P. K lives onan sven num-
Yy, nght dcp':.:,.,ch departs at 5 such that the topmost floor Is num- | bered floor but not on the floor num-
r:‘d‘hf . The fught bered seven. One of the seven peo- | bered two. Only two ltve be-
i : am nd flight ple viz, A B, C. DL E. F and G lives | tween K and Q. Q does not live on the
- ﬂmz"“d’b"" fligh on each floor. A lives on fourth floor lowermootﬂoonNuvesononeofﬁ:e
20, V., arwhat (me docs the Sydney | C lives on the floor immedlately below | floors above ©.
Y md @t depart® B's floor. Two people live between the | 28, Which of the following statements
n o g 9pm 2} 10pm floors of D and G. One people lives is true about M ?
:y. : 6pm (4) 8 pm between the floors of G and A. Four e abou o
K 4 p0 people live between the floors of C (1) Klives ately
‘:'he " “ which fight dcp;x‘}. exactly )} | andF. (2) All the given statements are
a S ufter the Sydney bound | 28. Who a true.
. f'h‘-;:' on its scheduled day? on the E;ﬁf{%ﬂ?,‘,ﬁ,‘”"‘“s lives (3) Only two people live between
:’ ;1) The fiight which departs on (1) F @ B Mand Q.
L'; priday 3 a 4) D (4) M lives on the lowermost floor
Pom e fught which departs on 8 E (8) M lives on an odd numbered
i 24. Who am floor.
: t which departs ong the follow!
g o }ge pglh parts at { dlatelg above D's ﬂt%:!’:’v“ 29, Who amongst the following lives
* & TheLandon bound flight (1 a @) E on the floor number aeven ?
3 19 The Rome bound flight @ F @ A ()P
, 2 The pubal bound flight reaches 5 C (2) Cannot be determined
-7 pubal In 4 hours after its start, 28. Four of the following five are @ o
If the flight stopa over at New alike In a certain way and hence N
Mi?ﬁhﬁﬁcw Lme, form a group. Which one of the )N
:1:: lnah'cw Delhi? ¢ fightar- following doest not bclong to 80, Four of the following flve are
1 8pm 2 11 pm that group? alike 1n a cenaln way based on
"3: 7 ) 6 P 1) B (2) D the giv 'n arrangement and thus
mﬂdn pm 3 G @) E form a group. Which of the fol-
& ight (5) F lowing does not belong to that
11 Which of the following flights | 2g. group ?
departs at 10 pm? Who among the following lives (1) PL
(1) The flight which de on third numbered floor? 2 MQ
: Priday parson ) E @) F (3) oM (4) LN
| @ TheZurich bound flight @ G (4) C a1 5’,’119“
i 1 The fiight which departs on (51 D " on &anfllongst the following lives
Friday 27. Who among the following lives 0 08 oor numbered three ?
I3} The Paris bound flight exactly between the floors of E @) P
i3 The ﬂlghl dcpcndjng on the and F? (3) N. 4) L
ga%’n lmlgoediatcly before the nc @ A DR
ayy li ¢y bound flight (3)D @ G 32. Who lives exactly between the-
T s subtractedw wcad@t and (5) None of these floors on which J and L live ?
UGt in the number 7243651 Directions (28 - 33) * Study the me 20
“hichof uwaHM’Snunﬂm wll! following information carcrully and an- | )N ne
Ihugi fu twice in the new number swer the questions given below : (5 M
0 Bo?hn:d? (NABARD Officer Grade ‘A’ | oo 1 Pand L interchange their plac-
9 Onyy | &3 (2)Both3&7 Online Exam, 01.03,2016) :j’ who will live between P and
5 Nor (4) Only 9 Eight friends - J, K. L, M, N, O, P ¢
and Q ~ live on efght different floors of a (1 J (2) Noone
2) L (4) O

Grade ‘A’ | bullding but not necessarily in the same
Online Exam, 01.03.2018) | order. ©

5) @
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| PROBLEM SOLVING |

’ (1) 42 (2) 8 C. Have aecured 60% marks in, the | 16
Group Dlscussion.
URAN EXAMS] (4) 84
[ INS CE )] T?U,.md India Insurance co] D. tli::eﬂ::fured 70% marke In tp, ii
Diroctions (1-8) : Theae questions AAD Exam. 21.04,2002 n . .
are based o?t.hg foliowlng statement : 8 Sixboys A, B, C, D, Eand F E. Have good record of hie work *
(United Indfa msurance Co, play a game of cards. Each one performance. ;
AAO Exam, 21.04.2003] has a Pack of 10 cards. I bor- F. Have good mmunlCauOn sk“l [
Acube of side 10 cm is coloured rows 2 cards from A and gives and gets along well with his cq). 5
red with a 2 cm wide green strip along away 5 to C who In his turn gives leagues.

all the sides on all the faces. The cube

is cut into 125 smaller cubes of equal passn?t}?l;elh;?reﬁn :ngﬁf:];:: less than 30 years as o
e ber orcan .03.2007
Now answer the following questions ber of cards now? ’ :l :‘ v‘:::‘,g i academic it
based on the above statement : (CE (21A. B . et ationm, %%Wmarks'
1. How many cubes have three (NAF (4 B, F in the came of & oo
green faces cach? (United India Insurance Co. Howev]clr.
(o (2} 4 AAOQ Exam. 21.04.2002) date who - " .
@6 (4)8 9.1fA+B=15 B+ C =17, I. Satisfles all other conditions ex.

2. How many cubes have one face
red and an adjacent face green?
(1;0 2)4
{316 {4)8

3. How many cubes have at least
one face coloured?

|
3 to B while B gives 6 to D who G. Not be more than 40 years ang |

2A>B+CandA + D = 2C, then

{(DA>B=>C>D

21C>D>A>B

3ID>C>A>B

{4 B>C>D>A )
(United India Insurance Co.

" cept (D) above but has secured |
75% marks in the written teat |
and 65% marks In the Group
Discussion, the case is to be re.
ferred to the General Manager
(Personnel}-GM (P} for the deci-

{1)25 (2) 50 AAOQ Exam. 21.04,2002) sion.
3) 98 {4) 125 Directions (10-14) ; In each of the J. Satisfies all other criteria except
: following series two terms have been (H) above but has secured an av-

4. How many cubes are without any
colour?
(1o (2) 1
{3)8 (4)27
8. How many cubes have at least
two green faces each?
()8 (2) 44
{3)63 4) 71

are novels, story-books, dramas

and comics. Every novel has a

drama next to it, every story-
book has a comic next to it and
there Is no story-book next to a
novel. If there be a novel at the

top and the number of books be
40, the order of the books in the
plie is

(Nndsec 2)dncs
(3esdn 4nscd
(United India Insurance Co.

AAO Exam, 21.04,2002)

put within brackets. Mark in your an-
swer sheet.

(1) if both the bracketed terms are
(2} If the first bracketed term is

(3) if the first bracketed term |s

(4) if both the bracketed terms are

10. 0, 3, 30, (65), 105, (170), 252
11. 8, (13), 22, (33), 46, 61, 78, 97
12. 2, (5), 14, 23, (34), 47, 62

13. 0, 3, 8, (28), 40, (65), 128

14. 1, (3), 8, 16, 28, 48, (68)
Directions (15-22) : Reag the fol-
lowing information carefully and an-
swer the questions that follow. Follow-
ing are the conditions for Promotion

erage of more than 60% marks,

the case is to be referred to the

Managing Director (MD) of the

organisation.

Now read the information pro-
vided in the case of each candidate in
each of the questions given below and
decide on the basis of the information
provided and based on the above con-
dittons, which of the courses of ac-
tion you would suggest. These cases
are given as on ] 1.3.2007 (Remem-
ber you are not to assume anything
which is not provided in the question).

15. 34 years old Ramesh has se-
cured 76% marks in the written
test for promotion, 66% marks

in Group Discussion and 67%

marks in the interview, He has

good academic record with an
average of 68% marks, good

(United India Insurance Co.
{AAQ) Exam. 11.03.2007)

right;
right and second is wrong;

wrong and the second is right;
and

wrong,

L
\

U T -1

b e ——

7- nl j . []
m’i;z;; Ej‘;ﬂ;";’g:;tg O:Jfgoom from Junior Officer’s Cadre to Senior communlcat!on skill and gets
bered as G, 1.2 .. 1a In“(::_’: Officer's Cadre In an organisation along well with his colleagues.
der o o t'he' o ﬂc;or o (United India Insurance Co. His work performance Is good
has to climb 42 steps, If the 1AO) Exam, 11.03.2007) o herghaaan st cd 6 years
number of steps between any The candidate must- in theo isation.
two floors be the same, how { A Have completed atleqst 5 vears (1) Promote
ManY steps in all will one haye In the organisatjon, (2) Refer to MD
Et;t’h cflllmb In order to reach the | B. Have Secured 65% marks In the (3) Refer to GM (p)
o0r from the 5th flggpp ] written test for promotion, (4) Data inadequate

~{ BPRE-$3p ) . .
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1
i Madhu has secured
"Qrk‘ “‘u 'I 6 MY“":::S in the written test
g, | e0%®™ otfon, 72% marks in in-
LY Y forP' . and 69% marks In
l rervi€ jon. She has good

t comm™ her colleagues.
th :1:"!!;; ; a"’"ﬁ;e,g o“;'lgork perfon:?nce
y H}rood and she has completed
?eaha ls% vears {n the organisation.
¥ ag Y | 3, pefer to MD
O | ) Do not promote
o, promote
3 "'a:{:' :f}] pata inadequate
3 ¢ | years old Jairam secured
%"dl. 7.3 76 marks in written test for
on gmmoum- 72% marks in Inter-
e o view and 62% marks in Group
::u'bd piscussion. He has good aca-
o teg demic record with an average of
Ty 79 marks and good communi-
b"re. cation skill. He has completed 9
Rage years in the onganisation. He gets
ey | asilyannoyed and irritated with
: pis colleagues and his record of
ooy work performance since the last
Ty, two years is just average.
iy {1) Promote
the (@)Refer to GM (P}
the (3) Refer to MD
{4) Do not promote
- 18. 33 years old Ravi has secured
In 63% marks in Group Discussion,
d 71% marks in Interview and
n 66% marks in written test for
|+

o,

| PROBLEM SOLVING |

GrouP unication skill and gets

promotion. She has good aca-
demic record with an average of
68% marks and has good com-
munication skill. She gets along
well with her colleagues and has
good record of her work perfor-
mance. She has completed 6

{1) Do not promote
(2) Refer to GM (P)
{3) Refer to MD
{4) Data Inadequate
20. 38 years old Mahmud has se-
cured 65% marks In the written
{est for promotion, 73% marks
in Interview and 62% marks In
Group Discussion. He has good
record of his work performance,
good communication skills and
gets along well with his col-
leagues. He has good academic
record with an average of 61%
marks and has completed 7
years In the organisation.
(1} Refer to GM (P)
(2) Refer to MD
{3) Promote
{4) Do not promote
21. 32 years old Jayant has a good
academic record with an aver-
age of 66% marks. He has se-
cured 87% marks in Group Dis-
cussion, 75% marks in interview
and 60% marks in written test
for promotion. He has good com-
munication skill and gets along
well with his colleagues. He has
good record of his work perfor-
mance and has completed 7

years in the organisation.
(1) Do not promote
(2) Refer to MD
(3) Refer to GM (P)
(4) Data inadequate

22. 39years old Suresh has secured
66% marks in written promotion
test and has a good academic
record with an average of 62%
marks. He has secured 65%
marks in Group Discussion and

launched is consistent with the follow-

ing conditions :
{General Insurance Corporation

AAO Exam. 11.12.2011)
** jslaunched before both Y and Q
Q gets launched after 2
T gets launched before V but af-

ter R

S gets launched after V
R gets launched before W
28. Which one of the following could

be true ?
(1) Y is the second product tobe

launched
{2) R is the third product to be
launched

{3} Q is the fourth product to be
launched

(4) S is the fifth product to be
launched

24. IfZ is the seventh product to be

launched, then which one of the

following could be true?
(1) W is the fifth product to be
launched
(2} T is the fourth product to be
launched
(3) R is the second product to
be launched
(4) V is the 6th product to be
launched
25. If Q is the 5th product to be
launched then each of the fol-
lowing could be true except :
(1) Z is the first product to be
launched
(2) T is the 2nd product to be
launched
(3) V is the 3rd product to be
launched
{4) W is the 4th product to be
launched

years in the organisation. 72% marks in interview. He has
(1} Refer to GM (P) good record of his work perfor- 26. If S is the fifth product to be
2) Do not Promote mance, gets well along with his launched, which of the follow-
{3) Pro Mo colleagues and has good commu- Ing Is correct?
mote nication skill. He has completed (1) @ is the second product to
{4) Data Inadequate 6 years in the organisation. be launched
19. Dinesh has secured 70% marks (1) Do not promote {2) V is the seventh product to
In written test for promotion, (2) Refer to MD be launched
69% marks in Group Discussfon (3) Refer to GM (F) (3) T is the sixth product to be
and 72% marks in the interview. launched
:Vf; l:las a good academic record (4} P':l’mot'i ) (4) None of these
an average of 67% marks. Directions (23-26) : A company Directions (27-29) : Refer to the
Hehas good record of work per- | launches eight products- @, R, S, T. | fyliowing table. Given below are the

formance anqg gets alon
g weil
With his colleagues. He has good
:gzmlunlcation skill and has
Pleted 7 years in the
Organisation,

U V., W, Y, and Z in one of the four
metros of India. The products were

period of 6 months in 2006. The or-

Iaunched one after the other over the’

win loss historles of four tennis play-
ers in three set matches and number
of matches played.

(General Insurance Corporation

der in which the products were

H-__

AAO Exam. 11.12.2011})

TRt *:
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ed from bus stop P,
[ l 4 I 2 I R ’ S—’ mge::la::;ct?:ln engine trouble and
Won2-0 |23 18 10 16 reached bus stop @, 40 minutes
Won2-1 [ 13 16 13 14 late. What is the distance be-
[Lost0-2 75 | 13 |16 [ 13 ] tween the bus stops P and @ ?
[ost1-2 [°6 T8 20 7] L Theenglnetmublelc‘l:;vel?ped
27. If a win carries an award of after travelling 310 . Sd"Qr:“
Rs.1500 and a loss of Rs.1000 bus stop P and the spee

which is the largest difference
in prize money eared among the

four?
(1) Rs. 7000 {2) Rs. 14000
4) Rs. 9000

(3 Rs. 5000
28, Asmmecaseabave. what is the

(3) Rs. 1195 {(4) Rs. 1150

2. Asin thecaseabove.whatisthe

highest average prize money
Wwon per match by any player ?
(1) Rs, 1495
{3) Rs. 1460 @ Rs. 1410
Directions (30-37);
(General Insurance Corporation
AAO Exam. 11.12.2011)
Follow the given Instructions ;
Eachltemhas a question followed
by two statements,
Mark (1) if the question can pe
answered by statement | alone.
Mark (2} if the question can be
answered with the help of I alone.
Mark (3) if the question ean be
answered with the help of both the
Statements but not with the help of
either statement jtseif.

Mark (4) if the question cannot
be answered with the help of both the
Statements,

30. The average of three quotations

for a particylar item is Rs. 120,

Is the highest quotation less than

or equal to Rs. 1397

I. The lowest quotation is of
Rs.90.

Il. One of the
125,
31. How many
nomic Tim
press?

L Outor 300 readers, 200 read

clal Express, 209 read
Economie Tymesg and 50 read
Indian Expregg

L. Qutor total 300 readers 229 .
read Economie Times, 200
reads Financiaj Express ang
50 read Neither

quotation {s Rg,

Ppeople, read hoth Eco-
€S and Financia] Ex-

duced to 41 th of the original

speed. toped
II. The engine trouble develo;

after travelling 40 kms from

bus stop P in 2 hours and

1
the speed reduced io 2 th

of the original speed.
33. What is the value of prime num-
ber x?
I. x+yisatwo digit number >
50.

IL gis a two digit number,

34. What is the Time difference in

Nairobi and Mumbai ?

. The departure time at Nairo-
bi is exactly 6 P.M. Jocal time
and the arrival time in Mum-
bat is next day 3 AM local
time.

IL. Flight time {s six hours,

35. Sujata is the eldest daughter.
What is the current age of her
father ?

I.  Current age of Sujata is 25
¥ears and current age of her
sister Sangeeta ig 20 years,

Sangeeta's current age is

1

1L

38. Alka has two sisters and one

brother. How many sisters doeg
Sandhya haye 7

L AlkaandSandhya are Sisters,
1. Sandhya hag one brother

37. Madhay likes car x because itg
cost Rs. 5,00,000 is cheapest

ll. Keshav's budget is around

Rs. 5,50,000 ]

—~—{ BPRF. naw) -

‘the month and can,
30th Scptember. S0 on y,; o
day of the month gjq he reluhlnh
(1) Fourth Sung ™2
2) Fotrth Tuesday
3 Fifth Thursday
@ 'Ihh'dSaturday

39.1r Thursday wag th ¥ afe
the day before Yeaterday P
days ago, what 1 the] ve
ber of days 8go whep g
was three days before the g,
after tomorrow 9 ¥
2]

1) Two
(3) Four

y Em.m.u.mm
40. Which of the following
sions will not be true H?hlzrg:
pression U< V « W<X<Y=z
2A=B>Cis deﬁnitelytrug?
mMz>c @ U<y
BY->v Wz<y.
{5 B<Y
(United India Insurance Ao

Exam. 26.05.204,

Directions (4 1-45) ; Study the

following information and an.
swer the questions Eiven below .

(NIACL Administragyye Officer

(A0} Exam, 10.01.201p)

Eight People J, K, L, M.N, o, p

bered 8,
L lives on flgor nNumber 5, Only
One person lives between L, and Q,
lives on an odq numbered flgor.
one person !ivesbetweengandd-
Only three People lve between p
and M. M liveg below P. P does not
live on the topmost flgor,
K neither liveg immediately above
Q nor immediately above O,
41. How Mmany people live between
the floors on which PandJ live ?
(1) Three 2} Two
(3) One {4) None
(5 More than three
42. On which of the following floor

numbers does K live ?
1) 8 2} 2
3 4 @3
5 6
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l ; /.:;:onowiﬂg“we

o) : ch b c
lo:?q'. ' ﬁﬂmﬁ)gaspa e ghv:
wy O inft
tul:;olx i :l'; Nlives unmed;l:egv ib::;eolv:
? five peo,
@ only
9 :mes onanodd numbered
- HV;S on the topmost floor.
::? " ((;; " two people live between
’ﬂel N and K.
lg among the following lives
w | #50 17
o, floor number
: on
X WK 2J
Y oau 4 9
e P
who lives on the floor immedi-
$
w | atelybelowO?
3t e @9
- @ () K
3
N
2 - (46-80) : Study the
information carefully and an-
gwer the questions given below :
(MIACL Administrative Officer

(A0) Online Exam, 11.01.2015)
' Eight persons - S, T.UV WX
yand Z - live on separate floors of an
eight storeyed bullding. Ground floor
js pumbered 1, the floor above it is
qumbered 2 and so on such that the
topmost floor I8 numbered 8.
¢ Tlives on floor number 6.
¢ W lives on an even numbered
floor.
» W lives immediately below the
floor of X.
¢ Only one person lives between
Sand Z.
¢ Slives below the floor of Z.
¢ Ulives on the lowermost floor.
¢ S lives immediately below the
floor of T,

¢ Vdoes not live on the topmost
floor.

8. On which of the following floor
Numbers does V live ?
{12 23
34 45

) 57

7,
g“"’ many persons live between

¢ floors of T and W ?
e
One
4

{8) None ) Four

48. Which of the following state-

ments is true with respect to T

as per the given information?

(1) T lives tmmediately above X

(2) Only three persons live be-
lowT

{3) T lives on an odd numbered
floor

(4) T lives immediatley below Z.

(5) Only three perrons libe be-
tween T and U.

Who amongst the following lives

on the floor immediately below

z?

12

3)s

®eT

. Who amongst the following lives

on the floor number 5 ?
25
@u

49.

@v
4y

v

(31X

B)w
Directions (31-84) : Study the
following information carefully and an-
swer the questions given below :

(NIACL Administrative Officer
(AO) Online Exam, 12.01.20106)

Six lectures are scheduled in a
week starting from Monday and end-
ing on Sunday of the same week. Com-
puter Science is not on Tuesday or
Saturday. Psychology is immediately
after Organisational Behaviour. Statls-
tics is not on Friday and there is one
day gap between Statistics and Re-
search Methods. One day prior to the
schedule of Economics there is no lec-
ture (as that day is the ‘offf day and
Monday is not the ‘off day).
81. Which of the following is the last

lecture scheduled ?

(1) Statistics

(2) Research Methods

(3) Psychology

(4) Cannot be determined

(5) None of these
82. How many lectures were sched-
uled between Economics and
Psychology ?
(1) One
(2) Two
{(3) Three
(4) Cannot be determined
(5) None of these
83. Which day is Computer Science
scheduled ?
(1) Monday
(2) Wednesday
(3) Thursday
(4) Cannot be determined

ing, Singing,

. L o

84, If Wednesday was the *off day,
the code would be 24, If Thurs-
day was the 'off’ day, the code
would be 3-3. Taking account
the ‘off’ day. which of the follow-
fng code is correct ?
mz-4 2)3-3
N4-2
{4) Cannot be determined
{5} None of these

Directions (55-59) : Study the fol-

lowing information carefully and answer
the questions given below :

ICL Specialist Officer (Finance)
. pect Exam. 03.05.20185)

Seven persons, namely A, B, C,

D, E, F and i will be participating in
seven different activities for ann ’
college festival namely, Baking, Danc-
Painting, Acting, Running -
and Miming (not necessarily in the

same order), from Monday to Sunday .

of the same week).

F will participate on Wednesday.
Only one person will participate be-
tween F and the one who will partici-
pate in Acting. The one participating
in painting will participate immediate-
ly before the one participating in Act-
ing. C will participate immediately be-
fore E. Neither C nor E will participate
in Acting. Only two persons will par-
ticipate between C and the one who
will participate in Miming, The one who
will participate in Baking will partici-
pate after C (May or may not be imme-
diately after). B will participate imme-
diately after the one whc -vill partici-
pate in Running. Onlytwo :rso will
participate between G an . A. U will
participate before A. B wili not partic-

ipate in Singing,

55. Four of the following five re alike
in a certain way as per {  given
arrangement and hence orm a
group, Which of the following does

not belong to that group?
(1) E-Saturday
(2) G - Monday
(8) F~Tuesday
(4) A - Wednesday
{(5) D - Thursday
56. Which of the following pairs rep-

resent those who will participate
immediately before and immediate-

ly after F?
(1) Other than those given as op-

tions
2 AC
(4) B.A

3B, D
) G C

{5) None of these

o
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B7. As per the given artangement, B
is related to painting and D is re-
lated to Baking in a certain way.
To which of the following s A re-

lated in the same way?
{1) Running (2) Dancing

(3) Other than those given as op-

tions

(4} Acting (5) Miming

88. On which of the following days will

G participate?
(1) Monday
(8 Friday

{5) Thursday

(2) Saturday
(4) Tuesday

80. In which of the following activities

will D participate?

(1} Other than those given as op-

tions
{2) Painting

{4) Running

(3} Singing
{5) Acting

Directions (60-63) : Study the
following information carefully and an-

swer the questions given below :
(LIC Assistant Administrative Officer
{AAO} Online Exam, 05.03.2016)

Eight persons — B, C, D, E, F. G,

Hand I — live on eight different floors

of a building but not necessarily in the
same order. The lowermost floor of the
building is numbered one, the floor
above that is numbered two and so on
till the topmost floor is numbered eight.
D lives on the floor numbered 5.

Only two persons live between D and
L. Blives immediately below |, Only four
persons lve between B and C. H lives
Immediately above C but not on the top-
most floor. F lives on an odd numbered
floor. More than two persons live be-
tween F and E.

60. Fourofthe following five are alike
In a certain way based on the
above arrangement and hence
form a group. Which one of thern

does not belong to the group ?
() GF @ EC

3 ID (4) BC

(8 HF

61. How many persons live between

landC ?
(1) One

62. If all the persons are made to live
in alphabetical order from bottom
to top, the positions of how many
persons will remain unchanged ?

{1} More than three
(2) None (3) One
4’ Two (5) Threc
63. Who amongst the following lives
immediately below E ?
(1} D @c
¥ G @1
(6) H
Directions (84-885) : St‘;‘; the
on carefi an-
swer the questions given below
(LIC Assistant Adminfstrative Officer
{AAO) Online Exam. 08.03.2016)
Five namely, A, B, C, D
and E buy different number of cook-

ies. C buys more cookies than both B
and E. D buys more cookies than B

Jowing information
the questions given below :

but less than A and E. A does not buy
the maximum number of cookies. E
does not buy the third highest num-
ber of cookies. The one who buys the
maximum number of cookies buys 20
cookies,

64. Who amongst the following buys
the second lowest number of

cooltjes 7
(1) B
3 E
e A
63. If the difference between the

cookies bought by Cand A 1s 8,
then which of the following may

- possibly represent the number of
cookies bought by E ?
M 12 2) 8
@) 15 45
(5} 10 -
Directions (66-70) : Study the fol-
and answer

(2 D
4 C

(LIC Assistant Administrative Officer
{AAO) Online Exam, 08.03.2016)
Seven persons, namely, A, B, C,

D, E, F and G like seven different ¢co-
lours namely, Blye,

Pink, Silver, Red and
necessarily in the same order, They will
also attend a wedding, not necessarily
in the same order,
Sunday (of the same week.)

Green, Orange,
Yellow, but not

from Monday to

E will attend a wedding on

(2) Three
(3) More than three
{4) Two (5) None

Wednesday, Only one person will at-

tend wedding between E and the one

lowing information
the questions given below :

———
who likes pink. Only two persong - 1%
attend a wedding between the ong ) 49
likes pink and the one who Iikes v 9y
low. Only three persons wil] atteng . v
wedding between the one why 1y a“d
Pink and C. B will attend a Weddy, :Doqi
immediately after the one whgq § Y
pink. Only one person will atteng . ﬂ“ |
wedding between B and A. D wy) My o
tend a wedding immediately befor, p O p
Only one person will attend a“’Eddiné 2 d
between F and the one who likes ’ﬂgl
F likes neither blue nor orange. 1y, 4
one who likes silver will attend a yoq. 9
ding immediately before the one whe K
likes blue. :::;‘
68. On which of the following day, p

will G attend a wedding ?

(1) Monday  (2) Tuesday

(3) Saturday (4) Thursday

(5) Friday
67. Which of the following colourg

does D like ?

(1) Silver (2) Blue

(3} Pink (4) Orange

(5) Red
68. Four of the following five are alike

in a certain way as per the given
arrangement and hence form 3
group. Which of the following

does not belong to that group ?
(1) A-Pink (2) D-Blue
(3) C-Yellow (4) C-Silver
(5) E-Orange

69. As per the given arrangement A
18 related to Saturday and C is

related to Sunday in a cerlain
way. To which of the following is

B related to in the same way ?
(1) Wednesday
(2} Tuesday
{4 Monday

(3) Friday
(5 Thursday

Which of the following patrs rep-

resent those who will attend a
wedding immediately before and

immediately after E?

(1) D, A @} B.A
@) AD @cCaG
5) G A

Directions (71-74) : Study the fol-

and answer

(LIC Assistant Administrative Officer
(AAO) Online Exam. 06.03.2016)
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78, If the difference between the

?Q"H ; lP“”"o""s different ﬂo:;s?::f: number of competitions won by
Sw | Pjweon et ¢ essartly In the B and A ts 16, then which of the
" sﬂ‘:dm_g. put 7O L most floor of the following may possibly represent
1 oo order 11::“ ered one. the one the number of competitions won
Iy, ﬁﬁmg h:;:mm red two and so on by E?
u,‘;g hat is numbered elght. (5 @) 25
LN ﬁgme“* on the flooF pumbered 3. @) 7 4 14
N p ived person ves petween J and 6) 23
;?h". II O"gn;,ne shree personcs i::::l; :‘ﬁnﬁf 76. Who among the following won the
X é P;l 2.0 m;an  people between O second highest number of com-
M | Jere 5 22 ore between Pand @ petitions? |
oy, arld"”s,nevmn bered floor. Only (1 c @E
by | gwes s live betweert KandL. K @ D B
[ [Mf‘oﬂp Eal‘lY floor above L- 5 A
yy | pour of the five are alike Directions (77-81) : Study the fol-
’ 7 a certaln way and hence form | lowinginformation carefully and answer
2 group- ‘Which one of them does | the questions given below :
| A belongtothe group? (LIC Assistant Administrative Officer
| ) LP {2) OK {AAO) Online Exam. 08.03.2016)
] MO (4) KN Seven persons, namely M, N, O,
N @ o P, Q. Rand S like seven different cars
i namely, Volkswagen, Audi, BMW, Mer-
5 whoamongst the followlng INCS | cedes, Nissan, Jaguar and Fiat but not
| ;mmediately below necessarily in the same order, They will
Fome 2K also attend a screening not necessari-
@ P {4 O ly in the same order, from Monday to
. & Noone Sunc]:day (?lf the same week).
- made to live will attend a screening on Fri-
s pombatiom | 927 0T oo D b
© otop, the positions of howmany | oy nM and the one who
aguar. Only two persons will
people will remair;)u gchanged? attend a screening between R and the
{1) Two (2) One one who likes Jaguar. The one who likes
(3 None . {4) Three Nissan will attend a screening imme-

' @ Morethanthree
| 74, How many people live between
Qand F?
(3 None (4) Two
(5) More than three
Directions (75-76) : Study the fol-
iningnformation carefully and answer
the questions given below :

IC Assistant Administrative Officer
% (AA0) Online Exam. 06.03.2016)
; Fvepersons A, B, C, D and Ewon
* diferent number of competitions. Only
. Wopersons won more number of com-

Kitns than E. B won more competi-

%ns than D but less than A. C won

ﬁmﬁzmpetlu:ms than D. C neither
ling nl;aJdmum number of compe-

second lowest number of
o . The one who won the sec-

number of
accmPEﬂ tions, competitions won

diately before N. Only two persons will
attend a screening between the onewho
likes Nissan and O. O does not like
Jaguar. Only one person will attend a
screening between the one who likes
Mercedes and O. Q does not like Nis-
san. S will attend the screening imme-
diately before Q. Only two persons will
attend a screening between @ and the
one who likes Audi. Only one person
will attend a screening between the one
who likes Volkswagen and the one who
likes BMW. The one who likes BMW
will attend the screening before the one
who likes Volkswagen. N does not like

Audi. .
=7. Which of the following pairs rep-

resent the persons who attend
screening immediately before and
immediately after M?

(1} R P 2N, O
3 NP @990
% Q.N

—

78.

81.

Four of the following five ave itke
as per the given arrangement and
hence form a grovp- Which of the
following does not belong to that

group?
(1} M-BMW 2) Q-Audi
(3) S-Mercedes {4) P-Fiat
(5) R~Jaguar
. On which of the following days
will N attend a screening?
(1) Tuesday (2) Monday
(3) Wednesday {4) Thursday
(5) Sunday .
. Which of the following cars does
P like?
(1) Audi (2) Nissan
(3) BMW {4) Fiat ,

(5) Cannotbe determined

As per the given arrangement S
is related to Thursday and R 18
related to Sunday in 2 ce
way. To which of the following is
Q refated toin the same W&

(1) Saturday (2) Monday

(3) Wednesday {4) Friday

(5) Tuesday
SHORT ANSWERS
NATIONALISED BANKS
& IBPS PO/MT/SO EXAMS
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165} | 222.1) [ 225.5) | 224.3 GRADE-A |[|(Thusdsy | w |Dim
g’-m 226.(1) [ 227.(1) | 228.12) OFFICER EXAMS S“:"“y S | Kolkata
4) | 25045 231.11) | 232.9)| [ [ 1.5 o rday Q | Chennal
::!-(31 234.(4) | 238.(5) | 236.14) 5:‘5 2.2 ] 303 | 4@ unday V | Bangalore
241. (51 | 238. (1)] 239, 2)] 240, (1) o (4) 6.8 | 2| 8. 1.(2} Q left on Saturday.
m. (3| 242. (2)] 243. (4)] 244, (5) 13: )_{10.2) {11.(5) | 12, @ 2.(3) V left for Bangalore.
m. (1) | 248. (3)] 247, (4)] 248, 2| [ @ _|14.15 |18.(3 |18, 0 3.{4) T left on Wednesday.
-3 | 280. (4)] 251, )] 2ma, (1) 9 118.(4) [19.(9) [ 20, 0 4.(5) All combinations are correct
383, (2) | a4, (1) 2L(5) J22.( - 8.(1) P left on Tuesda
« {1} 388, (4)| 280, (1) 23.2) | 24. (5 y.
397, (5) | 28, (3] 280, 3 38.(3) {26,(1) |37 @ (6-10) : On the basts of given inf"
%1, %) | 3ea. ﬂ!’m: 200, (1) 9.5 (30.(3 |3 . as. (3) mation and conclusions 8%
— — (8284, (1) | [ as. @ 1.{1) | 82, (2) auub-oonclus!omdmwﬁ"‘f
e - | them we can conatruct the d
e —— el Do L lowingchart



3.
ell a
¢on.

I ’/—

els
102 Et%vhmh F gets

mation .
following table:

g[’:
| (] Pathologist

[ g

{ PROBLEM SOLVING |

v

Base or

F get in

. On the basis
we can

gase or ]
eorl

after three sta-

ts
¢ (1, 11 and ).
down after two stations

I m

either at Base

down.
of given infor-
construct the

Profession

Berth

Lower

Upper

Middle

Lower

Middle

Upper

11. {1} Doctor

14D

38, (2) R-Lower-Architect

KT

14, {5) None of these

15 (3R
(16-20) :

Speclalisat-

ion

Favourite
Colour

Journalism

Yellow

Chil

Grey

T

Orange

Finance

Blue

Marketing

Pink

HR

Green

Pharmacy

Red

Girls

18, :n&;'is studying Civil Engineer-

1. ©)F, N and @ are girls.

8. (5) R studjes IT.

1 (1pyg 8tudying Journalism.
€ combination Blue ~ T ~

ce

:Q, N and F

Is correct,

S—

1.

248
21, (2) = = 31 [Condition (ii)]

31 + 25 = 56 [Condition (i)}
Now, 3 x 86 = 168
[Condition ()]

168

e

28
. (3) 24 x 3 = 72 {Condition (11))

72

18

= 6 [Condition (1))

4 [Condition (iif])

4
7 2 [Conditson {til)]

Now,
17 + 81 = 98 [Condition (i)]

14

7 x B =56 [Condition {ii)]
Product =2 x 568 =112

23, (3) 50 - 15 = 35 [Condition {iv)]
35 x 6 = 210 [Condition (if))
Now, .
210 - 125 = 85 {Condition (iv)}
85 x 2 = 170 [Condition (ii)]

7 [Condition (iii)]

130 + 10 = 13 [Condition (iif)]
S M= 13
13 x 12 = 156 [Condition (i1)]

156
26 - 6 [Condition (iif)]

28. {4)18 x 7 = 126 [Condition (1i)}

126 -
ry =21 [Condition (iti}

{v))
55 + 49 = 104 {Condition (i)}
Sum = 104 + 21 = 125

26, (2) %x students play football,

Remaining students = X 3

3x-2X _
3

X

.

'I‘h;erefore.
cricket.
.

6

—-_X
) 10

.

l‘_ et el WA t.h-!_a

(27-31):

Discipline
Electronica
Electrical
Mechantcal
Mechanical
Mechanical
Electrical
Electrical
Electronics

:

£

N$<-IU)FUO'UE

»|o|a|w|@=joje{*

31 (1A
{32-386) :

27. (4) B-W-Electrical
28. (2) Bonly

29, (1) Electrical
30. (5) Al A, Band C

24. (1) 9+ 121 = 130 (Condition (1))

Candidate

Harish
Samir
Nilesh
Shatlaja 1
Nikita

Laxman
Sujata

owmopmm%

Now, 140 - 85 = 55 [Condition

2
—X

1 X play football and

82. 4D
33. (1) C
34. (2) Samir
88. (3} Laxanan
886. (1) Harish
87.(4)14 + 11 = 25 [Rule (i)
25 x 9 = 225 [Rule(i}l
225 - 104 = 121 [Rule(iil)]
121 + 11 = 11 [Rule (iv}]
38, (3)36 + 27 = 63 [Rule (11})]
63 + 7 = 9 [Rule (iv)}
9 x 15 = 135 [Rule (i)]
135 - 124 = 11 [Rule'(v)]
89. (1)22 + 27 = 49 [Rule (i)}
49 = 7 = 7 [Rule (iv)]
7 x 9 =63 [Rule {i)]
63 - 14 = 49 [Rule (v]]
- 49+7=7
40. (4) 81 - 56 = 25 [Rule (1))
25 + 5 = 5 [Rule ({iv)]
8 x 21 = 125 [Rule (1)}
125 - 88 = 37 [Rule (v}
41. {2) 54 + 27 = 81 [Rule (i)}
81 - 34 = 47 [Rule (V)]
49 - 22 = 27 {Rule (i)}

27
Y =9 {Rule {iv}]
47-9=238




LY BROBLEM SOLVING ‘=

. 87. (3 IV
(42-46) : ' 88. (5] None of these
blsmba f Games Immmnt B9, {1) Green
A  [Badminton [Flute 60, (5) None of these
B [carrom Banjo 61. (4)V
C Lawn Tennis|Harmonium 62, (3) 19646 = 150  [Rule ()]
D  [Table Tennis|Tabla 150 + 15 =165 [Rule (i)
E Bridge Santoor
P Foothen Guitar 111?7 = [Rule ()
G |Hockey Sitar
42. 9 E 9_3 {Rule {iv}]
43. {1) Table Tennis N 3165 +3=168
44, {5) None of these 63. ( 4‘;‘;' %15 = 75 [Rule {1}]
45. 4 F 48. 3 D 75-40 =35 [Rule (v}]
(47-81) : 35_-26=9 [Rule (v)] .
t(ember City :lother 32 -3 ' (Rule (V)]
| _H | Chennai Marathi 64.(5) 10 + 15 = 25 [Rule (i)l
| 1 Hyderabad | Telugu
| J Bangalore | Kannada %= [Rule (iv}}
,_ K Ahmedabad | Punjabt L
[T [ Dem Bangla ell=as Reedn
| M | Kolata Tami] 25_g [Rule (iv})]
| N[ Mumbat Hindl 5
65.(2)7x15=105 = [Rule(}))
~ 47.{4) Kannada 105 -'24 = 81 [Rule {v)]
48.(1} H ‘ 12 + 27 = 39 [Rule (i)}
49. (2) Tami-M- Kolkata 39" L
50.(3) L 3= 13 [Rule (iv)}
B1. (5) None of these
L I T ite ™ 66.(5) 27 -12 =15 [Rule (v)]
Subject | Sport 15 _ 3
P | Biology | Cricket 5 (Rule ()
Q |[History | Badminton 64-28=36 [Rule (iti))
R | Philosophy| Hockey 36+3=39 [Rule (ii))
8 | Geography| Basketabll ]
T English Football (67-71);
V| Physics | ‘Table Tennis Person Department | Scale
52. (3 53. (1)sS g Sales i
84. (5) None of these D g’aln ance .|
5. 4) Badminton 56, (2) Biology E nn:,ce 1:1
(57-61); F Operations | |
L Studeat / Class | Favowrite G Sales I
L : Colour H Operations (]
P H_ | Green 67. (4) The co
. mbination -
b g ’l M | Bhck Il is correct. Finance - E-
IV | Red 33-(3)B.DandeorkinS
[_S [ 1T | Pk partment, ales de-
T [ VT | Yelow 69. (2) H belongs to scate 1.
M 14 I Blue | 70.(3) G belongs to seqle 1.
J1 7.3 ¢ belongs to scale 1.

T

(72-76) :
Student | Class
8up,
A vii ___ﬁ "
TN
Ecoq
D VIT | Che;:;“l:
E VII ] Bidlogy
F AL Physics
G VI M
72, (1) Hlikes Engligh,

73. (5) G's favourite Stubject | Mag

ematics.
74. (1) C's favourite syp ect
nomics, ! s Ecy.

78. (5) None is correct,
78. (3) A, Eand1'.‘:sst:.1dy1,_;;31tEl I

VIII,
(77-81) :
Monday 25th [ A
Tuesday 26th 2
Wednesday | 27th B
Thuisday [ 28th | Nopy
Friday 29th | m
Sunday 31st X
77. (5) PlayAwasorgmusedoan.
day.,
78. (1) Play Z was organised onTyes,
day.

79. (2} 28th was 'No Play’ day.
. (4} First Play was organised on
25th,
81. (3) Play Q was organised on Sat-
urday.
(82-86) :
0 The mother of Mukesh and

Rakesh is the head of family
and she is a lawyer.

(i} Mukesh is a teacher and his
wife 1s a doctor. Ajay fs son
of Mukesh.

(i) Rakesh is a teacher and his
wife Mrs. Reena is a lawyer.

82. (1) Rakesh is a teacher and his
. Wwife, Mrs. Reena is a lawyer.
83. (3) Rakesh's wife ts a lawyer.
84. (2) Male Members : Mukesh

Rakesh and Ajay.

88. (4) There is no information about

the grandfather of Ajay.

—{ BPRE-g335 |




{ PROSBLEM SOLVING |-

\ | 4;;7 L ation about | {102-106) 112, () Three plays are staged SRer
T ion of AJaY- lay A Is staged.
gy H . cofesst Days Games play tag
N I lf"p _ Monday Sorintl 113. (2) Except the group FD. in all
Y ' 1,9”" [ profession Tuesd P g other groups the two plays arc %
\ { W/@ L Disigner i Wrestling staged one after the other in the h
Py || p-wﬂ‘ Y Fashion Dislgn Wednesday | Football same order.
e ATy e | ureday Shooting 114. (5) Play E is staged on Monday-
by L5 || Architect :
& | Treacher | Friday Basketball 115. (4 Eor B
!  Teacly Saturd
fﬁx%* Medicine Saturday | ooding Oyene Days Fay | P |
N[l 2| | I | o s
T B! 102, (1) Basketban Tucsday 1€ 1 2 —
G . aske!
{ pand Fhave studied in Col- | 1083, (5) Weighlifting and swimming Wednesday | A E |
My | 00z . 104. (4) Monday Thursday | ¥ AL
; ah g and C were students of | 108. {5) Sunday Friday B Fo
By | # college Y. 106. (2) Basketball is scheduled im- Saturday E B
) FsP ession is Engineering. mediately after Shooting. Simi- :
8.{ isnthe profession of Med- larly, Football is scheduled im- | 116. (4) PlayFis staged on Thursday.
1% o0 ']! E mediately after Wrestling, (117-121):
jcines: cashion Designer. 107.{3) 12 + 21 = 33 [Rule {if}] —
PR Als2 bination D — Z - 33 - 6 = 27 [Rule (V)] Friend | Standard | Sport
!g .1 The c?;ﬂcomct. 5 x 27 = 135 (Rule (i)} T VI Basketball
r Teaching ber. 135 - 88 = 47 |[Rule (v)] U Vil Badminton
" @ Dis a Teacher. 108.(5) 9 - 6 = 3 [Rule (iti)] Y Vi Carrom
) Ig‘,gs]: 3 % 15 = 45 |Rule (i)] W Vi bhle
| amrita completed her PhD in 45 - 12 = 33 [Rule {v)] Scra
! threeyears- 33 X Vi1 Table Tennis
| Rhea completed her PhD in five - 3 [Rule (iv)] Y Vil Cards
| yers 100. _ z VI Chess
! Laitacompleted her PhD in af- (4) 18 + 37 = 55 [Rule (i0]
" erfiveyears six or seven years. 5 _11 (Rule (1] 117. {2) U likes Badminton.
0 peepa completed her PhD in L 118. (1) W likes to play Scrabble.
eight years. 2 + 11 = 13 |Rule {ii)] 119, (3} X and Z study in standard
> g (7 Anvita took three years to 13-6= 7 [Rule (V)] VIIL
" completed her PhD. 110.(1) 64 - 16 = 48 [Rule (ili)] 120. (4) The combination Z - VIil -
& (5} Smita took six or seven years 48 + 7 = 55 [Rule (i)} Chess Is correct
locomplete her PhD. 49 - 34 = 15 [Rule ()l 121. (2) Y likes Cards.
9% {4 Deepa took eight years to 15 x 55 = 825 [Rule (] (122-126):
complete her PhD. 111.(2) 27 - 12 = 15 [Rule (v}]
: p7-101): 15 : Days Ents
f ) 3 5 [Rule (iv)] Monday Emirates
. [Person |Pen : Tuesda
[ Car | Watch 5 x 9 = 45-[Rule (1) 4 Jet Alrways
{ Jman |Parker| Mica Samay 45 Wednesday Delta
Jnddalcelio [City [ Citizen < =9 [Rule (i)} Thursday | British Airways
M lamy [Santro | Timex Friday Air India
W |Leg (112-116}): Saturd
h WagonR | Titan ay Quantas
Mm Swift Days Plays Sunday - Lufthansa
rac
na ’Ih:j’“c:y E 122, (3) Jet Airways flies on Tuesday.
se: )Sunan likes Samay watch. esday C 123. (4) Three flights fly between
E’ Harsh likes Pointer pen. - Wednesday A Lufthansa and Delta
(1: garah likes Fastrack watch. Thursday F | 124 (1) AirIndia flies on Friday
.y V::h likes Swift car. Friday B 128. (5) Quantas will fly on Friday
a likes Titan watch. | Saturday D 126. (4) There are two flights between
Emirates and British Airways.

\
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| PROBLEM SOLVING |~

{137-131}): (:::.'us), - e
DA Conference
Monday P Monday Delhi Marketing
Tuesday foe Age Tuesday Chennai | HR
Wednesday | Beauty and Wednesday| Pune Management

Thursd g;,;gf:::e Thursday | Indore Bank::;i
F‘rida;r v The Incredibles Friday Hyderabad Hos::Estatt):‘
Saturday Finding Nemo Saturday { Mumbai :::aance
Sunday Aladdin Sunday Bhopal n

127. {5) ‘Finding Nemo' and Aladdin
were screened on consecutive
days. But there is a gap of one

day between the screening of oth-

er itwo films.

128. (2) *Ice Age’ was screened on

Tuesday.

129. (1) ‘Finding Nemo' was screned

on Sailurday,

130. (4) Three movies were screened

before Shark Tale.

I3L. (3) 'Up’ was screened on Mon-

day.

The Incredibles’ was screened

on Friday.

‘Finding Nemo® was screened on

Saturday.
(232-138):

Days | Lectures

Monday Organisational

Behaviour

Tuesday Psychology

| Wednesday | Statstics

L‘Ihuraday I Computer Sclence

|_Piday | Research Methods

[ satuday | oFF

[_Sundsy | Economics

132.(5) Economics was the last Jec-

ture,
133. (5) The code would be 5-1,

134.(5) Research Methods was orga-
nised on Friday,

138. (3) There were three lectures be-
ltu.rcerl Psychology and Econom-
w.

138.(3) Computer Sclence was sched-
uled on Thursday.

137.(5) Saturday wag the Off Day,
138.(1) He should atteng Computer

There is one day gap between
mt[:?nferences held in Dethi and
Pune. Sirnilarly, there Is one con-
ference between conferences on
Banking and Real Estate. There-
fore, Indore would be related to
Mumbai.
140. (5} The conference on Banking
was held in Indore.

141.(5) Four conferences were held
between conferences on Market-

151.(3) Zoology m

day. Sq
Ly,

162. (4) Statistics ts tayg,

153. (2} Zoology ia taughy Un[a"%
day on Statistics, Sot: u"*nw
taught on the next g, tistig, 4
istry. Of Cheyy

(154-156) :

7th
Gth
5th
4th
3rd
2nd
1st

wia|al=oin|o

154.(4) G lives on the topmgg
t flog,
1568. (3) C lives immediate Y
floor. Y Dy

156. (5) F, D, Band G live on oqq

ing and Real Estate. bered floor. C lives op, evenp
142.(2) The conference on HR was bered floor. .
held on Tuesday. (157-161) :
143. (4} The conference on Marketing
was held on Monday. Fricnd Bank Post
(144-148) : A S ForeEE
Days Person| Country B M %
Monday | Samir | South Africa c N | Economist
'I‘uesday Nita Australia €rminal Omﬁw
Wednesday] Gifty | France E R_| ITOfficer
Thursday | Paul | Australia F Q Clerk
Friday Richa | South Africa G P Research Araha
Saturday | Shwela| France 157.2) B A"a!m—-..
Sunday | Mohit | South Africa ‘ Offic c‘:""ks as an Agriculture

144. (3} Nita will travel on Wednesday.
148. (1} Shweta travelled on Saturday,

1486. (5) None of the combinations is
true,

147. (4) Nita travelled on Tuesd
) uesday to

148. (3) Mohit travelled on Sunday,
(149-1539);

Days Subject
Monday Physics
Tuesday Botany
Wednesday Maths
Thursday Chemistry |
Friday Statistics
Saturday Zoology
Sunday English
149.(1) Physics 1 taught on Monday

Science ang Research Methods, [

180. (4) Three subjects are {ay,

t be-
tween Botany ang Zoologyg.h

- 188.3) Cisan Economist,

159. (1) B works for bank M,

160. (4) A works for bank Sand heis
a Forex Officer.,

161. (5) Noneis these,

(162-168):
m

L
E
F
T

162. (4} Except in LQ, in all othen
thre is a gap of one bottle.

163. (1) Chernical L is in Pink bottle

164. (3) P- Green is correct.

168. {3) Chemical Q s in Violet bote

Red| =

White| =
Blue| O

Violet

NiM|o|(L[g|P
LiMIN|O|P|O

—

167. (2) Chemical N is in Red bott:

166. (2)

F

~ BPRE 640 o - -
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PROBLEM SOLVING |

N\ :
%%l /:[9 kept In the | 182, {5
1t , Chg[nlcal right. {5) Five lectures,

194. (5) Four persons -5, @. PandT
o:r:he r"gul”“"’ < (183-187) : “’-areheaviertlll\sank. ot P
. 79 Person 198, (2} Q Is heavier than P 8
:::}“"eh‘ v Flay_ | Dumation | | PR :;:h::;:cuy l[:ey::i:bt;:d welght 1 64 kg Therefore. '8
Q;,%g 1L Hours Q@ {M/F_|Honda City| Hyderabad weight may be 66 kg. s
[t ¢ 2 R [Make_[Ford Tkon |Chennal | | Cooo 2000 ¢ !
A 1 Hour S Fi Ford Tkon | Chennal Hobby State o
quesd® 1 T Male |Swift D'zire [ Delhi A | Painting | Maharashtra -
E 25 Hours | [V IMale [Fordikon |Chennas }
“,edneﬁd’)' w M/F__|Honda Ciiy | Hyderabad B Dancing Guyjarat
F 3 Hours Z _ [FemalSwift D'zire| Dellu C_|sngmg | Heraia
s | o day D | Pottery Rajasthan :
poy  fp 2Hours || 183 (3) R, S and V are travelling to making !
satr® ] 1o, Shennalin Car Ford lkon. E | Reading | Punjab ©
s B 5 Hours glll:':t;r members are travelling F | Travelling] Karnataka ;f.
of Pla Blsl 188. (4} S and Z are female members. S Sculptiog odlsha. :
Uiy, | g0, 4DUET y Bis 5 Hour. The third female member is ei- | 196 (2) Clikes singing.
%U; (3) Friday is off day. therP. Qorw. 197. (4) The combination D — Pottery
1 Ny, @ w. 198. (3) F belongs to Karnataka.
'R [2“, D is staged on Saturday. 187. (2) P, Q and W are travelling in | 199. (1) G - Sculpting - Odisha I
,' i (5 Four plays were staged before Honda City. correct.
| 1 e off day. (188-192): 200. (5) E belongs to Punjab and he
R LRy is staged on Monday, | | Friend| Sex [Car |Destination (ml-m feading-
2 1 H d A |Female| Z |[Agra '
> play E of 2 ours duration B Male | ¥ Cilandlga.rh Accounts %.
il be staged ont Thursday. C M/F | Y | Chandigarh _ é? r s
Now, Saturday would be the D [Female|] X |Delh B D%
°f off day. E | M/F | X_|Del ‘ @
(176:182) F |Female[X/Y [Deiht or SEF H e&“i
Chandigarh g8 o
l Day Lecture G_|Male [ X| Den A f
n Monday | Mathematices H | Male AR Biology ¥ English
Tuesday ychology 188. (4) The sex of C and E is not Hindi
Wednesday Chemlstly known. K 201. (2) H teaches Chemistry.
Thursday | Computers 189. (5} None of the combinations is | 202.{4) D teaches Psychology. B is
g | Friday Biology true, ' second to the ﬂght of D.
Saturday Physics 100. (5) Four of them may be | 203.(1) Ateaches Biology and B teach-
Sunday ' travelling in Car X. es Physics. F, who teaches Mathe-
; glish 191. (2) C s travellingin CarY. matics is exactly between Aand B.
176, 5 The lecture on Computerswas | 192. (1) The passengers of Car Y are 204.(3) E teaches Accounts,
held on Thursday. travelling to Chandigarh. 208. (2) The person who teaches Hin-
177, (1) The combination Saturday - | (198-186): @>P>U di is C and C is an immediate
Physics 18 correct. P>T>R neighbour of A and G.
178, {3) Two lectures are scheduled S>0Q Immediate neighbours of F are A
between Chemistry and Physics. Now, and B. A teaches Blology.
I78.(1) There is a gap of one day be- E is sitting exactly between Band
tween the lectures on Chemis- s ¢ P T R U D, who teaches Psychology.
try and Biology. Therefore, Biol- T 1‘ T 1‘ T T H teaches Chemistry and H is
0gy is related to English. second to the left of E.
180.(3) The lect@ure on Psychology ~ 64kg 52 kg 206. (5) Except in the pair BA, in all
iu. was scheduled on Tuesday. 198.(% P > T > R others the first person is second
gﬂd The lectulres on Computers l 1 to the right of the second per-
Biology wereheld between son, In BA, the first person is
the lectures on Che © 64 kg 52 kg second to the left of the second
fcs, emistry and Therefore, T may be of 58 kg. person.

\-__ '

smasai—o! BPRE-641 |
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[ |
{207-211): 218. (1) Z lives between U and S. L Hves on floor numbered Foy, ’
219, {2) X lives on floor number 5. = {2 +2)
’ Floor Number | Person 220. (5) W lives on the floor immedi- N ll\?;s 02, floor numberd Five ,
7 N ately below T. = ({7~ o
6 M 221. (5) Two persons - S and X- live R lives on floor numbered Six
P o between the floors on which Zand ={8-2}
T live. 228, {(4) R likes Thor.
; ; (222-224) : 290. (5) P likes Hulk.
231. (1) N lives on floor numbered
12 P Floor Person Five.
R 7 o) 232. (3} Llikes Nova and there are twy,
207.(4) N lives on the floor immedi- 6 Vacant mo;sm:‘;ndd P. e i
ately above the floor of M. there }
208. ‘[12J L {fWgs e:éacﬂy between the f: : gwo perl;o ?&ce?gagmﬂ !
oor of O and Q. imilarly, -
209.(1) N lives on the topmost floor. 3 S cal andNt.h :::I a&e two persons be.
210.{3) L lves on the fourth num- .
2 v (293-235) :
bered floor.
211.(5) Except P, all others live on 1 R PQU>S>T.R
odd numbered floors. U>@g>P
(212-216) ; 222. (1) Q lives on the topmost floor. U>Q>P>S>R >T
223, (5) R lives on the first floor. KR d 1
’ on Year of 224. {2) Sixth floor is vacant. 23 12 5
Birth 225-2286) : 233. (3) Rhasih
] Engincer 1983 { ) '(Jgr R ;sh ce:.seoond least num-
K Doctor 1987 No. | Floor Person 234.(4) P has more than 12 but less
L Actor 1990 : Fifth Floor B than 23 offices. 18 is divisible
I'M [ Choreographer | 1994 Fourth Floor C by both 2 and 3.
I'N [ Tawyer 1086 4 Third Floor F 235. (5) R has more than 5 hut less
[© [ Athlete T 3 Second Floor E than 12 offices.
B , Accountant 1593 f (I;‘irst Fclio;lr A (236-298) :
round Floor D ‘
212. (2) O is an Athlete and he was .00 0O>e> ]
born in the year 1984. 228. (4) A and E live on the floors ex- ' |
213. (4} Mis a Choreographer and he actly between D and F, E>G>I '
was bornt In the year 1994, 226. (1} B lives on Fifth Floor num-
214. (3) M is a Choreographer. bered sixth. | E>G>1>9> [ ], []
215. (1) The combination O (227-232):
- 1984 is comrect, ~Athlete i E>G>I1>J>F>H
216. (5)J is an Engineer and he was | | 1 1°°F | Person! Favourite 1 ]
P;?ei]ré :h: year 1983, So, he is | | Number Superhero 26 Floors 5 Floors
frlends, "8 the seven 8 O | Wolverine F has 26 - 14 = 12 floors
(217-221) ; 7 K Batman 236.(4) G has second highest num-
6 R | Tho ber of floors,
Ll'ioormm:ber ’ Person o
' L 8 5 N Captain The probable number of floors G
[ 7 g America has = 27. 30, 33
4 L 27 and 33 are odd nu
L 6 S Nova both are divisib] mbers and
J___5 e 3 Q| Superman eby 3.
[ 4 T 2 M [ Ironman 297 27is given as an option.
’]: 23 W 1 P T Fulk . Ei)m? belxl'aosf l%he second highest
v 227. (IR lives im 00rS.
media
L . Y while L lives imm dit Y above N | 238. {)1) Tenust have more than 12
ediately below ut less than 2
217, (4) X lives immediat ely ab the floor of N, (289-241) : 6 floors.
Three persons - 2, § ang Xove .| 280 \'% £
between T and Uy, - live Klives on floor n YIRS
. umbered Seven W>UsV
W lives immediately aboye v =(5+2) Wou >V>T»>R, S
Ulives on floor ’ Qlivesonf) >U>V>T>8>R
umber 8, oor numhered
64 43 20
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ey p%\ | r has the third low- | (260-283): (260-261) :
berq g @) The 1 of occupants. T>S8>R O-O>0>N>P
Plbe ,s:n'-”“t R has less than 20 DD ga» L » > N> P
)e'.eq {llmeau%uIMNM7oc‘ . .D.D P> U - L > > N » li
Sy, "“ogcuP::t’ Q:—E‘:-S:-R:-lj’:-u lalfeet 7 feet
owpa” petween 7 and 20,
mbers 260. (1) Pole M is the third tallest.
e by 3 47days 14 days 261. (4) The size of Pole L is 13 feet.
n“'hbe 12, 15, 18 S stayed for 47 - 15 =32 days | 262. ()3 8 5 6 4 9 2 7
e "y fﬁ 5 divisible by 5 alse. 250, gya R stayed for more than 14 According to question,
A, number. butless than 32 . Thus, 9
1r 70, gsel . option (1) is the an- Rstayedfor25day:m 2468 % * 7y
X mcl'ef 251. {2) T stayed for the second high- 4th from the
ln%':r' g;wtf;;e pusVhasmorethands | Fﬁt fé“mt:" ;fr days. than right end
1 occ is. stay.-d for more 47
m"an:’ﬁ:" # ::; ;”’ than 64 occtpar days. 263. (3)
‘ : . 2
pé¥ r-'f [ Flower Even numbers betwea147 to 60 : 9 4 7 6 5 8
it -é-—"" by = 48, 50, 52, 54, 56, 58 -4), +1] -4} +1], -4), +#1] +1
2y +——"""| Sunflower 54 {s divisible by 3 but not by 4. 5 5 3 7 1 9 3
a1y Marigold | | (333-288): (264-268) :
e P Rose Floor Person Bank Floor Number | Person
t her| M Orchid 8 X HDFC 8 K
Nup, | 5=P£ 5 Jasmir- 7 s SHI 7 Q
: (o o Daffodll | 6 z 1DBI 6 P
Wley | [Novembel | ~ [ 5 v 7xis Bank 5 N
Wiwmshasmmwmmmc. ) T SVC 4 R
T of October: 3 Y PNB 3 M
| 3. (4 O likes Daffodil 2 U__| BOI 2 L
w@gmwywhohasanmuﬂ- 1 W - | TJSB 1 o
! versary in the month of Febru- -
D ; . 283. (2} S lives on floor numbered 264. (1)
‘ But, April is given with Lily. seven. l"lfor Person After
similarly, N likés Marigold who 7-5=2 Number interchange
jas an anniversary in the month T lives on floor numbered 8 K M
of April. But, September s given 4-5=-1 = o —5
with Marigold. W lives on floor numbered one. 6 —p L
Therefore, Orchid is related to l1+5=86 5 N N
November. Z lives on floor numbered six. 4 R T R
48, (1) Nhas an anniversary in April 6-5=1 13 M K
Ohas an anniversary in Novem- U lives on floor numbered two. 2 L P -
- ber. : .2 +O5=7 1 0O 3]
23 Three persons - R, Nand P- 254. (1) V works at the Axis Bank. Now, Q lives between M and L.
' have an anniversary between @ | 288. (4) S lives immedlately above Z. | 265, (4) Plives on floor numbered six.
_ and M. _ Vlives immediately below Z, 268, (3) M It fl
. Ur249): 286, (1) W works at the TJSB. e, oo on Hoor numbered
X>U>Y,Z 2567. :?MU lives on floor numbered | 267, {5) Two persons live between K
Z>W _ . -and N. In all others, one person
X did not sell the highest num- | 258. (3) Y works at the PNB and lives lives immediately above or below
ber of policies, immediately above U. the second person.
V>XoUsY>ZsW X works at the HDFC and lives | 268. {2) Q and P live exactly between
N i immediately above S. K and N.
33 24 1 Z works at the IDBI and lives | 269. {4)
_ immediately above V.
47, 14) U s0ld exactly 33 policies. 289. (3) Obvi ousir option (3) be 2 3 7
@ Zs0ld more than 11 but less ) o of -1 +2| -1] -1]| +2| -1
than 24 policies a consequence of the awareness -1] +2
U9, (3 x sold] ’ programme. It is related to im-
V. e8s policies than only proved law and order condition 1 5 5 7 7 3 9
in the State X. Digits 5 and 7 appear twice.

~——
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! PROBLEM SOLVING }

| |
370. (5] From the statements it ls | ‘J; llv;s 0;1“"01'“““1"""’" 8and
I than 6000 cars o=
?Jwg a%‘l,adt l;Bt’hc third quarter But, S lives on floor numbered 2
{October-December) put togeth- and2+1=3
cr last year. But It Is not clear [ o (5 P and Y live between S and
that how many cars were sold in X
each manth from October to De- y
cember last year, 280. (
After surge in the sales, 12,000 | | Floor Person |  After
cars were sold in December this Number interchange
year. Therefore, Kelibahn defi- S
nitely sold less than 12,000 cars 8 w
in November this year. 7 g Y
(271-276) : 6 R R
[Day PFrlend | City 5 X X
Monday V | Madrid 4 Y g
Tuesday. T | Chicago 3 P =
Wednesday | @ | Miamt 2 S Z
Thursday U | Berlin 1 z
Friday R Kabul Now, P will live between @ and W,
Saturday s Jakarta || 281, {2) Rlives on floor numbered sbx.
Sunday P Sydney || (282-287):
271. (4) SvisitsJakarta on Saturday. Day Friead | City
272. (5} R vislts Kabul immediately Monday V | Madnd
before S who visits Jakarta. Tuesd T Chicago
T visits Chicago tmmediately be- ad '
fore @ who visits Miam, Wednesday Q@ [ Miami
V visits Madrid immedately be- Thursday U | Berlin
fore T who visits Chicago. Friday R Kabul
273, [3; Pvisits Sydney on Sunday, Saturday s Jakarta
274. (2} U visits Berlin on Thursday
immediately beofore R | Sundsy P _| Sydney
Q visits Miami tmmediately be- | 252-(4) Svisits Jakarta on Saturday,
fore U, 283. (8} R visits Kabul immediately
278, (1) Except'l‘-’l'hursday. all the before S who visits J .
combinations are correct, T visits Chicago immediately be-
276, (2) R visits Kabul on Friday. V visits Madrid immedfately be-
{277-281): fore T who visits Chicago,
Floor Person j 284. (3) Pvisits Sydney on Sunday.
Numbey 288. (2) U visits Berlin on Thursday
[ 8 [~ w immediately beofore R, :
| 7 o O visits Miami immediately be.
L 8 ’ R fore U,
[ 5| x 286. (1) Except T - Thursday, al] the
= i ¥ - Ccombinations are correct.
[~ 3 —p — Tvisits Chicago on Tuesday.,
[~ ) s 287, (2) Rvisits Kabul on Friday,
. 1 5 i,l (288-291) ;
277. (4) P lives on floor numbered L Floor No. Person
e, ‘ 6
P
278. (3) W lives on floor nu
ands-g.g mbered 8 2 v
Y lives on floor numb. S
4-3a1 ered 4 and g R
@ lives on floor numbered 7 ang 1 Q

266. (1) S and R llve\
actly betweeno?ht:mﬂ"% -

which Q and v 1y, %na

289. (4) V lves on Floor Ny

200. {3) T lives on Flggr . "0 3,

291. (1) P Itves on the tOPmog, o

(293-206) :
Floor number |

TN\

e
——

and LRSI B3 1411 2 BY

A

292.(5) U lives on floor Rumbe o

203. (3) Five persons - QU pg
T - live between the

284.(1) Except Q. all others live
odd numbered flogrs, o
298. (4] Q lives exactly

betwee
floors of U and v, " the

208.(2) U
foor of 7 e b
(207-208) :
Floor Person Destinatioy ]
Number
7 v Jaipur |
6 Q Mumbgaj |
5 u Paina |
4- P Delht
3 T Kolkata
2 R Bangalore
1 s Chennai

297. (3) V lives on the topmost floor,
298. (1) Except R, all others live on
odd numbered floors,
299. (5) Pis travelling to Delhi.
300. (2) Four persons live between the
floors of Q and §.
301. (4) P lives on the floor tmmed-
ately above the floor of T.
302. (1) Q travelled to eight countries.
Only P has travelled to more num-
ber of countries than Q.
303. (4)R has travelled to 84
= 4 countries
U has travelled to more than four
but less than eight countries.

So,U=5,80r7

gy T —



{ PROBLEM SOLVING |

' F
NI

CM'DJ

Vet  — 1 45
1945 = 07.48
4. (5 Hiret Set of Numbers

15 1
on = 15-11 = 4 [Rule (11)]

4 20
= 4 x 20 = 80 [Rule (iv)]

80 400

= %%g = 5 [Rule (iff)]

Second Bet of Numbers
8§ 12 '
=8x 12 = 96 [Rule (iv]]
9% 10

. ‘= 08 x 10 = 960 [Rule {iv)]

260
NOW, ? = 192

4. (2 Firet Bet of Numbers
40 30
=40 x 30 = 1200 [Rule (1v)]
1200 3800
o 3600
1209 =3 [Rule (if)]

Second Set of Numbers
15 94

=18+24«39
w2499 [Rule (4]

= 38-17 = 22 [Rule (1
va.3+22_25 (11}

B, {4) First Seot of Numbers

B oined the institute

8 16

16
= 5 =2{Rule i)
2 16

18
= 5 =2 [Rule (1)

8 14

= 8 x 14 = 112 [Rule (iv}}
Bocond Set of Numbers
13 11

= 13=11 =2 [Rule (ii)]

2 12

=+ 2 x 12 = 24 [Rule (tv)]
24 144

144
= Z1 =6 [Rule (1)

Now, 112-6 = 108

8. (2} First Sot of Numbers
13 11
= 13- 11 = 2 [Rule (i)
2 4

=»-§-=21Ru1e(um

Second Set of Numbers
17 13

= 17 - 13 = 4 [Rule (t])]
4 12

= 4 x 12 = 48 [Rule {iv]]
Now, 48 x 2 = 96

7. (1) Firet Set of Numbers
19 15

= 19-15 =4 [Rule (i1)]
4 12

=4 x 12 = 48 [Rule (iv)]
Second Set of Numbers
15 12

= 15 + 12 = 27 [Rule (i)]
27 23

=27 =23 = 4 [Rule (i1)]
4 16

= % = 4 [Rule (iii)]

Now, 48 -4 = 44
(8-12) :

A Male Y Grey
B Female | 2 Blue
C Female | X Red
D Male Z | Yellow
E Male X White
F Male X | Purple
G Male Y/ Black
H Female Y Green

a. (2lAandHaretrave|1inglnthe

Cary.
9. [4) C 18 the female member in
the Car X. She likes Red colour.
10. (1) D likes Yellow colour.
11. (3)Eand F are travelling with C.
12. {5) The combination E-Y-Grey In

not correct.
E travels in Car X and he lkes

white colour.

{(13-18) ¢
vV > x>U>Y>W>Z
N i

17 days 8 days
18. (3) W stayed for 8 days.
V stayed for maximum number of

days.
15 + 8 = 23 days.
14.{2) Z stayed for the minimum

number of days.
18. (1) Y stayed for more than 8 days
but less than 17 days.

(168-21) :
Floor number

Subject
Economics

e L B L e e
omz<4mca§
=]

Statistics

16. (3) Professor of Hindi, V lives ex-
actly between the floors of T and
professor of Geography R.

17. (1) The profeasor of Economics
W lives on the topmost floor.

18. (4} Professor of Sociology S lives
immediately above the floor of pro-
fessor of Statistics .

19. (2) Professor of Geography R
lives on the third numbered floor.

20. {4) Four persons - U, P, T and
V-live between the floors of W and
“the professor of Geography R.

21. ({5) Except the Professor of En-

glish, all others live on even

numbeéred floors.
(22-26) :
Floor Number Person
8 Q
7 V'
6 S
5 P
4 T
3 R
2 W
1 v
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. - (3) The positions of p
22.3) Two fe — P and T - lUve | 33. (4) G lives on the floor immedi- | 46 ang
between tll):? Ill)oom on which Sand ately below D. main unchanged. K !
R live, - 47. (5) The combinatin, I
- | 84.(2) Two persons- B and D - live N Chegyy .
s l(ll’lal;stmme;.m the floor immediate between E and G. correct, Ly
4.2 W lrlves immediately above the A llves immediately above C. {48 - 52) : —
m olsj't floor number 1. F lives on floor number 1. Floor Person m
Q lives on the top most floor. 38, (3) Two persons ~ G and A - live | | Number
Only one person lves between T between the floors on which D 7 P Bloiogy
and S. dch 6 K
P lives immediately abave T. and{ fve. Actouny,
28. (5} W lives on floor number 2. 38. (5) D lives between B and G. 5 J msm_y
(:g'_;gj w lives be Rand U. 87. (1) G lives on floor number 5. 4 N Englisy,
(38-42) : 3 M Computer
0.00-#-1.0.1 Floor | Person | Cartoon 2 o Commens
U>S>T Num} Character 1 L oy
£ D.D>P>U>S>T 7 o Flinstone era
4 . R P UsS 5 3 Tweety 48. (4) J likes History.
: ; >Q> 7 >U> l> T - 2 Chipmunk 49. (1) The combination Geograph, .
[ 27.{4) Th :eriegel-f f2 rit hould 2 > opeye b
; . e | t of pole U shou Scooby 50. (2
) be more than 2 feet but less than 3 M Doo & —
5 feet. 2 R Simpson Floor | Person | Alphabeiey
P 28.(2} Ris the tallest Pole. 1 P Jetson Nl
e Helght of R = (11 + 2} feet 36. (3 F. N. M and = order
; = 13 feet : our persons — (J, N, M an 7 P —T—-..
;o The height of Q should be more :n -;;jve between the floors of $ 6 K K
than 5 feet but less than 13 feet, - —_—
: lLe. 9 fe:: utless than ee 39. (5) All the statements are true. 5 J L
o ~ 29.(5) Four poles (P. U, S, T) are | 40. (1} N lives on the floor immedi- 4 N M
P shorter than Q. ately above the floor on which M —_— ]
I @'s height is more than 5 feet, lives. 3 M N
' @ is the second tallest pole. 41. {4) Q lives exactly between the 2 O o
(30 -32); floors on which S and N live, 1 L P
Vo> X>U>Y >wW> z 42, (2) Plikes cartoon character Jet- —_
- ol son. The positions of K and 0 remain
17 days 8 days (43-47): o (l;;changed
30. (3) W stayed for 8 days. Floor No.| Fevson] Garmes -+ (8) The one who likes Computer
V stayed for maximum numberof || - ¢ Alphabetical lives immediately below N.
days. ‘ P Order O likes Commerce. e
3 15 + 8 = 23 days. e Only three persons live between
r: 1. g %fstayedforﬂlem_inlmumnum- 6 | A [Polo B P and M.
o r of days. ' 51 L [en
: 32. 'glj Y stayed for more than 8 days T css c P lives on the topmost floor
' ockey D
\ SN ut.lcss than 17 days. 52. (5) Olives on the floor numbered 2.
o E‘m Number I Person 2 | M |Cricket L
" L '8 I E 1] € )ilude M Floor Number [ Person
| ! B 43.{4) B likes Badminton _ 8 P
L 6 , D *44. (1) D lives on the floor numbered 7 T
L 5 P 4. He likes Hockey, 5 J
L 2 " 45. (2) K lives Immediately above M. 5 R
L 3 c D likes Hockey and he lives im- 4 v
L P | mediately above K, 3 W
L ] H C lkes Ludo and he ljves on an 9 Q
’ F l odd numbered flogr, ] S

— BPRE-646 ) —_




veen

d2.

| PROBLEM SOLVING |-

60. (5) W lives on floor number 2.
70. (4} W lives between R and U.
(71-75) :

Floor Number ‘/—11""“___.-—
8 . E
7 B ___
6 D___|
5 G _ |
a4 A
3 c
) H
1 F

71. (4) G lives on the floor immedi-
ately below D.

72. (2) Twopersons-—B and D - live
between E and G-
A lives immediately above C.

F lives on floor number 1.

73. (3) Two persons -G and A - live
between the floors on which D
and C live.

74. {5) D lives between B and G.

75. (1) G lives on floor number 5.

RBI GRADE-B/
NABARD GRADE-A OFFICER EXAMS

gt | o
ve O
#gv.%meﬂwrsors Floor Number Person
ﬂ"‘:_i fFloor Number 7 7 v
o W7 Tyoor Number 3 6 s
5 jives P the topmost floor. 4 T
g : lives on the floor number 3 R
g 2 w
5' persons - Ul R- v and 1 U
@ 0 Foﬂl'bcmcn the floors of T
w-lve 86. (3) Two people - P and T - live
anv .uves on the floor between the floors on which 5
@ above the floor of and R live.
% :rnm‘djately 67. (1) S lives on the floor immedi-
’ than only ately above P.
.smmcLISSmaller 6. 2) W 1
: trerefore, M is the tall- ) W lives immediately above
th::e ore the {loor of U.
et std P‘ U lives on floor number 1.
N>O> - 'Q lives on the top most floor.
Now, : Only one person lives between
M>L>N>"O>P T and S.
l P lives immediately above T.
20 feet 11 feet
the smallest. The
8.9 Statue P Is _
of the second smallest stat-
pe O is 11 feet. Therefore, the 1.3 o 92
he{ghtofstatueowaﬂlbelcss ©) IE E]
than 11 feet. 2. (2) Statement B :
g1, (1} The tallest statue is 20 feet 3. (3) Statement E
high. Therefore, the second tall- 4. (1) Statement A

est statue may be 19 feet, 18 feet

8. {5) Statements Band D

‘ v high. 6-11):
f merefore. the third tallest stat- Position Person Music
' e will be less than 19 feet and _
more than 11 feet high. Director (DR} | P Hip-Hop
245=T>02R Executive
P<O<Z Director (ED) 0 Opera
Chief Manager
5=T>02P M N Pop
Z>0zR Senior Manager|
PsO2R (M) g | Rock
Piz smaller than T. Manager (MG} R Jazz
(63-68): Assistant
f:“l’/ FifthFloor B Manager BM] | M| Electronic
ourth Floor Vacant | [Trainee(fE) | S | Classical
3Third Floor D
2 Second Floor c 6. (3} Thereis a gap of two persons
1 First Floor E between Rand the one who likes
Ground Floor A opera. Similarly, there is a gap
8. (3) E lives i of two persons between Q and
floor. Immediately above A's the one who likes classical.

o
&, ((;] Blives on the topmost floor.
I Fourth floor 1s vacant.

There is a gap of two persons
between P and the one who likes
Rock.

S —

{1) R works as Manager (MG).
'(6) N and O are more experi-
enced than @ but less experi-
enced than P.

(4) S works as Trainee (TE).

(2) N works as Chief Manager
(CM) and likes Pop.

11. {5) R likes Jazz.
(12-16):

7.
8.

9.
lo.

Game
Roadrash
Castlevania
Resident Evil
Dragon Quest
Tekken 3
Contra
San Andreas
Metal Gear
12. (4) D plays the game of Metal
Gear. _
13. (2) G himself plays Tekken 3.
14. (5) G plays Tekken 3.
C lives immediately below the one
who plays Resident Evil.
B lives immediately above D.
18. (3) E and H live between A and
C (Dragon Quest).

]

— | o] e o] | ] 02
cwu:oo::u:vg
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g? ; . Numberofa -~
| 16. (1) There are four persons be- | (28 -33) Pereon t"”“"ftwgell
tween A and F, who likes Con- Floor Number s floors = —==14 \
tra, 8
There are only two persons Band 7 N
who lkes Dragon Quest. 6 J Oth Fiogy 4
Simflarly, there are two persons 5 Q -—
between C-Roadrash. ry L 8th Flgg 3
H is tmmediately below the per- 3 o
son who likes Castlevania. Stmi- 5 M 7th Flogy 2
larly, F lives immediately below 1 P a1
the person who likes Tekken 3. Floor
{17-21) ; " 28. (3 Klives immediately aboveN. T
, o L and O live between M and Q. th Floor
Day Destina Departure M lives on floor number 2. .
Time 29, (5) N lives on floor number 7. - rumbcrormp“
Monday | Madrid 10 PM 30. (3) Except in pair OM, in all oth- =14x4=56
Tuesday | Sydney 5 PM er pairs there are two persons 8.WF=10+2=)9
Wednesdpy Duba 9 PM between the givent pair of per- andA=10-2.g
Thursday London 6 PM Sons. Now, F gives 5 cards ¢,
Friday Zurich 8 PM 381. (1) O lives on floor number 3. F=12'5=7andc-.1 C
Saturday] Rome 4 FM 32. (2) Q lives between the floors on Now, C gives 3 = 0*5=|5
[Sunday | Pans 7 PM which J and L live. Cons Cards to
17. (3) None as Paris bound flight | 83. (4) If P and L interchange their -3 =12anq
departs on Sunday. places, O will live between P B=10+3=13
N el
. = =7and D
18. ;ijssir:ldney bound flight departs mSUMNCE EXAMS =10+6=186
' 1.{1) There is no cubes which is Now, D gives one
£l;c;;l;;lonI:»ot.mdﬂjghl:depamsaat painted green on three faces. D161 . lsa:ll'dton
’ 2. (1) There is no cubes which is
mgjpgubaibmmdﬂlglﬁdepartaat painted red and green on adja- 'I:h=lei-)+1=11
. cent faces, erelore, B and F haye
The flight would arrive In New | g, (q) There are nine central cubes number of cards, v
Delhiat 11 PM. in each of the layers I, Ill and 9. (3
21. {5) Madrid bound flight departs IV which have no face § H@24>8+ ¢
at 10 PM ave o lace painted. or,2A > 17
22. 1 . Thus, there are 9 x 3 =27 cubes !
» (1) which are not painted on any 17
7243¢67%5 ] face. ~A> = =85
l l i l l l l Tllllﬁfoi;e;totalnmnberofcubw 2
whie ve at 1 =
9136573 coloured =12a5_e;;t=02%e face Lot A=9then, B=6-Cx11
(23-27): 4.4} As explained earlier, 27 A=10then, B=5-C=12
FloorNumber7 g cubes are without any coloty. A=11then, B=4-C=13
Floor Number 6 c 5. ;11; Thert; are 8 cubes which A=12then,B=3Csl4
gzrll:ums:rrs D cact ¢ least two green faces A=13then, B=25C=15
r Number 4 A 6.0 : A=14then B=1 =16
Floor Number 3 E l(:n: ?heamgmmtdbm“‘““ Take, C = 11 "
Floor Number 2 G Novel -n A+ D =2C
Floor Number 1 F Drama - d 9+D:22
23. (2) B lives on the topmost floor, Story-book - g < D 2
24. (5) Clives Immediately above py Comic - e ~D=22-9=12
floor, Therefore, D>C>A>B
28, (3) Bx 7 2) 3rdTioar ]
) Except G, all other lives o » 10, (4) 3
odd numbered flooy. " Tad o | & 4 3+27=30
26. (1) E lives on Floor N, 2 30 + 33 = 63 and not 65
27. (9 G i umber 3, TstFiogr | & 63 + 42 = 105
. Ves exactly between the 8t Floor <
floors of E anq f. —— 105 + 60 = 165 and not 170
o found 165 + 87 = 252




,-!. wh
'%.,\./.,,13 . 0 o 28. (4) % 31

8
i né* | N
l‘“ 11.53*9‘233 +8 +32 388 1[2[31a]5]6]7]8 i
g2+ 11" L L R(T|Vvi{z|Q|W]|YI|S ;
33*:::61 +24 +56 zir|T|vlglwlY]s |:
46717278 +32 :
6t+17” o 26. (4) ;
8197 s glven within 8+5%~28 123256 7 8
Boththeam ) 28 + 6° = 64 and not 65 TVWSY Z Q ;
prackes "2 and not 5 First bracketed term is right and R i
39 2+ 14 _ the second term is wrong. 27. (1) Earned prize money
747 08 14.{3) 1 + 1 =2 and not 3 P = 36 x 1500 + 14 x 1000
1;:?1=M 2+6=8 = Rs. 68000
22" 3 =47 8+8=16 Q = 34 x 1500 + 21 x 1000
47:112,62 4 16 + 12 = 28 ‘ = Rs. 72000
bracketed term is 28 + 18 =46
The rsgmcsmndmﬂght N ) R = 23 x 1500 + 36 x 1000
wrong 0 46 +22 = 68 = Rs. 70500 |
(3. 2) There are two alternating The first bracketed term is | * s ; 30'x 1500 + 30 x 1000 |
: wrong and the second is t.
| e : Mt S 0o
0 ; (1539} ». Required difference
| CRITERIA = 76000 - 68000
= Rs. 7000
A B C D oo I E F G H or J 28, (3)R:v crage prize money
: 7 7 7 - S 7 7 77 - _
! 7 x 7 7 - 7 7 7 NG - 68000
7 7 77 — % x 7 7 - P= = Rs. 1360
S L s v - v v/ v /7 -
s v 7S 7 - v « NG V/ - 72000 -
7 7 7 7 = 7 7 7 - % Q= —55 =Rs. 1309
FAREE | v - S S S -
S & L 7 - < - v 70500
* NG = Not Given R= —¢%5 =Rs. 1195
15. (3 Ramesh satisfies criteria A, | {23-26): 75000 _
B, C.1, E, F, G and H. Therefore, V>Y,Q S= 80 = Rs. 1250
his case should be referred to Z>Q 28. )
General Manager (Personnel). Maximum average prize mon- .
16.{2) There is no information 5 : ; >V ey per match won |
regarding criterion H. She also = Rs. 1360 (P)
;;’“ not 33“;‘3' crlter:on E:i ] ll:;vw 80. (3) From both the statements
17. |4} Jairam does not satisly ) :
criteria E and F. R>T>V>Y.Q,S Va;‘;;"f three quotations
I8. {3) Ravl satisfles all the criteria. Z>Q = x 3 =360
18.{4 There is no information R>W Third quotation
mfgdﬂgmud satisfies crieteria be launched. = 360 - 215 = 145
' ‘D.E’F'GandJ' R>T>V>W>S ....... Z>Q - Tllehjgllestquotauonismol-e
Therefore, his case should be 24. (1) than Rs. 139
referred to the Managing : T
Director. 31. (2) From statement I
Ay 11213[4|5(|6]|7(8
ayant does not satisfy Number of people who read both
2 criterion B. R(T|V|W]Y|S|Z(Q Economic Times and Financial
glgugsh satisfles criteria A, B, RIWI|T|V|YIS|Z]|Q Express
o+ = F, GandJ. rlit|v]|Y|w|s|z|g = (220 + 200) - (300 - 50)
Theref,
ore, his case should be
to Managing Director. = 420 - 250 = 170
\____ ' f
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—{ PROBLEM SOLVING |—

rsday. Thursday T lives on floor Dumber ¢ ’
32. (2) From statement o 39, 12]5 Tﬁa{ 1913 ?&ursﬁa}' Four persons “Vl!thwemT%
The time taken to cover 40 =Thursday | 48. (5) T lives on the floor U
is not known. ? ;y:g::ut:dn;;m ™ ly below Z, Imw
From statement I 2) S liv fl mb
If PQ = x km then the distance Saturday - 6 = Sunday :::L:) : e on foor ny S,
covered by the troubled engine Now, 6-3=3 ¢ )
= (x - 40) km 40. () U<V<W<X<Y=Z2A=B Day Lectre
>C
Usual speed = 470' = 20 kmph Z is greater than U. Monday m
3 (41-45) : Behaviour - .
o x Floor Peroon | | | Tuesday Psychology
' Usual time = | 7 | hours Floor ———— ]
{ Number Wednesday | Statisties
# . x-40 x Seventh Floor | 8 N Thursday | Computer Seper™
1} *2 hours + ——— =~ Stxth Fioor 7 o Friday Research Methog—
P
s e e | N i
i 60 3 ThirdFloor__|_4 K_ || (Sunday E°°“°E
X _x-40_, 2 Second Floor 3 J 81. (5) Economics is the lagt lectyre
=2 5 ‘3 First Floor 2 M_1  scheduled.
' Ground Floor 1 Q B2. (3) Three lectures
r X=4x+160 4 ,‘,;tw Economica o L eduleg
= %0 =3 41.(2) L and K live between the een Lconomics and Peychy.
floors of Pand J. ogy.
! = £3x+ 160) 3 = 80 42. (3) Klives on floor number 4. 83. (3) Computer Science wag scheg.
= Ox= 480 - 80 =400 43. (4) N lives on the topmost floor. uled on Thursday.
400 1 Seven people live below N, 84. (5) Saturday was off day, There.
= xe—— =44 — kan i fi fivel
9 9 Nlives on an even numbered floor, ore five lectures were schedyleq
33. (4} From both the statements we 1.¢. floor number 8, . before Saturday and one lecture
can get several values of x. Three people - O, P and L - live was scheduled after Saturday,
34. (3) If the time is the same then {bt)etween NandK. (85-59) :
arrival time would have been | 4 (4) @ lives on floor number 1. Pes —
12.00 while it is 3AM 43.{1) P lives on the floor immedi- 22y A"“""!_
= Time interval = 3 hours, ately below 0. Monday G Running
, 38. (3) From both the statements | (46 - 50) : Tuesday B Dancing
- Let the fat —__
; ¢ father age be x years. Floor Floo A Wednesday F
g X8 _ 4 - : Number Thursday A Pain
; 3 SeventhFloor | 8 Y _ ng |
~Xx={25x3)+5=80 years Sixth Floor 7 Z THday D Acting
36. (1) From statement | Fifth Floor 6 T Satmﬂay C Singing
Sandhya has two sisters, Fourth Floor 5 S Sunday E Baking
37. (3} From both the statements Third Floor 4 v
Heshav will select car X, Second Floor 3 X 88. (2) G participated in Runningon
38. (3) 15th August = Sunday First Floor 2 W Monday. In an others, the person
Next Sundays = 22nd, 2gth 4., | Ground Fioor 1 T Participated one day after the gi-
g‘t;‘:"' pry ] en day.
. 12th, 19th and 26th sep. (3) Vlives on floor numper 4. 56.(4) B participated tmmediately
tember 47. (1) Three persons - S befi .
30th »Vand X - ore Fand A participated im
Septembera'mursday live between floors of Tand w mediately aft
Other Thursdays in s, te. 48. (4) T lives immeqat erF.
Ptember atelyaboves. | 87.(3
=2, 9. 16 and 23 Five persons - S v X. Wand * pam":lpated in dandngtwo
| livebelowT ' u- days before the one who partic-
— Pated in painting.




72. (1) Q lives immediately below N.
73. (3} The position of no person will

remain unchanged.

74, (4) Two persons - J and L, - live
between @ and P.

(75-76) :

DD>E>D,D
A>»>B>D
C>D
A>»C>E>B>D
i

8

75. (4) A won 8 + 16 = 24 competi-
ticns.
Therefore, E won more than 8
¢ but less than 24 competitions. C
won the second highest number
of competitions and hence E can-
not won 23 competitions. E won

possibly 14 competitions.
76. (1) C won the second highest

number of competitions.
(77-81):
Day

Monday. ..
Tuesday
Wednesday
'ﬂmr%day -
Priday
Saturday | Nissan

Sunday _ Jaguar

77, (1) R attended screening imme-
diately before M while P attend-
ed screening immediately after
M

78. (3) The combination $-Mercedes
is correct,

79. (5) N attended screening on Sun-
day.

80. (2) P likes Nissan car.

81. {4} Sattended screening on Mon-
day.
Monday + 3 = Thursday
R attended screening on Thurs-
day.
Thursday + 3 = Sunday
Q attended screening on Tues-
day.
Tuesday + 3 = Friday

Car
Mercedes
BMW
Volkswagen
Audi -

z|wig|o|o|©]|® E

o] [ M
pefore i
oo in painting two days Monday G Pink
A P’:fhp:‘:f‘c who participated -—-Twl‘f’_dﬂ_y__ B | siver
sngiP€  ed in running on -ﬁ;hsm"—_ = Dl
n clpa ursd
Y P;m Friday ~ 2 e
oY ted in acting on { | o . Green
p D Parﬂdpa !ng Saturday D Orange
priday- Sunday F | Red
.89} 86. (1) G would atteng
® Person Alphabetical Monday. Aweddingon
oo Order 67. {9) D likes orange colour.
{ W P I 68, '(1?1]1 Awould attend a wedding on
I o ursday. The one who likes
H G colour would attend a wed-
f C ding three days before A, ie.,
D F on Monday. Similar relation ex-
G E Ists between all other combina-
F D tions except in C-Yellow.,
I . C 68. (5) Awould attend a wedding on
B B Thursday,
sch . (1) Glives munedia::g 2':0"3 F. Thursday + 2 = Saturday
SChey, |n all others, one, more C woul
.+ live between the given m::y d attend a wedding on
Thep, of persons. o
Qe g:hree persons - D, G and F Friday +2 = Sunday -
et .—M 0 Candl . B would attend a wedding on
. 1 itions of two persons Tuesday. .
@ H 'Ih: p;swould remain . ' Tuesday + 2 = Thursday
y H an 70. (2} B would attend a wedding
changed. immediately before E while A
8 &%, (5 H lives immediately below E. would attend a wedding imme-
4 84-89) diately after E.
¢>B E (71-74) :
AE>D>B Floor | Person |Alphabetical
Adoes not buy the maxirnum nurm- Number |- ' Order
ber of Cockles and E does not buy 3 K 0
the third highest number of cook- 7 N p
les. 6 Q 0
C>E>A>D>B 5 J N
} 4 L M
20 3 P L
8. (3 D buys the second lowest 2 Is) i
number of cooklies, 1 M - J
%. 9 C bought 20 cookies. 71. (2) There are five persons be-
Therefore, A bought 20 - 8 tween O and K. In all other pairs
= 12 cookies one person lives immediately
Ebought more than 12 but less above or below the second per-
than 20 cgokies, son
\.__

o
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\/1

candidate wag

I 12 (2} 10 E:ﬁty with the t!meacel::;‘ﬁ:}:;l y
" Directions (177 : A _manage- ] @ 8 46 other candidate. The Tollowtng - &
ment Institute organises six once a (5) None of these ations were made aty,

month lecture serfes for young entre-

w- ¥, l
8. If 21st July, 1999 is a Wedn I Aapaccwastakmby

Q
following schedule, 1ld have been the 0 Aln turn\vaaaoeommu %
&th no d?tgf m%gﬂng day. .:;h t;'; week on 21st July, in C's place teg
managementAugust through Jasu- day 111.€ in turn was aCcommyg,
Marketing ary October 11?47? {2) Sunday in E's place teg
Economics A e {‘3] m”“"'da’.m, {4) Saturday IV.E toolli lé's p::?é
Business law tember {5) None of these ataralivay | 3 \‘:rhj};htooof t; ‘1: fol]om“g
March through June a . .
Financial management October throughz Apri 8. At an enquiry ;ﬂ;:r was told A didates finished the Inte Can/
Accounting De gtation, a pas s thE ? Tiew,
Personne| managementOctober through " train for Delhi has Jeft 15 mintraaa';;l along wi )
cember every 45 min a . MA
‘ 3. During which month are the few- feavesut aﬂl%l;- Delhi. The next train @D 4} F
‘ est lectures given? will leave at 3,3opm.Axwhatﬂ$e (6) None of these
‘ () January (2} February this information gventothe |, n 0 of the following
i (3 June (4) September passenger? dates finished the nterviert
!1 (5) None of these (1) 745 pm (2) 8.00 pm fore C 7
4, Which is the largest number of {9) 8.16 pm  (4) 8.05 pm (1) B 2 D
lectures tha:h can be attended in (5) None of these toll together (3} Both of these
a & mon bells begin to 0, None of these
w7 @e 10 and ol mpe%g;vell}zr o intervals (5) A ot thems
5 4 v W 7. 10 an - HOW
f‘glj None of theae ;ﬁsﬁﬂzeywﬂ toll togetherinone | 13 :ﬂfnaﬂx:gzdchmulﬁim ]
8. Which two serles taken tc;geth;r hour excluding the one at the them has to wait? - a0y of
Ml the year without a over eap start ? (2) A has to wat 10 min
man- 1) 7times  (2) 8 imea
T | Bri BUEL | BRE
(2) Personnel management and (5} None of these (4)) Go}:::soto walﬁ 30 mwalt
Economics Directions (11-14) : These ques- :5] None of thege
{3) Business law and Personnel | tions are based on the following infor-
managernent mation, 14. Which one of ;he following state.
d Aset of eight candidates A, B, C, ments is true
(‘;J’ 3:::’;3::;8’“ Accounting D, E, F, G and H are being Interviewed (1) G could leave even before s
4. During h months of the | by two panels of interviewers : Panel | first interview was over
" “""ﬁuﬁm"‘a‘dm"tmm hear | and Panel Il—from 8.30 to 10.50 on a (2) F and H left together
aym" lectures on Marketing Eco- | Particular day. Each pane] will spend {3) Dwas the only candidate who

nomics and Financial manage-
ment?
(1) 11 2) 10
39 (48
{5} None of these
.} Hmvmanylectumseﬂeela.st more
than 6 months?
1 2)2
(33 (44

about 10 minutes per candidate and
at no time during the Interview pro-
cess will a panel be withoyt any candi-
date. The original schedules of inter-
views for the eight candidates are

shown in the following table
Candidate PanelI Time

93010940 10.20 to 10,20
9.40 to 9.50 10.20 to 10.30

(5} None of these

8. How many different serles can be

attended in September, October
and November?

(1) 2 @3
34 @) 5
(5) None of these

850101000 1039 ¢, 10.40
100010 10.10 10404, 10.50
10.10t0 1020 g g9, 9.40

9.40 to 9.50
.60 t010.00

]
U::o oo

made in such 5 way that
¢ Was made, the time

schedule for both the panels of 5 par-

Panel I Time

could give company to E

{4) All of the abave

(5) None of these

Directions (18- 19) : Study

the following Information carefully to
answer these questions,

L Is available at home
from 12 noon to 4 pm on
Tuesday, Thursday and Sun-
day.

Il His younger brother Navin is
available at home on Monday,
Thursday, Friday and Sunday
between 10 am and 2 pm

L. The eldest brother Rajiv Is
available between 9 am and
12 noon on Monday.
Wednesday and Thursday:
and 2 pm to 4 pm on Friday.

Saturday and Sunday.
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/.,;on

w

stbe
%f::uable at a particu-

{4 5L/

these
_ hi o) of the week the
M| g onVBICTS dthe eldest brothers

avallable at home at the same

waslneach
months- what part of her entire
ywseammgdoea she eamn In

gfczeﬁl {2) 2/13
(9 3/14 41/6
(5) None of these
mﬁwammaanﬂnuteslowat ipm
on Tuesday and 2 min fast at 1
on Thursday. When did it
show the correct time?
(1) 1.00 am on Wednesday
() 5.00 am on Wednesday
(3 1.00 pm on Wednesday
@4) 5.00 pm on Wednesday
{5) None of these
20. Aclock gaining 2 min every hour
was at midnight with
a clock losing 1 min every hour.
How many minutes behind will its
minute hand be at eleven the fol-
lowing morning?
()23 @ 27
(3 22 (4) None of these
{5} All of these
31 Suppose it 1s 3 o clock past 20
min the angle between the smaller
and bigger hands will be
() 20° @ 30°
& 110° @) 120°
(5} None of these

. Inamonth of 31 days, the third
ednesday falls on the 15th.

hich day of the
brothers are

y days, only one

What will be the last day of that
~ month?
(1) Fifth Thursday
(2) Fifth Wednesday
{3} Fourth Sunday
{4} Fifth Friday
{3) None of these
238. When Ranjeev was born, his fa-
ther was 32 yr older than his
brother and his mother was 28
yr older than his sister. If
Ranjeev's brother is 6 yr older
than Ranjeev and his mother is 3
yr younger than his father, how
old was Ranjeev's sister when he

was bom?
(1) 15yr @) 14 yr
3 7yr (4) 10yT

(5) None of these

1
24.1n 251'1. the hour hand of a clock

rotates through an angle of
(1) 80° (2) 140°
(3) 120° (4) 76°

{5} None of these

28, In 27 March, 1995 was a Mon-
‘day, then what days of the week
was 1 November, 19957

(1) Monday {2} Sunday

{3) Tuesday (4} Wednesday
(5) None of these

26, 16 January 1997 was a Thurs-
day. What day of the week was 4
January 20007

(1) Tuesday  (2) Wednesday
(3) Thursday (4) Friday

(5) None of these

27. In a year 28th February in Tues-
day; if the leap year is excluded,
then 28th March will be a

(1) Sunday {2) Tuesday

(3) Monday  {4) Saturday

{5) None of these .

98, In a class of 60 students, the
number of boys and girls partict-
pating in the annual sports is In
the ratio 3 : 2 respectively. The
number of glrls not partici-
patmgmthesportsiSSmorethan
the number of boys not partici-
pating in the sports. If the num-
ber of boys participating in the
gports Is 15, then how many girls

are there in the class?
{1) 20 ) 30
(3) 25

(4) Datainadequate

e

(5) None of these

29. Find the time between 3 and 40
clock when the angle the
hahasofawatchtstwo-tlﬂrdﬂfﬂ

right angle.

9
(1) 10—1—1 min past 3
(2) 10-12 min Tast 3
11
9
(3) 11—1—1 min past 3.

@ 11-11-% min past 3.
{5} None of these

true time when the clock

?nediu::tea 10 am on the 4 day?
(1) 11.00am (2) 8.00am
(3) 10.00 am {4) 9.00am
(5) None of these

31. Ram'’s age was square of a num-
ber last year and it will be cube
of a number next year. How long
must he wait before his age is

again the cube of a number?
(1) 39 yr (3 10yr
@ 38 yr (4) 64 yr

(5) None of these

32. At a party, there are 43 persons
in all. The number of women 18
two more than men but the num-
ber of children is 4 less than men.
How many women are there in the

party?
(1 17 2) 13
(311 (4) 25
(5) None of these

33, Six roads lead to a country. They
may be indicated by letters X, Y,
Z and digits 1, 2. 3. When there
is a storm, Y is blocked. When
there are floods, X, 1 and 2 will
be affected. When road 1 is

blocked, Z is also blocked. At a
time, when there are floods and

a storm, which road can be used?
13 @2 Z
@Y 4) 2

(5) None of these

34, If the seventh day of a month is
three days earlier than Friday,
what day will it be on the nine-

teenth day of the month?
(1) Sunday (2) Monday
(3} Wednesday (4) Friday
{5) None of these
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If the third day of a month is Mon-
”'day. whjchd?fr the following will

be the iNth day. from 21st of that
menth?
{1} Wednesday (2) Monday
{3} Tuesday  |4) Thursday
(51 None of these
36. My uncie shall visit me after 64
days of my father's birthday. If
my father's birtheday falls on Tucs-
day, what shall be the day on my
uncle's viait?
() Tueaday {2} Sunday
(3) Wedneaday (4) Monday
(5} None of these
37, Aworker may claim € 15 for each
km which he travels by taxi and
2 3 for cach kmn which he drives
his own car. If in one week, he
claimed § 500 for travelling 80
km, how many kilometers did he

travel by taxt?
(110 {2) 20
3) 30 (4) 80

(5} None of these
38. The number of boys in a class s
three timea the number of girls.
Which one of the following num-
bers cannot represent the total
number of children in the class?
(1) 48 (2) 44
(3 42 (4} 40
i5) None of these
39. Ravi has € 3 more than Ramu,
but then Ramu wins on the horses
and trebles his money, so that he
now has ¥ 2 more than the orig)-
nad amotnt of money that the two
boys had between them. How
much money did Ravi and Ramu
have between them before
Rarnu's win?
{tJeo 2) ¢ 11
(3T 13 4T 15
{(5) None of these
40. Simpldfy and find the value of A’
In the equation given bejow
2. 7:16-(8-7}-{9+3} s A
(1) 116 (2) 150
3110 (49 220
(3! None of these
Disoctions (¢1—4¢5) : Study the
foﬂow!ng Informatton carefully and
answer the questions given below :

o tsed belore the rest day‘

between Plays @ and T.
e

the FPlay P. 8 wan organised on

ursday.
T:Il. W:lllfch of the following Plays was

organised immediately after the
Play S7?
e
AT

(5} R
43. On which of the following days

was the rest day 7

(3) Monday (4) Thursday

{5) Saturday
43. Which of the folfowing Plays was
organised in the last ?

@ U
4) P

(ne 2R
3 u 45
o) T
44. Which of the following
combinations of the Day-Flay ls
correct ?
(1) Tuesday -T
(2} Saturday - R
{3) Friday ~S
(4) Monday - U
{(5) Sunday - P

48. If S is related to Friday in a
certain way and T is related to
Tuesday In the same way, then

P is related to

(1) Sunday
{3) Monday

(5) Saturday
Directions (46-80) : Study the fol-
bwtnguﬂomuummrcfmyandanw
the questions given below :
Eight delegates, viz., p, @.R S,

T.V.Wand X, are from eight different
Citles viz, Hyderabad, Amritsar,

Chandigarh, Kolkata, Chenpay, Delhi,
Patna and Bangalore but got

necessarily in the same order.

¢ All the eight delegates are it
dround a circular tab)e facing tm.,-as tlnrdgs

the centre but not necessarily in the

(2) Thursday
(4) Wednesday

from Hyderabad. R g
Hyderabad or B Joo ot

e, D, 4
is from Patna and he i, 'faak
to the TIght of X. V 1y gr. MBaey,
neighbour of P. W g, ‘mlng e

Penyt

immediate left of S,
Is sitting between S apg th
who belongs (o Kolkata, pec,Phe,
from Xolkata 1s not ap |mdd°81|,
neighbour of the delegate fm;:‘ed'm.
Only two persons are Bltting Paty,
©@ and the delegate from B,y bm"tn
48. What is the Position og[a::n
respect to W ? i,
{1} Second to the rign,
(2) Third to the right
(3) Second to the lef
(4) Third to the lef
(5) Immediate left
47. To which of the o
does S belong ? lo'wmg Citey
(1) Kolkata
(2) Bangalore
(3) Hyderabad
(4) Chandigarh
(5} Other than those
. options
48. WhommnglhcfoHQMng
exactly between the dcle;[:?,g
Hyderabad and § ?
(1) Delegate from Chenna
2 v @T
{4) Delegate from Amritaar
(5) Delegate from Kolkata
49. Which of the fo! Statemnenty
Is true regarding R ?

(1) Rbelongs to Chandigarh
(2) Ris sitting second to rightof
| o

o o aa kR

8iven a

(3 R 1s sitting exactly between
the delegate from Amritsar
andT

{4} R 1s sitting just opposite the
delegate from Patna

(5) None of the given statements
is true

80. Who among the following Is sit
ting third to the right of X ?
ms

{2) Delegate from Chennal

{3} Delegate from Bangalore

@v
(5) Delegate from Hyderabad
Directions (81-8%) : Study thefd-
lowing information carefully and answer
the questions given below :

Eight persons — P, @, R. S, T U

Vand W — were born (n three differ-
ent months (of the same year) but not

Necessartly in the same order, nam

—




: ™
g%ﬁk yuneand Dot e
Qe W ipan PO re born n a
. a"\"‘n.ll 10 = hree em also likes a dif-
Qioly Mo B D Guava, Peach, Ba-
DNy Mand D e
O ﬁbﬂt not pecessarily
N
Tt der and W were born in
-Dah:e OnlY, kes Apple and was born in
ty, yarch R th as T. R was not born
lﬂr:hl sﬂmcm The one who likes Man-
i‘,"uj Do bom'm,;unc.'[‘docs not like
b w8 Y as not born In the same

I manmas emonthas U. V does not
mthc sammeomwhollkﬁmwiand
Wone wl;o likes Banana were born
the month. The one who likes
pot bom In the same month
does not like Kiwl. The one
uava was born in the same
thasP. @ does not like Peach.
o per the given arrangement
" which of the following combina-
tions ts only the persons
were born in December?
mTV @ U,PT
@ V.US 4@4PrPT
! @ P.V.S
52, As per the given arrangement,
which of the following persons
ts the one who was born
in the same month as the one
who likes Orange?
mw @ P
3 R 4T
B U
53, Which of the following fruits does
T like, as per the given arrange-

ment?

(1) Orange (2) Guava

{3} Peach (4) Banana

(5} Other than those given as

options :
54, Which of the following combina-

tions is correct, as per the given
arrangement?

{1) December — Peach
{2) June — Orange
3} June— Banana

(5 December — Banana
%. Who amongst the following ltkes
PC&?. as per the given arrange-

mp
Qu
& T

@v
aw

Dlrections (56-g0) :
f ) : St th
lostng information carefullyl;gyd ar:

Seven persons — A, B, C, D, £, 1
and G — were appointed to a compa-
ny on seven different days of the samne
week starting from Monday to Sunday
{but not necessarily in the same or-
der). Each person also plays a differ-
ent game namely- Cricket, Hockey,
Football, Squash, Volleyball, Tennis
and Kho-Kho, but not necessarily in
the same order.

Only two persons were appointed
after the one who plays Hockey. E was
appointed on one of the days after the
one who plays Hockey. Only three per-

sons were appointed between E and
G. Only one person was appointed be-
tween G and the one who plays Volley-
ball. A was appointed immediately af-
ter the one who plays Volleyball, Only
three persons were appointed after the
one who plays Kho-Kho. Fwas appoint-
ed immediately after C, but not on Fri-
day. Only two persons were appoint-
ed between F and the one who plays

after the one who plays cricket. More
than two persons were appointed be-
tween D and the one who plays Ten-
nis, F does not play Football.
B8. Who amongst the following was
appointed on Wednesday?
(1) The one who plays Kho-Kho
(2) The one who plays Cricket
8 F @ A
G B
857. Which of the following statements
is true as per the given arrange-
ment?

(1) Only one person was appoint-
ed between F and the one

who plays Squash.
(2) Only three persons were ap-
pointed before C.
(3) A plays Tennis.
(4) B was appointed on Satur-
day.
(6) None of the given options is
‘true
58. The person who plays Tennis was
appointed on which of the follow-
ing days?
(1) Thursday (2} Tuesday
(3 Sunday  (4) Monday
(5) Saturday
89. Which of the following combina-
tions will be definitely true as per
the given arrangement?
(1) C—Squash
(2) Thursday —D
(3) Saturday — Cricket
(4) Monday — Volleyball

Cricket. B was appointed immediately |-

©U. HOW Many porsuns Were appoint-
ed before G?

(1} Two {2) One

(3) Three 4) Four

(5) None, as G was appointed on

Manday
Directions (61-68) : Study the fol-

lowing Information carefully and answer
the questions given below :

Seven friends namely A, B, C, D,
E, F and G learn seven different lan-
guages namely Japanese, Hindl.
French, Chinese, Spanish, English and
German, not necessarily in the same
order, starting from Monday to Sun-
day (of the same week).

F learns a language on fee:"na-
day. Only one person learns een
Fh}:'ldtheonewho learns Spanish. Only
three persons learn between the one

who learns Spanish and B. The one
who learns French learns immediately

after B. Only two persons learn be-
tween the one who learns French and

G. Alearns immediately before D. Only
three persons learn between the one
who learns Japanese and the one who
learns English. F does not learn Japa-
nese. E learns before the one who

learns English. Only one person learns
between E and the one who learns

Chinese. A does not learn Hindi.

61. As perthe given arrangement, B
is related to the one who learns
French in a certain way and F is
related to the one who learns
Chinese in the same way. To
which of the following is A related

to in the same way?

(1) the one who learns German
(2) the one who learns Hindi

(3} the one wholearnsJapanese
{4) the one who learns English

(5) the one who learns Spanish
62. Which of the following statements
is/are true about C?

(1) Clearns Hindi

(2) Clearns alanguage on Sat-
urday

ately after F

tweenC and G

(5) F~-Kho-Kho

et the Questions given below :
."‘\.__

true

(3) Clearns a language immedi-

. (4) Only two persons leamn be-

(3) All the given statements are

{ BPRE-655 |




. |
4 PROBLEM SOLVING | —~

foliows rranged in the ascending order [ 70. How many cookies does 5, B "
= mg‘l?mmy mdnu?u.ul“:o:“nl‘: :rllhln the number from left to possibly have? ll‘
group as per the given right? (1 22 2 1 1
arrangement. Which of the {1) One {2) More than three 3 5 4) 19 '
following does not betong to that (5 12
() D- Thursd (4) Nooe == SHORT ANSWERsE .
@ FoSaner Directions (68-70) : Study the T
B F;n g following Information carefully and 1.{2) 2.(4) 3.(2) 4-[]]}
(3 B - Friday answer the questions given below : 7.0
4} A -~ Tueaday There are five Jars - A, B, C. D 8.(3) a.(%) +(3) Ay
(5) G - Manday and E - each having different numbers 2.2 |02 [ 109 *""--mq
84. Which of the following languages | of cookies. Jar A has more cookies —
docs D leamn? than jar E but less than Jar B. Jar g 192} | 14.0) | 18.03) | 1044 o
has more cookjes than jar B. Jar 1 —
(1) Spanish () Hinds not have the number of 17.(4) | 18.2) 902) | 20,4
3} French (4) Japancse cookies, The Jar having the third least 20(1) | 23.(4) | 233.4) | 2444
. (5! English number of cookdes has 11 'lu 2540 | 260 | 27.0) | 28 A
g €8. Whoamongt the following learna | J37 having the most number of cookies - | 8
Germhan? has 24 cookdes. 29.02) 30.(1) 31.(3) 32.(1] C
mE @ A o8, :‘l’:";ﬁ:’;“d""";‘”“"‘w a3 [san | ssq) | segy g
G 4D (1 B 2 E s7.(1) | 98.9) | 30.3) | 40y f
G ¢ Nor'E @ _Je2.()_| 43.3) [en. (
8. On which of the following days (9) Esther'A’or 41.19) { |
docs E § la ? 4 D 48.05) | 46.42) | 47.() 1) ]
R AR {5 Either'C'or'B’ 49.(3) | 80.5) | 8L.(3) | 82
( n
(1} Thursday  (2) Friday 80. Which of the following Jars has | [= - =T T2en oy
(3} Manday  (4) Sunday the second fowest number of ' <] |
(5 Tuead cookles? 87.(5) | 88.3) | 89.4) | e0.(y
€7, The poaitions of how many digits () D 2) A 81.3) |62.3) | 63.01) | 84l
will remain the same If the digita 3 E “4c 63.22) | 66.15 | 67.4) | e8.4)
in the number 6985273) are re. (5) B 69.2) | 70.(3)
= EXPLANATIONS =—|

(3- ) : Information given in the question can be presented in the table as below,

[Jumnnmu-yamaulymsep.mt.riw.nu.
M Mn | Mm Mm

Mm Mm
Ec Ec Ec Ec Ec Ec
Bi Bl Bl Bi Bl Bl Bl B1 Bl
Fm Fm Pn Fm
Ac Ac Ac Ac

Ac Ac aC
Pm Pm Pm

1. 2) Months February and July | 8 (3) Three lectures-Marketlng 8.(4) Co
unting the number of
have only two lectures. Month management, Economics and after 2lsltjﬁgulye19l:g]tor2l 3?1;
avatlable (n option In February. Business law last more than 6 1999
Hence, option (2) s our answer. manths, 52 )
2 (4) Maximum four kectures can be 6. (4) Total number of series in = Yoar s 380 .
attended {n a single month. ={13leapyr + 39 ordinary years}
September, October and
3 (2) Business taw Lasts from Jan, November is 5 — Marketi ;560 days
to Sep. and Personndd -y =(13 x 2 odd days + 39 odd days]
ment from Oct. to l;';l:lﬂ# Economics, Accounting, +2 odd days ys
Lasts g 8 Personnel m
€. (1) Jan, March, Apetl, May, Jun, Business law. 2 nent and = 67 odd days = 4 odd days
:ug“m;gxm S Ot Nov.. | 705 ¢ different lectures can be I, (7 - 4) = 3 days beyond the
attend fectumms for o8 28 10 | dttendeq tn danuasy, February | 93y on 21 July 1999.
ures for 11 months, and March, So, the day was Saturday.
BPRE-658 ~
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st ‘-}3%' toll together after the
Y ca]cumedbytakmgmlwof
| W7loand12=4203°r7
‘; 6_5- énce'mlhor60rrﬂnthey
/ mm_H p umcsexd“dmg'he one
{

,,auoll
atﬂ'lcsmrt'

A9

below
CL Panel-I
0.00 10.30 to 10.40
10.20 to 10.30
10.30 to 10.00
10.40 to 10.50
10.00 to 10.140

9.40 to 9.50

10.10 to10.20

G 030 t0 9.50 to 10.00
:il i) gand D finished the interview
"at 10.50
m::;lc finished the interview at
1020 . B finished at 10.30 and
finished at 10.50. Hence, none
them fAinished before C.
18.0 G finishes at 10.20 and A
at 10.40. Hence G has
to wait for 20 min.
14,3 D and E both leave at 10.50.

15.(3 On Thursday all the three

. brothers are available.

16, (4) For a maximuin of four days
only one brother is available at a
particular time in a week.

17.{4) on Monday and Thursday
between 10 am to 12 noon both
Navin and Rajiv are available at
home.

18.(2) Let the girls eams ¥ .xin other
month. Then, earning in the
month of December = T 2x.

» Then Total annual salary
=2x+ 11x= 13x

schedule of interview

9_50 to 1

to 9.50
940 10, 0.20

-, Required ratfo = é—iz: 13
19.(2) Time from 1 pm on Tuesdayto
1 pm on Thursday = 48 h .
The waich gains (1 + 2) = 3 min
in48h, Itwill gain 1 min in 16 h.
Heg?e. it will be correct at 5 am

2.4 v
WAs the given clock Is
with a clock losing
; Tin every hour, it will now lose
min per hour,

li‘“‘“’-iﬂllhitwillloaue:{iamin.
e

21. gol In 1 min, minute hand travels

Since, number of boys not par-
ticipating in sports is not gven,

- Angle travelled by minute hand we cannot solve the queation. i
in 20 min = 120° 29. (2) Two-third of right angle is 60°.
Now, 3h 20 min = 200 min Let two hands of watch make
1 60° angle in x min. i
In 1 min, hour hand travels — 1 '
2 xx6-xx 5 =60 ‘
~ Angle travelled by hour hand 2
in 200 min = 100° 11x
éboRequired angle = 120- 100 = = 2 - 60 %
22, (4) Third Wednesday falls on 15th x = -1-2"9'
of the month, Fourth Wednesday = 11
will fall on 22nd of the month. 10
Fifth Wednesday will fall on 29th = 1077 min
of the month. 10
Fifth Friday will
month. Y fall on 318t0f‘the .. required time = mﬁ min
23. (4) Suppose, past 3

Ranjeev's age= X yr 30. (1) Tome fnterval =24 x4 -7 =89h
Ranjeev's Brother’s Age Time lost in 24 h = 16 min

= x+ 6yr -, Time measured by clock =24h
Ranjeev's Father's Age -16 min

= x+6+32 44

= x+38yr = 23=h
Ranjeev's Mother's Age 60

=x+38-3 356
Ranjeev’s Sister's Age = 15 h

= x+35-25 ~ Actual time when the clock

= x+10yr measure

24. (4) In 1 h, hour hand moves by
30°,

1
So,in 2-2- h, hour hand moves

1
by 30 x 25 = 75°
28. (4) Number of day between 1

November 1995 and 27 March

1995.
4+30+31+30+31+31+30

+ 31 + 1 =219 days.
Number of odd day = -2%9-
=2
26. (1) 16 January 1997 was a
Thursday.
16 January 1998 was a Friday.
16 January 1999 was a Saturday.
16 January 2000 was a Sunday.
» 9January 2000 and 2 January
2000 were also on Sunday.
- 4 January was a Tuesday.
27. (2) 1f 28 February is Tuesday and
it is not a leap year. Then, 7
March, 14 March 21 March and
28 March are also Tuesday.
28, (4} From the information given in
the question, we can conclude that
out of 60 students, number of
boys and girls participating in

sports are 15 and 10 respectively.

24%15
89h = ~356 x89
= 90h
. Required time
= 10am+1h
= 1lam

81. (3) Go through options,

Ram’s present age is 26 yr.
Last year, his age was a perfect

SquAre.
Next year, his age will be a per-
fect cube.
Next cube number is 64.
Required number of years = 64 -
26 =38 yr 3
32. (1) By option,
If women = 17, men = 15 and
children =11 So, total = 43
83. (1) When there is a storm, y is
blocked. When there are floods,
X, 1 and 2 are affected along with
Z. So, when both storm and
floods are there, then road 3 can
be used.
34. (1) 7th day will be Tuesday.
14th day will be Tuesday.
So, 19th day will be Sunday.
38. (1} 3rd day is Monday.
10th, 17th and 24th will also be
Monday.
sth day from 21st day is 26th day
of that month. :
So, 26th day will be wednesday.

i
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I .
t | (61-68): \
886. (3} If father's birthday falls on | 46. (2‘_) “1; is sitting third to the righ oy —
Tuesday. ol W. Frieny
Then, ?rm. 14th ....... 63rd day | 47. (4) Sbelongs to Chandigarh. Monday B \
after father's birthday will also fall | 45 (1) @ is from Hyderabad. The Tuesday \l'l%
on Tuesday. " delegate from Chennal W is slt- E .
Hence, G:rtfljllf:l?y from fastgaeyr's ting between @ and S. Wednesday F "h:“
birthda on wedne . ta.
97.(1) Let the distance covered by | 40~ (3 Rbelongs wﬁgll::me eft of | | TRUr=day c oy
taxd = x kit R is sitting secon Friday G Ching,
Let the distan: ered = P.
ykm ¢ ce coveredby car R Is sitting just opposite @. the | | Saturday A Py
So, X+ y=80.... .{[l]J delegate from Hyderabad. Sunday D J%%
15x + 5y = 500 ....... i 50, (5) The delegate from 3
Salving both the equations x=10km B dtotherightof X. | 61+ (3) B leams Hing -y,
88, {3) The ratio of Bays : Girls = 3:1 Q s stting third to the righ mediately before m
So, 42 1s not possible as it is not | (61-85) learns French languag ™ ¥,
divistble by (3 + 1} = 4 Person | Month Fruit Similarly, F leamg
38. (3) Go by options, P June Mango guage hmﬂedlatelyh% Bla
If the money between Ravl and 0 March Orange who leams Chinege lh,%
Ramu=T13 Aleamns German la‘“g'lagl
Ravi Ram R June Apple diate langusg,
u Che ately before the ong . oy
Before Win 8 5 E December L4 Japanese language, "k,
Afterwin 5x3=15=whichis ¢ | | T June Guava 62. (3) Clearns Chinege '
2 more than the original amount. | [ U December | Banana Thursday hmnedlam;,ang"“&m
40.(39) 2+7x16-(8-7)-(9+3)=A | |V December | Kiwi leamaEngushhngua:ﬂm
2+7x16-1-3=A w March Peach Cleeu'n.e,v.c:mlwse]anm.lage
2+112-4=A B1.(3 S, U and V were born in diately before G, Ty,
A=110 December. 63. (1) D leams Japanes,
(41-45) on Sunday (Th lang.y
— 52.(1) Q likes Orange and he was ursday + )
] Day Play F learns English lan
, Wednesda born in the month of March. W Wednesday (Sund Buage
' Y e was also known in the month of Blearns 2y -4).
S March. day (Friday - 4), on Moy
’ Friday P B3. (2) TIikes Guava, A learns German Jap,
’ Saturday R 54. (5) U likes Banana and he was Saturday (Fuesday + 4]guag¢ 4
’ , —— born in the month of December. G learns S h Lane :
Sunday ay B8. (4) W likes Peach. Friday (Monday + 4). ®
{__Monday | T (36-60} : 64. (4) D leams Japanese lang,
Tuesday U Day P on Sunday,
41. (4) Play Pwas organised after the | [Monday D Volleviall 68. (2} AleamaGemxanlangmw
Play S, 'Iuesday A Fi 66, ?s?tgr;:lay.
42. (1) Rest Day was on Sunday, Wednesday S Cooﬂcktbauet . 'Ihesdeams French languageq
43. (3) Py Uwas organised inthe last. | [Thursday B v
ination Saturday - R Friday C
is correct. Satd ' Hockey
ﬂﬁJH&ySmorganisedoneday Sundayy - Squash €1918[5[2[7[3]i
before Friday, Le., on Thursday, E Tennis 112|3|5({6]|7]8]9
Flay T was organised one day be- | 96+ (2) G was appointed on Wednes-
foreTuesday, ie., on Monday. Sim- day. He plays cricket. (68-70):
gg\; HS:{PWMC;I'@nisedmday 87.(6) Fhimself plays squash B>A>E
wda}! 8., 00 F ’
‘ M’ . ﬁ'iday. b:fl;rrepgr SONS were appointed D> B
b . C>D>B>A>E
pama A plays football, l d
v Ar;msar BW&S ﬂPPOinted
on Thursday. 24 1
Hyderabad . 88, ) E plays tennis, He wa.
yderabs Kolkata Pointed on Sunday S ap- [ 88, (4) Jar D has more than 1104
B8. (4) M —Volloot less than 24 cookies.
onday - Volleyball compin
Chenty T 60 tion is correct, a- | 68. (2) Jar A has the second lowed
Ba“sﬂ-lm
Chandigarh (1) Two Persons - A and D-were 70, :';.lmber of cooldes. 11 ook
appointed before G . i ) Jar E has less than o
) es.




